SAMPLE TEST PAPER 1

SYLLABUS
Physical Geography

e Geomorphology Origin of The Earth, Geological Time Scale, Interior of The Earth, Types
and Characteristics of Rocks, Folding and Faulting, Volcanoes, Earthquakes,
Weathering, Landforms Caused by Fluvial, Aeolian and Glacial Actions.

¢ Climatology Structure and Composition of Atmosphere, Temperature, Pressure Belts
and Wind Systems, Clouds and Rainfall Types, Cyclones and Anticyclones, Major
Climatic Types.

e Oceanography Ocean Relief, Temperature, Salinity, Ocean Deposits, Ocean Currents, El
Nino and La Nino, Waves and Tides.

e Biogeography Origin and Types of Soils, Major Biomes of The World, Ecosystem and
Food Chain, Environmental Degradation and Conservation.
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MALUKA IAS

Q.1. With reference to the elastic rebound
theory, how does a tectonic earthquake
occur?

(a) Tectonic earthquakes result from sudden
volcanic eruptions that cause fractures in rock
masses, leading to seismic waves.

(b) Tectonic earthquakes occur when the Earth's
crust experiences slow movements along
ancient faults that are no longer aseismic.

(c) Tectonic earthquakes result from the buildup
of strain in rock masses, surpassing their
strength and causing sudden fractures along
local zones of weakness.

(d) Tectonic earthquakes occur when tectonic
plates collide at their boundaries, releasing
geothermal energy and seismic waves.

Q.2. Consider the following Statements:

1) The continental margins form the transition
between the continental shores and the deep-
sea basins.

2) The abyssal plains are extensive plains that
lie between the continental margins and the
mid-oceanic ridges.

3) The abyssal plains are the areas where the
continental sediments, that move beyond.the
margins, get deposited.

How many statements given above aré€

correct:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.3. Consider the following statement:
Statement-I: P waves have a largershadow zone
in comparison to S waves.

Statement-Il; P, waves are refracted whendhey

pass through the transition between the semisolid

mantle and theliguid, outer core.

Which one of the\follewingiis correct in

respectiof the above statements?

(a) BotmStatement-l'and Statement-Il are correct
and Statement-ll is\the correct explanation for
Statement-|.

(b) Both Statement-I and Statement-Il are correct
and Statement=ll is not the correct explanation
for Statement-I.

(c) Statement-l is correct but Statement-1l is
incorrect.

(d) Statement-l is incorrect but Statement-Il is
correct.

Q.4. Consider the following local winds:
1) Sirocco

2) Mistral

3) Foehn

4) Chinook
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Which of the winds mentioned above blow
over the Mediterranean region?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 3and 4 only

(d) 1 and 3 only

Q.5. Consider the following:

Statement-I: The majority of active fissure

volcanoes are located along the mid-oceanic

ridges.

Statement-II: Plate splitiinghand lateral spreading

form faults and fractures, releasing pressure,

lowering the melting point, and causing magma to
rise due to accumulated gases'andvapor.

Which one of thexfallowing is correctin

respect of the above statements?

(a) BothStatement-l and‘Statement-ll‘are correct
and Statement-Ilis thefcorrect explanation for
Statement=|,

(b) Both Statement-I and,Statement-Il are correct
and Statement=lkis notithe correct explanation
for Statement-|.

(c) Statement-1is correet but Statement-1l is
incorrect:

(d) ‘Statement-lis,incorrect but Statement-Il is
carrect.

Q:6. Consider the following:

Statement-I: The ozone layer is essential for

absorbing and blocking harmful ultraviolet (UV)

radiation from the Sun.

Statement-Il: Ozone depletion occurs due to

excessive emission of carbon dioxide, leading to

the warming of the Earth's atmosphere.

Which one of the following is correct in

respect of the above statements?

(a) Both Statements-1 and Statement-Il are
correct and Statement-Il is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-Il are correct
and Statement-Il is not the correct explanation
for Statement-|.

(c) Statement-l is correct but Statement-Il is
incorrect.

(d) Statement-I is incorrect but Statement-Il is
correct.
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Q.1. YO yfaay Rigia gaies Rads

g ¥ Jeu & fgd~e you F4 smar @2

(a) faadie YU sraMe saremd! fawbie &
IRUMREGEY BId § St TeTI & ThdeR &1 HRUI
T3 & R by wig¥ S el 81

(b) frardies by ae o § o geft ) Yo
TR Y320 3 r e iy 9 89 areft
TGt BT 3rgHa PRl § S 3 TRETRD
T gl

(c) faad® YU IgHi § a-1d & HHI0T, ST
qThd T 3 BH 3R HHSR & WY &3 &
3T TR b HRU I Bd B

(d) fIadie ¥eU a9 31d § OF CaeIHe ©ie
St it W et 3, R gt St
3R YUy - e B

Q.2. Fafafad Fy= = fIaR &3

1) TRTEIUIY foR HETEIu del iR Tex 9Hx &
gifedt & oig ThHur 1 Faiur Hd g

2) WA & HeM (Abyssal plains) TTH HEwLE
S HETEO fHARY 3R Ae0-HeMNRIG, Hedl
F o9 RE gl

3) A & A d &7 § gl HeTgIud dasc, 6l
i &7 ¥ 3 Tl 8, 5 & Sehe |

SR fou e fraq +y= Tdl g

(a) pad T

(b) T 3t

(© Tt dH

(d) TH Q BIFFRT

Q.3. Fufeafad sy W TR #¢:

Y1z P BT ORT &S AN, b1 g1 § 98T

BT gl

FYF-1I: p I I MYafcd 81 ST & a9 eI

Hed 3R TR dIgyl BR b s JHH J Tord! g

IWRIad $Y1 » Fey # Faffaa A F s
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(a) BYF-1 3R HYF-11 Gl Tl & 3R HYF-1|
HYF-| P Tg! AR g |

(b) BY-1 3R HYF-11 G T&I & 3R HY-1],
HY-| DT TG R g ¢

(c) PYT-1 TB! § Al HYF-11 7Tad g

(d) BYF-1 TTAd § Al HYU=-11 T8t g
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qQ4.fFafafed g sarsi w faar 33
1) RRa®!
2) fiRer@
3) I
4) s

SR afvfd garsit # @ Fi9 W gart yrwEarg
& ¥ aadt &2

(a) Had 1 3R 2

(b) PId 2 3R 3

(c) Pad 3 3R 4

(d) I 1 3R 3

Q.5. g R AR o+

HYA-1: HAHT Hiehy fdaR STl wea

TR ded! & R R Bl

FYA-11: W f[TE8T R U TR § Yo 3R

Thaer 9d &, OIS &sTd 8IR TTa-ich HH Bidl §,

Y TR TG 3R IS HRU AH S| o1 5

IR YAl & Ty # Fafafea A d s an

HEIR2

(a) PYF-1 3R HYF-11 S &I & 3R HY-1]
PHYUT-h! T5t RS & |

(b) PUH-| 3R HYF-11 G Tal § 3R HYA-I,
DY P} T T el B

(c) PYT-1 TG § Afh HY=-11 7Tad g

(d) Y- TTeId § AP HUA-11 TET B

Q6. Fafafad w faar #3:

FHYF-1:31H IRd T I SIHRS WIS (UV)

fafepRur B S H 3R A & forw

aTS g

HYA-11:HTHT SHAHTRS P A TS ITo &

BHROT SIS BT HH Bl 8, T et H1 arereron

TH g ST g

SRITd HYAI » oy A Frufefad & 4 o ar

g 72

(a) BY-1 3R HYF-11 SHI T&I & 3R HY-1]
HY-| B Gel AR B |

(b) HY-1 3R HYF-11 S TgI & 3R HYH-1],
FHY-| B Ya! AR g ¢

(c) PYT-1 TB! § Al HY=-11 Tad g

(d) BYF-1 T § AfhT HYU=-11 T8t g
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Q.7. Consider the following:

1) Basic lava is the hottest, light coloured, rich in
iron.

2) Basic lava is rich in silica content but Acid
lava has a low percentage of silica content.

3) Acid lava is highly viscous, Dark coloured, rich
in magnesium.

How many statements given above are correct

regarding the types of lavas:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.8. Which of the following is correct

regarding salt lakes?

(a) Salt lakes are usually found at higher
elevations.

(b) Salt lakes are fed by streams and rivers.

(c) Salt lakes have an outlet to the sea.

(d) Salt lakes contain a high concentration of
dissolved salt and lack an outlet to the sea.

Q.9. Consider the following statements with
respect to Mediterranean Climate:
Statement-I: Trade Winds are offshore in
summers.

Statement-Il: Sun is overhead at the Trapic of

Cancer, and the belt of influence of the westerlies

is shifted a little pole ward.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II arecorrect
and Statement-Il is the correct explanation for
Statement-I.

(b) Both Statement-Iand,Statement=ll are correct
and Statement-11 iS not'the, correct explanation
for Statement-|.

(c) Statement-lLis\correct'but Statement-11is
incorrect.

(d) Statement-1 isincorrect but, Statement-11 is
correct.

Q.10. Which of the following statements is/are

correct?

1) The tidal bulges on the wide continental
shelves havelower height.

2) The shape of the bays and the estuaries,
along a coastline, can magnify the intensity of
the tides.

Select the correct answer using the code

given below:

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q.11. Consider the following:
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1) ltis a transitional type of climate

2) Characterized by a Hot, Rainy season and a
cool, dry season.

3) Tall grass and short trees.

Which type of climate describes the given

details:

(a) Savanna

(b) Mediterranean

(c) Steppes

(d) Siberian

Q.12. Which among theffoellowing about the

reason for the origination of the South-West

monsoon is/ are correct?

1) Low pressure in the Punjabplain

2) High pressureiin,areas South of India

3) Equatorial lowsbeing,filled up by descending
air current

4) The Himalayas

Choose the'coarrect aption fromithe codes

given below:

(@) 4 only

(b)), & 4

(c) 1,2& 3

(d)d, 2,3 &4

Q.13.. Which of the following phenomena is
characterized by the sea surface temperature
anomalies in the Indian Ocean?

(a) El Nifio-Southern Oscillation (ENSO)

(b) Indian Ocean Dipole (IOD)

(c) Pacific Decadal Oscillation (PDO)

(d) Atlantic Multidecadal Oscillation (AMO)

Q.14. Which of the following factors

contributes to desertification of land?

(a) Increased rainfall and vegetation growth

(b) Expansion of agricultural practices

(c) Implementation of effective land management
strategies

(d) Preservation of biodiversity
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Q7. Fafafae w faar 3

1) oY ATaT el TH, Beob T BT, SRA J WG
gargl

2) Ry arar H RiferesT & 7Em RE Bt | afe
uRys oar # RifeienT &) 7 %4 Bidl g

3) TS arar 3rafdes fafar, e [ &,
AR ¥ WRQR g B

A1aT & TR & A6 § SHUR 3T T fraq 4=

e

(a) pad T

(b) R a1

(© Tt dH

(d) TTH A BIS gl

Q.8. 79% 31 il & Jau & Fufaf@ad

DI 9T 9T 82

(a) THP B! Sid MMHIR W 3P HaE W U
St |

(b) THP B! Shdl TSl 3R Afeat grT Afvd
Bl g

(©) THS B! el HT T I b 7l

(d) 9% ! iall § gl gT 9D ! T Higich
BT & 3R THE I o &1 =T -Ta! grdl

Q.9. YISIRITRIY Saarg & Hay | Mufafad

FYEI W) AR B

FY-1: T A TR va dod R gt ol

FYF-1I: Fh 0 R GGHRR & SIRE, 3R TgsH

garsft & UHTE B! U MET Y] 3R RUFTIRA &

T g

IWRIad $Y1 &b Hay § fAufiRad A &= a1

el 82

(a) PYT-IBIR HYA=U ST B8R HY-1]
HYT-\D] TeharReT B |

(b) BY-1 SMRPHYUT-NGIHT T&T & 3R HY=-11,
HY-| DT Tehere T8l ¢

(c) Y-l TE § dfeh-T HYH-11 7Tad g

(d) Y- TTAd § AfhT HYU=-11 T8t g

Q.10. Faffaa & ¥ $19 91/ Y7 98 &2

1) faega HeTgiiig Qe R IR IURT & SHars
FHH B

2) g dc & fbR WISl 3R TERt &7 3R,
IR &1 ol Bl S¢T Tohel ¢ |

2 foE U Pl &1 TN HP TPt I gA:
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(a) Had 1
(b) Had 2
(© 18R 2 gHr
d Adr1adr2

Q.11. &R AR 33

1) I8 TP YhHUGIEH UHR HI STadrg &

2) T, SR & AH 3R 33, H HIGH B
IR

3) dfdl UG iR B Us gla B

fau v faarvr frd UBR $t STaarg &1 qui=

P &

(a) TaMT

(b) AR

() WUt

(d) HrgaRamE

Q:12. SfEoT-uf3e A &1 Iafi &1

FufaRag # @ 19 9/ FRU 98 82

1) Gold & BeH H g gama

2) HRd & clemre &Ff § 3= garg

3) favada el UIT SaRIg! arg URT GRT HRT S
3T &

4) feHTe™

i feu v ots | 9§ 98 fawew gH:

(a) HAd 4

(b) 13k 4

(€ 1,23MR3

(d) 1,2,3Td4

Q.13. FAufafaa & Q F19 Hf gear i vemR
T Y% Dt 9qg & aI9a= ot fawfaai ot
fauar &2

(a) 31d ~IFI-gf&mh Gl (ENSO)

(b) fé< ABTATR fgga (10D)

(c) UId SR 1T Gl (PDO)

(d) 3fcdifed AISHSd MRIARA (AMO)

Q4. Faff@ad I s T oRe YU P
AERIABIO § GG 3T 82

(a) auf 3R gfa faeerar o gfg

(b) P ugfadl &1 fawar

(c) THTa YflY yeed Yurifaal &1 erataaa
(d) g fafaerar &1 dRem
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Q.15. Which of the following statements are

correct?

1) The salinity of water in the surface layer of the
oceans depends mainly on evaporation and
precipitation.

2) Surface salinity is greatly influenced in the
coastal regions by the freshwater flow from
the rivers.

3) The ocean currents contribute to the salinity
variations.

How many statements given above are

correct:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.16. Consider the following statements:

1) Continuous impact of sea breezes throughout
the year.

2) Relatively consistent and even distribution of
rainfall throughout the year.

3) Occurrence of intense cyclones is frequent in
late summers.

How many of the above statements are

correct regarding the China type of climate

region?

(a) Only one

(b) Only two

(c) All three

(d) none

Q.17. Consider the following statements:

1) Bitterly cold winter is charagteristic of thisitype
of climate.

2) Warmest month (July), with temperature as
18°Celsius.

3) Blizzards and Burran are theiNorthermypolar
winds whichblows violently.

How many of the'Statements given above are

correct regarding thexcool temperate

Continental Climate:

(a) Onlyxone

(b) Only twe

(c) All three

(d) None

Q.18. Which of the following factors are

suitable for the formation of Coral reefs in

tropical waters?

1) Upwelling of ocean water

2) Water temperature not below 20 degrees
Celsius

3) Shallow depth

4) Presence of sediments

Select the correct answer using the code

given below:

(a) 1,2 and 3 only
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(b) 2 and 3 only
(c) 1 and 3 only
(d) 2 and 4 only

Q.19. Consider the following:

1) Predominant vegetation is Moist evergreen
forests.

2) Oak, Beech, Maple is some of the major
trees.

3) Lumbering is a major occupation of the
population.

How many statementsgiven above about the

Laurentian type of climate are correct:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.20. Consider the following statements:
Statement-I*EquatoriallClimate is'characterized
by heavy rainfall in the afternoon.

Statement-1l: Due te the'great heat in the

Equatorial belt, evaparation takes place which

leadstoyconvectional rainfall.

Which onevef the following is correct in

respecidofthe above statements?

(a) Both Statements-1 and Statement-Il are
correct and Statement-Il is the correct
explanation for Statement-I.

(b) BathyStatement-I and Statement-Il are correct
and Statement-Il is not the correct explanation
for Statement-I.

(c) Statement-l is correct but Statement-Il is
incorrect.

(d) Statement-I is incorrect but Statement-Il is
correct.

Q.21. Which of the following statements is/are

correct?

1) In many sedimentary rocks, the layers of
deposits retain their characteristics even after
lithification.

2) Sandstone, limestone, shale and gneissoid
are the examples of sedimentary rocks.

Select the correct answer using the code

given below:

(&) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Q.15. FEfIf@a § @ ol T HuT a8 &2

1) TENIFRI &1 Ydg URd § Ul &1 A0rdT GBIk
JTiRROT 3R guf R R Bl B

2) Afedl & S Uit & UaTeg ¥ I & § g
B FIUIET BT THIRIT Bl B

3) T YR Taordt # firsrar § G Fat g |

SR 2T U fHaq Hy= 9El &

(a) pad T

(b) R a1

(© Tt dH

(d) TT9 A PIs E1

Q.16. FafafEaa wy= w faar #3:

1) IR 98 THg! garsil &1 YHTd THaR &1 38T g |

2) TR IY aul BT SUETHd JATd R JAH
faavon|

3) I 3B o 3id T i IhdTd! DI T SRR
B gl

U YPR & Taarg 85 & JaY § SWiad d 4

fra s AE B2

(a) P Ub

(b) R &l

() gt A

(d) STH Y PIs 51

Q.17. fFafafed Fy=f = fTaR &3

1) HSIb B 68 Alcival 39 YHR®! STerarg Dl
Qa8

2) 18" A CTUFITHIT B 1Y TERIH HEtT
(SeTTS) |

3) SOICT T Sl R SR Ll e 8 St
fEghRT T I o

$S! TURMIIONHBTEINTT STaarg & JaY | U

feu v fP@ m YT HEhE:

(a) pad T

(b) Ry a1

(© Tt de

(d) TH Q PIg &l

Q.18. Swrsfeatha oa & g g & FAuior &
foe frufafed & @ 919 91 R Suye &2

1) 9GS & U BT HWR IS

2) U &1 Ao 20 fSUt Sfcaw 9 4 81 g
3) PHIRTS
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4) dISC DI JuRYfT

I fau 1T Pl &1 ITENT FXP TE SR -
(a) Pad 1,2 3R 3

(b) ad 2 3R 3

(c) Pad 1 3R 3

(d) Pad 2 3R 4

Q.19. 9 &R faaR 33

1) U g9 79 YeT§eR 9 ¢ |

2) 3, ST, AUd $3 (UHE US §

3) AHS! PIeAl SHUE &l Uk YW SIauTd g |
ARFET YPR@LTaarg & a1 3 SHuy feT 7T
ﬁﬁlﬁﬁﬂ?ﬂﬁ%:

(a) PIAYD

OREEE

© Tt dH

(d), 378 A IS Tel

Q20. fFafifEd Fy wR faaR &3

PYTLAFEREG STaarg St fa=vdT ae J YRt

CLI]

HYH-11: YAERW dee & IS THf & HROT

TN HO BiaT & FoTY Tag-1a auf gia |

SWad $UA P oy A fFafaf@a A s an

el 32

(a) BY-1 3R HYF-11 S T&I & 3R HY-1]
HY-| B Yel AR B |

(b) HY-1 3R HYF-11 S T&I & 3R HY-1],
HY-| B Ya! AT g &

(c) DYF-I &I § Al HUF-1l Tad B

(d) Y- T § AfhT HY=-11 T8t g

Q.21. Fafafaa 9 3 o9 91/ Y7 98 82

1) Ps daBCl ISHI B, STHIG B! URd FRIefHad
(erffthorgr) & a1 ot 3o+ faviwarst &
SRR T B

2) T3 IR, T IR, A 3R fss aaset
I & 3G G|

1 fau 7T Pie &1 ITEH HXP TEt R g

(a) ad 1

(b) DI 2

(©) 13R2 A

(d)Fdr1aa2
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Q.22. Consider the following:

1) The climate is characterized by distinct wet
and dry seasons, also known as wet and dry
climate.

2) It experiences heavy rainfall during the wet
season, fostering lush grasslands and
savanna landscapes.

Which of the above statements are correct

regarding Sudan Type of climate:

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q.23. Which of the following Soils forms when
old crystalline rock drains down, resulting in a
less clayey and sandy texture. These soils are
rich in iron and have limited humus content.
They contain low levels of essential nutrients
like nitrogen, phosphorus, and lime, making
them less fertile.

(a) Black soils

(b) Mountain soils

(c) Desert soils

(d) Red soils

Q.24. With reference to the continental drift

theory, consider the following:

1) Fossil similarities found between continents
separated by oceans.

2) The presence of deep ocean trenehes in the
middle of continents.

3) The occurrence of earthquakes in regions far
away from tectonic plate boundaries.

4) The uniform distribution of rock,types and
minerals across all centinents.

How many statements\given aboveare

correct:

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q.25. Withireference to volcanoes, consider

the following,statements:

1) Volcanoes-are found-at divergent plate
boundaries.

2) The "Ring of Fire" is a region known for its
high volcanic activity, and it is associated with
a convergent plate boundary.

3) Shield volcanoes are mostly made up of
basalt.

4) Volcanoes are evenly distributed across all
types of plate boundaries.

How many statements given above are

correct:

(a) Only one

(b) Only two
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(c) Only three
(d) All four

Q.26. These are smooth oval-shaped ridge-like
depositional features composed mainly of
glacial till with some masses of gravel and
sand. One end of them facing the glacier
called the stoss end is blunter and steeper
than the other end called the tail. They give an
indication of the direction of the glacier
movement.

Which of the followingdandforms is described
in the passage given above?

(a) Moraines

(b) Eskers

(c) Drumlins

(d) Serrated ridges

Q.27. Consider the following statements:

1) The African,Plateis€urrently‘moving away
from the Eurasian Plate at a divergent plate
boundary.

2) Jlhe Nazca Plate'is,a primarily oceanic plate
located in the Pacifie’Ocean region.

Select the cerrect option from the statements

given above, with reference to the tectonic

plates.

(a) Oniyl

(), Only 2

(c) Bathyl and 2

(d) Neither 1 nor 2

Q.28. With reference to the British type of

climate, consider the following statements:

1) The hot eastern margins are under the
permanent influence of easterlies all around
the year.

2) Chile, Tasmania and New Zealand experience
this type of climate in the Southern
hemisphere.

3) Deciduous forest is the Natural Vegetation of
this climate.

How many statements given above are

correct:

(a) Only one

(b) Only two

(c) All three

(d) None
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Q.22. fFafafed = faar &3

1) STcarg T FIRSAT SIeHT-3eRT 3T 3R Yh
g g, forg o 3R I Siatarg & =0 H oft
ST ST 2

2) gl 31 HIGH & SR HRY aui gidl g, forad
- U & HeM iR Jar1 uRexy fasiyd
g gl

S @1 Saarg & Tae # SWRiad § | S 4T

H'T?F-I'\‘Iﬁ%:

(a) Had 1

(b) Had 2

(c) 13MR 2 gHf

(d) Tdr19dr2

Q23. Fafrfad A s A Al ag aadi g o9
URUmREY % fae-t i Ydlelt a-rae gt
21 3 ) e & R 811 § 3R 3718 ggAd Y
T i gt 81 39 ATse e, PRWRY iR
AT O SIS GIYS ded] BT iy TR gl &
S 32 BH SUSITS 9141 81

(a) Preil firg

ORESIEH]

(c) X firet

(d) et vt

Q.24. HETEIUTY SgTa Risia @ srardt fgue

Rygia) & ded #, Fufafed w.faar #3:

1) TERITRI ¥ 3T GUESTET! & @i STy
JHHAE TS TS |

2) HEGIOl Byl H el Wl Wi @l Suifd |

3) CaRIM® Wie QIS I @R &3 H by o
YTl

4) Gt HEIgITl H gg I B UPRSIR TS BT
UM fd Rl

FWR fou Mefrad eyq gl ¢

(a) pad TP

(b) R a1

(c) PHad -

d) I IR

Q.25. SaTaRadl & deH o fFrafafaa syl

TR faarR 3

1) ARG ST Wi JrATsff o Ui S & |

2) T 3iT BRR" T TH & § S 3 3
STt ity 3 fore S e §, 3R g
T SR @i @ & Jo1 g3 2|
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SAMPLE TEST 1 (QUES)

3) CId ST 3R 38T J 94 8ld g

4) SarargEl it UHR B e el W qH
U q faaRa g1

SR feu T fFaq Y= 9 &

(a) el U

(b) Rk &

(c) Phad o

d) I IR

Q.26. ¥ AT SSTHPRSMBR Pt FHed il
fR&ur faRwant § <t §re1 v A Ruel &
TY-TTY FoR} 3R ¥ P HS.FHAH I F+1 &
TARRR & ATHA DT TH R, o ¥e i RRT
He1 9Idl 8, IR B IR, R US w8 vl 8, &
Joa ¥ $ig 3R siftiw dia 813 wiRRER ot afa
F1 fo2m BT EHd I8l

SWiad tR=sq 8 Fafeied 4 3 fow of-smepfa
w1 qui+ fHar Tar |z

(a) TREIE

(B) bR

(c) SHfer

(d) TIAER HCh

Q27 fHafafad Hyaf wR faaR &3:

1) 3PId! Qe gaq H T TIRI e a1 R
R e RS B

2) TSl Wic URIid HENNR &3 § fRUd g1 &4
RKECUSE

TR Wl & JdeH A FWR R MU FYFi A T

e} fapey &1 999 3|

(a) Had 1

(b) Had 2

(©) 18R 2

@ Fdr1ad@2

Q.28. fafe=r Yo & searg & dgu &

FrafafEd sy w AR w3

1) nﬁq:%%ﬂmﬁatfwﬁsm&ﬁammuuﬁﬁ
wAE

2) eferoft mare # ferelt, aefar ok efids 39
J&HR 1 STadrg &1 3Hd Hd & |

3) Ui 99 39 S@arg &1 Ui fde a-edrd g |

SR o U fheq s I §:

(a) A D

(b) R gl

(©) gyt dH

(d) TTH I PIg Tl
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Q.29. With reference to Sheet Erosion,

consider the following statements:

1) Ittakes place on level lands after a heavy
shower.

2) It removes the finer and more fertile topsoil.

3) It leads to the formation of bad land
topography.

Which of the statements given above are

correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

Q.30. This is a vertical cloud with a rounded
top and horizontal base, typical of humid
tropical regions, associated with up-rising
convection currents. Its great white globular
masses may look grey against the sun but it is
a fair-weather cloud.

Which of the following types of clouds is
described in the above passage?

(a) Cirrus

(b) Cumulus

(c) Nimbostratus

(d) Cumulonimbus

Q.31. With reference to the Inter-Tropical
Convergence Zone (ITCZ), consider the
following statements:

1) Iltis a low-pressure zone located at the
equator where trade winds converge.

2) In winter, the ITCZ moves, northward; and so
the reversal of winds from'seuth and
southwest to northeast, takes place.

Which of the statements, given aboye is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and2

(d) Neither 1 nor2

Q.32. With reference to differential heating of
land and'water, eonsider the following
statements:

1) As compared to land; water heats up or cools
down slowly.

2) Differential heating of land and sea is
responsible for the reversal in the direction of
monsoon winds.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

MALUKA IAS — NEW DELHI, BATHINDA, CHANDIGARH, PATIALA - 9910133084

SAMPLE TEST 1 (QUES)

Q.33. With reference to the Karewa formation

in India, Consider the following statements:

1) InIndia, it is found in Kashmir valley.

2) Itis famous for saffron and Apple cultivation.

3) The Valley where karewas is found is drained
by river Sutlej.

How many statements given above are

incorrect:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.34. Consider the following:

1) Populations share or compéte forthe same
resources, andinay even interbreed among
themselves.

2) Individuals of alhagesimake up agopulation at
any particular time.

3) Multiple species found at a particular location.

4) The population's size\indicates a lot about the
species' positionyin thexenvironment.

How, many statements are correct regarding

the Population in an ecology?

(a) Only one

(b) Onlytwo

(c) Onlythree

(d) All'four

Q.35.Consider the following statements:

1) Natality refers to the number of deaths in the
population over a specific time period.

2) The number of births during a given period in
the population that are added to the initial
density is known as mortality.

3) Immigration is the number of members of the
same species that have entered the habitat
during the time period under consideration
from other locations.

4) The population's emigration is the number of
individuals that left their habitat and moved to
another location during the time period under
consideration.

How many statements given above are

correct:

(a) Only one

(b) Only two

(c) Only three

(d) All four
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Q.29. G¥d UG (Sheet erosion) * '\"-I'c."'l-f 'ef

Frafafad 3= w faar 3%

1) I8 YRl aul & 91g THad Y W BT 5|

2) W?ﬁﬁmmmﬁ@ﬁw
dT gl

3) SO WIS Yl Riewia &1 FAufor g g

R 2T T Y= § F H1F 91 9L &2

(a) Pad 1 3R 2

(b) Pad 2 3R 3

(c) Pad 1 3R 3

(d) 1,2 3R 3

Q.30. T8 MarerR N 3R &t smyR aren ve
FHeaTR g1¢d 8, S 315 SWibfed iy &= &1
fafdre 2, it SR FY 3R I arell Yagd
YRTSA A FST 8| 3BT fa=Te b MATPR
oA G4 & A IR foar ¢ aear g
AfP g8 us Ifaa 9w arer S1gd 2
SWIF e d Fafafea i fra mer &
q1edl &1 qui= fear T 82

@) ™

(b) RIHIIH

() FHaew

(d) R

Q.31. 3iR-Swrefeaeii fiaRUr &FiTCZ) %

o ¥, Fufafad sy wRifdar 3

1) T8 YA W@ R YT U FeiEara aren aag
g1 TUTRSG §aTd Uehiaid gid ol

2) At | 1TCZ IR Bt SRS &, IR SHfeT
G207 SR @RUT- a3 & STR-Gd ! SR garsit
BT IdcT Bidl ol

SWR 2T U FUH AR P A/ TE &2

(a) Pac 1

(b) HaAR2

(c) 1 3R 2qFr

(d) Tdr19dr2

Q.32. Y 3R 51 & faves ava & wef A,

fFrafafad Y9 R fR #3:

1) U & ga o eR-eR T ar deT e g

2) HFYH gareli B fa=n 7 I & forg yiH
3R K BT S-S AIH FHHER g

SR feU 1T Hy= ° A P A1 981 82

(a) Had 1

(b) Had 2

(¢ 18R 2aH
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SAMPLE TEST 1 (QUES)
d) Ad1Tar2

Q.33. URd ¥ Ha1 & deH #, Fafafaa sy

R faaR &3

1) HRd H g HRHR 91 & Urn S g

2) T8 IR R 9 B @A & fow uRrg 2

3) for uTct & FH¥ar urn SraT § 98 wads e gR
fifera gt 31

FWR fau e fHaq &Y= 7Tad &

(a) BT TH

(b) Ry &

© Tt dH

(d) 3TH A BIS Tl

Q.34. fFafifed RiaR®::

1) SIS EH ST TSl § a1 36
fore wforg ezt 8, @R sy o uoi 1 o
Iopat gl

2) foasit +ff foriy T T4t 39 & =fad S
CRIGRA

3) U AR R W 3% Yofaar urs ol gl

4) STERST BT THR qaiaRor H yenfaal & fRufa
¥ IR 950 TS 3fd FRaT 3|

fahmiAfas) # s ~ien & day § feaa

YT T8 82

(@)Y had Th

(b) R &1

(c) Had -

d) I IR

Q.35. fFafafad Fy = faaR &3

1) SR (Hefereh § arad Us fafRiy Iug 3afy
T SFERe H 819 arelt Aidl &1 I I g

2) oot fAfda orafd & SR SIS | o &
T Y URMYS g9 | SST ST § o gg
& T A 5|

3) 3G T € USTifa & I Jadl Bl TSI &
ST 30 R ¥ fIaRTes 99y 3afy & R
o = § ga=r R 9 §

4) SEE 61 TG I ATl Dl TS § S
e T 3rafy & SR 3o e ®H
BIEH I Y R Il Y|

FWR feu U fraq = 9 &

(a) I Th

(b) R &

(c) Had -

d) I IR
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Q.36. Which of the following statements is/are

correct with reference to the anticyclones?

1) They are characterized by clear skies and
calm air.

2) Winds in anticyclones blow counterclockwise
in the northern hemisphere and clockwise in
the southern hemisphere.

Select the correct answer using the code

given below.

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q.37. Consider the following statements:
Statement-I: Fertilizers and manuring is required
in a specific quantity for cultivation.

Statement-II: Alternate wet and dry seasons

leads to the leaching away of the Alkalis and

siliceous matter.

Which of the following is correct regarding the

Laterite soils:

(a) Both Statement-l and Statement-Il are correct
and Statement-Il is the correct explanation for
Statement-I.

(b) Both Statement-lI and Statement-Il are correct
and Statement-Il is not the correct explanatien
for Statement-|.

(c) Statement-l is correct but Statement-I11'is
incorrect.

(d) Statement-I is incorrect but Statement-Il is
correct.

Q.38. Consider the following statements

regarding Diastrophism

1) The phenomenon ofwearing down relief
variations of the surface of the earth,through
erosion is khown as‘Diastrophism.

2) Epeirogeny isicontinental buildingyprocess.

3) Orogeny is‘@amountain Building process.

Which of the statements given above is/are

corréect?

(a) 1 only

(b) 2 and3yonly:

(c) 3 only.

(d)1,2and 3

Q.39. With reference to the structure of the
atmosphere, consider the following
statements:

1) Thickness of the troposphere is greatest at
the equator and lowest at the poles.

2) The Stratosphere absorbs ultraviolet radiation
and shields life on the earth from intense,
harmful forms of energy.

3) Radio waves transmitted from the earth are
reflected back to the earth by the ionosphere.

MALUKA IAS — NEW DELHI, BATHINDA, CHANDIGARH, PATIALA - 9910133084

SAMPLE TEST 1 (QUES)

How many statements given above are
correct:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.40. Consider the following statements about

the Littoral and Swamp forests:

1) About 70% of India's wetland habitats are
under paddy cultivation in India.

2) There are no wetlands’in. Rajasthan and
Madhya Pradesh.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Bothd and 2

(d) Neither 2 nor 2

Q.41. With reference to Ocean Floor
Configuration, consider the following
statements:

1), Ocean trenches are'a feature of convergent
plate boundaries and are found in every
ocean basinien the planet.

2) Mid-oceanic ridges are characterized by a
central rift system at the crest, a fractionated
plateau and flank zone all along its length.

3) “Abyssal Plains are extensive plains that lie
between the continental margins and mid-
oceanic ridges.

How many statements given above are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.42. With reference to the ‘Tides’, consider

the following statements:

1) Spring tides occurs when the sun, the moon
and the earth are in a straight line.

2) Neap tides occur when the sun and moon are
at right angles to each other.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Q.36. Ufdawpardl & dei # Fafafa s 3 o

/A SY TR &2

1) T 3TIH 3R id a1 3! fa=war B

2) Ufdershard | gard Il Maref & ammad 3R
Zfaroft e & <feomad gacd g

1 f3u 7T Pl &1 ITENT HXP Tt SR g |

(a) Had 1

(b) Had 2

() 13 2 gFf

(d) Tdr1adr2

Q.37. fFafafed sy wR faar &3:

HYF-1:Qd! & fore ues FAfEd A 7 Idve ud @re

P 3MIIHT glail g

Y- 11:9B D Tdl R T& AT F &R 3R

fferas uert o1 Reram grar g1

devrse St & Gey A fFafafad d s A

g1 8

(a) BYA-1 3R HYF-11 G &I & 3R HY-1]
HY-| B Yl AR B |

(b) HY-1 3R HYF-11 S T&I & 3R HY-1],
HY-| B Ya! AR g g

() PYF-1 & § Qb HYH-11 TTerd B

(d) BYF-1 TAd g AP HUF-1l TELR|

Q.38. Ued faw=qur (SRR hoH) & Gy |

Frafafag sy w far &

1) 3RS o ATy ¥ Gl &l Haig D1 IA1dd
fafqearsif & 9 g e Bl SRR thed &
U H S ST 2|

2) TRSH geigidta fafor ufhang |

3) 3RISH T gdd. AT ufEars |

SR 3T 1T HUHT AW P/ TE &2

(a) hdci

(b) PR M3

(c) Phdd 3.

(d) 1,2 3R 3

Q.39. ARgHSH Pt AT F A A frufafaa

FY R faaR a3

1) &YHSA P HieTs YT T IR Ja H
3R yal R 98 &4 Bl ]

2) THAOHST WIS fafdhvur oI sra=nfd
HRAT § 3R il R St &1 SHoll & i,
BI®R® Ul ¥ ST 8|

3) gl 9 TG e a¥l SEHSd gRT arad
& R WREfid 81 Sl &
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SAMPLE TEST 1 (QUES)

FWR feu U fraq = 9 &
(a) Pad Tb

(b) T 3t

© Tt dH

(d) ITH Y BIS el

Q.40. 914 3R gagal a1 & IR § fAufafaa

FYEI R faR a3

1) YRA & AT 70% KU 3T YRd T 414
B @t &b il g

2) ISR 3R Aeg A= H P18 My Tl g

SR AT 7T FY A A SIHER TS &2

(a) Had 1

(b) Had 2

(© 13RS

(d) Tl 1T

Q.41. HeNNR derfaama & e #, fRufefead

HYH] TR faar o

) HeIFRT W13al 3TTRRU We st &t teh
foRydr 8 8k 78 W U He™TRIT IR #
T8 Sal g 1

2) HL-HENIRIY Hed| of [aRydl RRIR R T6h
eI IR YUl ST G a8 & 1Y Uh
Tisd UoR 3R U4 &7 3|

3) Wagﬁ?{ﬂ(Abyssal pIains)Wﬁ?ﬂT‘f%
S HETEO fHRY 3R Ae0-He™NRIY dhed!
F I RA |

FWR feu T fpaq sy I 82

(a) BT Th

(b) fah 3

() gt

(d) TTH Y BIS T8I

Q42. 'SR’ & e ¥ fufafad #y= R faar

P

1) &Y SR 79 °fed giaT 8 9e G, s 3R gt
T Weft [ H g B

2) WY SAR 9 "ied gid & ofd I 3R gH b
TR Y IS R B 5

SR 3T T Sy § & B9 a1/ ad 82

(a) Had 1

(b) Had 2

(©) 1 3R 2 Ml

d Tdr1adr2
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Q.43. Which of the following is/are correct

with reference to winter monsoons in India?

1) Due to anticyclonic circulation on land, the
possibility of rainfall from them reduces.

2) They have little humidity and thus they do not
cause rainfall in any part of India.

Select the correct answer using the code

given below.

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q.44. Consider the following statements about

evolution of earth’s atmosphere:

1) Oxygen was negligible in the original
atmosphere.

2) The extremely hot interior of earth has
contributed to the evolution of the earth's
atmosphere.

3) Nitrogen, oxygen, and carbon dioxide are the
major atmospheric gasses in the given order
at present.

How many statements given above are

correct:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.45. In the context of Oceanic floor deposits,

'‘oozes' refer to:

(a) Pelagic deposits derivedifrom the oceans
made of Shelly and skeletahremains.

(b) Terrigenous deposits derived from land
deposited on the‘continental shelf.

(c) Peaks of icebergs underwater.

(d) Accumulatien of volcanic dust,blownout from
volcanoes.

Q.46. With reference to tectonic plates,

considenthe following statements:

1) The €ocos,Plate is an‘example of an oceanic
plate that 1S‘cusrently being subducted
beneath'the South American Plate.

2) The Eurasian, Plate’is the smallest tectonic
plate on Earth,

3) The Philippine Sea Plate is predominantly
made up of continental crust.

4) The Pacific Plate is the only tectonic plate that
is entirely composed of oceanic crust.

How many of the above statements are

correct:

(a) Only one

(b) Only two

(c) Only three

(d) All four
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SAMPLE TEST 1 (QUES)

Q.47. With reference to the characteristics of
the Ocean Currents, consider the following
statements:

1) Cold currents are usually observed on the
east coast of continents in the low and middle
latitudes.

2) The mixing of warm and cold currents
amplifies the growth of planktons.

3) Oceanic currents are slow at the surface due
to friction with the atmospheric air as
compared to depths.

How many statementsgiven above is/are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.48. Consider the following statements:

1) Westerliesiare strongest in the'summer.

2) Driven by thexwesterlies, the powerful
Antarctic Circumpolar Current rushes around
the continent.

3), They,are fed by the'polar easterlies and winds
from theshigh-pressure horse latitudes.

How mahy statements given above are correct

regarding the Westerlies:

(a) Onlyrone

(b),,.Only‘two

(c) All'three

(d) None

Q.49. Consider the following statements:

1) More than 80 percent of the Earth's surface is
a result of the formation caused by volcanoes.

2) Once a volcano has been inactive for several
decades, it cannot reawaken and become
active once more

3) Over the years, volcanic materials have
formed the most fertile Earth soil.

How many statements are correct regarding

Volcanoes:

(a) Only one

(b) Only two

(c) All three

(d) None
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Q.43.4Ra § =faeTe s AR & ey o

fFrufafaa 7 3 19 91/3 98 82

1) YA R Ufdashdrd UREER0I & HRUT 4 o
B YHTGT HH Bl STt g

2) TIH 3MTdl HH Bidl & 3R 39 UHR I YR B
foadt oft v o auf 781 Ha B

1 f3u 7TT Fie &1 ITENT HXP Tt X g |

(a) Had 1

(b) Had 2

(c) 13MR 2 gFf

(d) Tdr19dr2

Q.44. Jult & qIgHSA & AP F IR |

fFafafag 3= w far #3:

1) 4ol raraRor § SHiitSH 70y ot |

2) T & Sidd TH HTAR® HFT A Gedft & argHed
& faor § e fear g1

3) ATgCIeH, Taflor 3R FHIeH T3S
gdu # fT TN wH § Uie argHe g 19 g |

SR fau U fHaq Hy= 9dl &

(a) pacl U

(b) R a1

(©) gt =

(d) TTH A PIS TEI

Q.45. AEMTRIY dd fRauisded & R

(OOZE) &1 a1y &:

(a) it 3R HepTel GRAGLT 7 HERFRI J UTed
Toffore RaT|

(b) TRTGIUTT QIeth, TR ST 4 YR (e

(©) UM & Sfex fRmRas! @1 difed! |

(d) SAEE! ¥ el SararHeEd Yo &1 J<d |

Q.46. cTRIHP Wic! & U A fFafafad Y=t

TR faar 3

1) DI RIe Ueb, T WE BT ITERI © Sl
gduE H e ARt wie & - T @ ]

2) TR we Pt )R ga Bl TaeiHe @e g

3) frelidF IR We 7= ¥U § Hegiy wRd §
CRikd

4) URId @We THHT el Wie § S I3t aRe q
I R A F ]

SWRIF | A fora U= 98l &

(a) P Ub

OREEEA
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(c) HaadH
d) gt TR

Q.47. HETNRT YR &t faQvarey & gt #

fFrafafad 3= w far #3:

1) St YR AR R A7 3R 7e ez o
AeTgIal & gdf de WR 3t St €

2) TH 3R GEt URT3T BT 90T WA B gfg B
eI gl

3) TERIS ! gaT § dHS g iy & 1Y gy &
HRUT g R T URIE it it €

FWR feu U fhad sy T8t 82

(a) had U

(b) R @l

© gt dA

(d) 79 A Blg Al

Q8. fFrafafaa wu= wiar #3:

), TGS U3 gaTl Ted o Bt &

2) U 3 gaei URd gy, fd=iel sicrhiesd
R 4RT AETET & TRY SR dredl 21

3) 3 ydig qat ganalt 3R S eera A 9IS &
SIEIRIT & ST aTci garsfl J Uiftd g §

g3 garsil & "ay d FHuR 3T M fvaq vy

e 8

(a) HId TH

(b) R gl

() gt

(d) T H IS Tel

Q.49. frafafead sy &) R &%

1) G &t Jag &1 80 Ua=id & 3iferes U
SATARITT & HRUT gY ftor &1 afkomy ]|

2) Ueh IR 9 Plg SATAM! Fs GRIh! db
fAfSra gar 8, d 98 SIaRT 9N SR Wity et
GG

3) T q, ST IEET 3 gt & gad
IUSTTS, gt &1 fAmi fear g

SaTATgE! & ey H fra sy I8 §:

() P T

ORELE

(©) gyt a=

(d) TH I PIg TeI
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Q.50. Consider the following statements with

respect to Kuroshio current:

1) It begins off the coast of Japan and flows
northwards.

2) lItis a part of the North Pacific Ocean gyre.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Bothl and 2

(d) Neither 1 nor 2

Q.51. Which of the following are related to the
Atlantic Ocean?

1) Dogger Bank

2) Grand Bank

3) Telegraph plateau

4) Diamantina Trench

5) Sargasso Sea

Select the correct answer using the code
given below.

(@) 1, 3and 4 only

(b) 1, 2, 3and 5 only

(c) 1,2,4 and 5 only

(d) 2, 3and 5 only

Q.52. Which of the following characteristics
are correct regarding Indian Ocean Dipole
(IoD)?

(a) Itis characterized by the difference in sea
surface temperatures between the eastern
and western parts of the Indian Ocean.

(b) In the positive phase, there is a warming of
waters in the eastern Indian Ocean.

(c) In the negative phase, it tends to lead to
below-average rainfall over eastern Indian
Ocean regions

(d) Positive IODs can also give rise to tropical
cyclones in the regions of the Bay of Bengal.

Q.53. With reference to the'lndian climate,

considenthe following statements:

1) During winter, there is‘@low-pressure area
north'efithe"Himalayas.

2) The western cyclonic disturbances are
weather phenomena“of the winter months
which are brought in by the westerly flow from
the Mediterranean region.

3) The changes in the pressure conditions over
the southern oceans also affect the
monsoons.

How many statements given above are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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Q.54. Consider the following statements:

1) These soils are derived from Debris brought
down from the Himalayas.

2) These soils vary from light grey to ash grey in
colour.

3) These soils are rich in phosphorus, poor in
Potash.

How many statements given above are correct

regarding Alluvial Soils?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.55. During April and May'when'the sun

shines vertically over the Tropic of Cancer,

which one of the following phenomena

happens?

(a) High pressure develops over,North-western
India.

(b) Heavy rain‘inithe Narth-western India.

(c) The formation‘@f,an intense low pressure in
the northwestern‘part of the subcontinent.

(d) Ne ehanges in temperature and pressure
occur inmorthwestern India.

Q.56: Consider the following:
1) Benguela

2)n.Mozambique

3) Kuroshio

4) Labrador

How many of the above given Ocean currents
are Cold Currents?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q.57. With reference to the World Geography,

consider the following:

1) The Circum-pacific Region is well known for
both Earthquakes and Volcanoes.

2) One-third of the world's volcanoes are located
here.

3) Pacific ring of fire, is another name for the
Circum-pacific region.

4) Mariana Trench, world deepest, is located
here.

How many statements given above are correct

regarding the Circum-Pacific Region.

(a) Only one

(b) Only two

(c) Only three

(d) All four
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Q.50. PRI URT & ey H fAufafad sy )

far o3

1) Ig UM & d¢ Y TF il § R IR BT 3R Fght
o

2) UE IR YR ARG Tsh T Th HIT

W AU U Y= § & B9 91/ 98 22

(a) Hdd 1

(b) Had 2

(c) a1 3R 2

d) Fdar19dr2

Q.51. fFafafad & @ #1991 srcdifee AgaTR 4
1) SR &%

2) dsd&

3) CHUTH TR

4) SEAfAIST

5) RN AR

7 fRE T Fis &1 IUWT FXP T IR A
(a) Pad 1,334

(b) Pae1,2,3 3R 5

() Pad1,2 43R5

(d) Pad2,3 3R 5

Q.52. {83 #eRIR feya (1op) & wey # fafefad

T B fRaRivan ad @2

(a) 3O faRivaT fge AR & gdf SR el wrii &
o1 I &1 Ydg & agqH A 3R B

(b) gwwﬁ,uﬁ%ammﬁuﬁnﬁﬁw

|

(0) THRITS TR H, gdf fie AR &=t # sfad ¥
HH a Bl o

(d) TPRIAD ATSHTS! ST B! WIat & &= &
Iurhfestia shardl ot Hf 57 2 Tebd 31

Q.53. MR saayg & we A Fmfafed sy )
faR &y
1) = BaH BHET B3R N =Y <a1d BT 8 gl 8
2) uftydt acearch faenuafdal & aei-t o e geam
g@%mmamammmmm
|
3) aféroft HERmRI W gard & fufd & ufkad- ot
YA & gHIfad T §1
SR 2T U fraq $Y= 9El &2
(a) bad TP
(b) Rk ar
© gt =
(d) TS el

Q.54. frafafEd Y= ) faar o3
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1) 3 i) feumera @ @ e Ao @ U g3 §
2) B gt aeh WY q ABR AW O R 7 a9 U el
gl

3) 3 S o BrRERY &t A i Bt ], dierx &t
AT HH Bl g

wiete frd) & Ty A SHuR A T fraq wy= Tdt 82

(a) bId TP

(b) Rk ar

(© gt =

(d) 3TH A BIS T

Q.55. 30 3R U F SR o9 JF FP 3T R

d9qd I9&dr g, 9 FFafafaad @ d gear

ufed gt 82

(a) IWR-uft YRR =, card fawRyd BIaT 3

(b) ITR-GEH YR UK ITR=LETal

(©) IUHETGI % ITR-URHWHFT & die. A9 garg &
fwfor gran Bl

(d) ITR-UYH YR H YA Ud ga1ad § Bl gRde
EE RG]

Q.56. 19 TR famR &3:

1) e

2) HANINES

3), HRIRE

4) “ASTSR
;Wﬁﬂﬁmwaﬁﬁﬁmaﬁumﬁ
(a) bId TP

(b) Ry ar

(© HaadH

d) I IR

Q.57. fay yma & wef o Fafafad w® faar «%:
1) UId &5 YU 3R sarergd! gl & forg ulig 1
2) oy % U faers saramel uet fRua B

3) URId 31 aerd, URIid &5 BT gERT A |

4) oy & T T wiiamT 7Td ad) fRE B

URid 87 & Y99 # SHuR feu 7 foraq w9 98t 82
(a) bId TP

(b) Rk 3

(c) PaddH

d) gt TR
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Q.58. Which of the following landforms is
characterized by being narrower than a
canyon, often formed through stream cutting
erosion, and larger in scale than gullies, while
being a part of the Badlands topography?

(@) Rill

(b) Gully

(c) Ravine

(d) Bolson

Q.59. Which of the following geographical
features is formed by the erosive action of
flowing water, creating a narrow and shallow
channel in the soil?

(a) Gully

(b) Mesa

(c) Plateau

(d) Glacier

Q.60. Which of the following best describes

the Phacolith:

(a) Dome-shaped igneous intrusion formed when
magma is injected between sedimentary rock
layers, creating a bulging uplift.

(b) Concave-shaped igneous intrusion created
when magma is injected beneath sedimentary
rock layers, forming a depressed basin.

(c) Large mass of intrusive igneous rockdermed
deep underground from cooled magma,
covering an extensive area.

(d) Curved igneous intrusion that bends and
warps surrounding rock layers, creating a
lens-like structure.

Q.61. Consider the following:

Statement-I: The Coriolis,effect is f@sponsible for

the rotation direction of eyelones in the Northérn

Hemisphere.

Statement II:\The,Coriolis effect'is‘caused by the

Earth's rotation, whiech deflects moving-air masses

to the right in the/Northern Hemisphere.

Whic¢h ane of thefollowing is eorrect in

respectiofthe above statements?

(a) Both Statements-| and Statement-1l are
correct and Statement-Il is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-Il are correct
and Statement-Il is not the correct
explanation. for Statement-I.

(c) Statement-l is correct but Statement-1l is
incorrect.

(d) Statement-I is incorrect but Statement-Il is
correct.

Q.62. Consider the following:

Statement-I: The process of desertification is
often accelerated by human activities, such as
overgrazing and deforestation.
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Statement Il: Human activities lead to an
increase in rainfall and vegetation in arid regions,
promoting desertification.

Which one of the following is correct in

respect of the above statements?

(a) Both Statements-1 and Statement-Il are
correct and Statement-Il is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-Il are correct
and Statement-1l is not the correct explanation
for Statement-|.

(c) Statement-l is correctibut Statement-I11 is
incorrect.

(d) Statement-I is incorrect but Statement-Il is
correct.

Q.63. Consider the following statements:

1) These,soils are also knoewn as_tropical
chernozems.

2) Weatheredyrocks of€retaceous’Lava are the
primary source of these soils.

3) These soils have a lowawater retaining
capacity.

Hew many statements'give above are correct

regarding Regur Soils:

(a) Onlyfone

(b) Onlytwo

(c) All'three

(c),None

Q.64. Consider the following:

Statement-I: The process of evaporation involves

the conversion of liquid water into water vapor

due to heat.

Statement-Il: Evaporation is the result of

chemical reactions between water molecules and

atmospheric gasses.

Which one of the following is correct in

respect of the above statements?

(a) Both Statements-I and Statement-Il are
correct and Statement-Il is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-Il are correct
and Statement-II is not the correct
explanation. for Statement-I.

(c) Statement-l is correct but Statement-I1 is
incorrect.

(d) Statement-I is incorrect but Statement-Il is
correct.
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Q.58. FafefEa 9 3 f5a y-enpfa ot fa=ivar
1% 2 {5 a5 ardt 9 ff Tt Bl B, SreRIR URT
& HETd & HRUT I41 3, 3R ISds REATPia
P 31 g1 & ATY-A1Y Ao & g A g9
TR R e @2

(a) R (Rill)

(b) AT (Gully)

(c) dI8S (Ravine)

(d) S (Bolson)

Q.59. fFafafad & @ &9 d vinfe fauar
qgd U 3t werayut fhar & gt & ve gl
3R IY AT FATHY T 82

(a) SfaTIRT

(b) flﬂT(mesa)

(c) UoRR

(d) fera

Q.60. FAUfafRd & ¥ FI9 wreifery H1 I

3BT qUIF HaT B

(a) TSC & ATHR HI UG 3fda. 4 I9 TG oS
T P qASC] IS B IRdl & aid geiae
fopar ST 8, o9 T SUR T gl g |

(b) 3Tl SATHR BT Y 3dd T ST § Ol
T P qADC] IS B IRal b regoide bt
ST B, o U S aRE sar B

(©) &S T MY YT H 3fdd: o B arit
U IS BT TSIWEG &1, ST ED ATUD &
HI HaR IRAT B

(d) GHTAGR &Y Sicd 4 S SEEE D deml
S SR S Bl

Q.61. FEffeg W fiier &:

HYF-1: HIRSTCrEmTE TR Mare § Tehardl &

quiF fezn & o ReeR g |

Y |I: HINSACRHYHTT G2at & guiH & HRUT glal

2, S IR} Tivared H Trerclt aRRIRE! Bl 378 3R

feafa s 3ar gl

SR $YAl F Hoay A fFafaf@a A s an

T 82

(a) BYF-1 3R HYF-11 Gl I & 3R HY-1]
HYF-| P Tg! AR g |

(b) BYA-1 3R HYA-1l G T § 3R HYA-1 & forg
HYA-1| TG TBIHROT g1 5
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(€) HY-1 I g Afp HYH-11 7T B
(d) HY-1 TTAd g Afb HYF-11 JaT B

Q.62. fFafafed = faar &3

HYF-1: TSR DB D UihdT 3RR AT

TR, S rfiie w18 3R &l &I Hels I

AT B o1 3|

Y II: I Tfafafert & HRor e a3 § aut

IR gwfd 7 gig gl &, e aeRdiaxu &

Sl fed 2|

SRITd HYAI » Ha9 B fAufefad # 4 o ar

g &2

(a) PYF-1 3R PYFULSH TET & 3R HYA-I1
Y. P Tg! AR Bl

(b) PYF-1' SR FUT-INS TR 3R HYU- 11,
FHYF-| I Ugl AR e B

(c) PYA-I TG g wfee HYUT-11 T B

(ANBYU-| TATd & AfhepaH-1l Tl B

Q.63. FaftiRaa wy=i w faar fefone

1) SHAQ Bl SWGBfcadd I & ©0 § off
ST ST 2 |

2)p b I 1A i YR g S iG] B
IH Wid g

3)), ISRl HH il g

IR g & "@ey § SuR AT 1¢ fhaq sy W@t
g

(a) BT Th

(b) Ryt &l

() gt

(d) STH A BIs T8l

Q.64. 9 W faar &3:

HYF-1:aTH BT B UfHar | TH S BRI R

Ut &) O I H deo-T A g

PYF-11:aT BT I & S 3R argHeeg

TG} & S IS ufafearait o1 uRumH g1

IR $YA1 & Ty # Fufafea A s an

g 72

(a) BY-1 3R HYF-11 SHI T&I & 3R HY-1]
HY-| B Gel AR B |

(b) HYA-1 3R HYA-1I T &I § 3R HY-1 P forg
HY-1l g TWPIH el B

(c) Y-l T8l § Al HY=-11 Tad g

(d) BYF-1 T § AfhT HYU=-11 T8t g
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Q.65. Consider the following statements about

the difference between the Terrestrial and the

Jovian planets:

1) The Terrestrial planets have higher densities
than the Jovian planets.

2) The Terrestrial planets are smaller than the
Jovian planets.

3) The Jovian planets have lower gravity than
the Terrestrial planets.

How many statements given above are

correct:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.66. Consider the following:
1) Fog

2) Dew

3) Sleet

4) Hailstones

Which among the above mentioned are the
forms of precipitation?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q.67. Consider the following statements:

1) The small-rounded objects formed by the
process of cohesion are called the
“Planetesimals”.

2) The stars are localized lamps of gas‘within a
nebula.

Which of the statements given.above is/are

correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nen?2

Q.68. The Black Sea touches the boundaries
of which of the following eountries?

1) Turkey

2) Armenia

3) Romania

4) Georgia

Select the correct'answer using the code
given below:

(a) 1 and 2 only

(b) 1, 3and 4 only

(c) 1 and 3 only

(d)1,2,3and 4

Q.69. With reference to the Tropical evergreen

forests, consider the following statements:

1) Warm and humid areas with precipitation not
more than 100 cm.
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2) There is no specific time for trees to shed their
leaves.

3) Animal species like Lemur and one horned
are found here.

4) Mongoloid Tribes, Nicobarese and Shompen
live in these forest

How many statements given above are

correct:

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q.70. Which of the following statements are

correct?

1) The average temperature of the surface water
of the oceans is about 27°C.

2) The maximumtemperature of thedceans is
always at their surfaces inthe tropics and
sub-tropics:

3) The temperature falls,very rapidly up to the
depth of 400 m,

Select the correct answer using the code

givenbelow:

(a) 1 and'2'enly

(b) 2:and 3 only

(c) 1'and 3 only

(d)1,2and 3

Q.71. Consider the following:
1) Mariana trench

2) Java Trench

3) Kuril-Kamchatka Trench

4) Philippine Trench

How many of the given above trenches are
located in Pacific Ocean:

(a) Only one

(b) Only two

(c) Only three

(d) All four
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Q.65. T 3R NI U8l & 9 ik & IR

H frgfafad sy = IR 3

1) [T gl T U Sad- Ugl &t ga-1 o
3 |

2) R U8 Sifdu U8l ¥ Bl Bid ¢

3) SNfaa- Ugl § R Tg! & ga-l & &Y
TG YUT g g |

SR fau 7 fHar Hu= Odl &

(a) pad T

(b) R a1

(© Tt dH

(d) TH A PIg gl

Q.66. 19 W faam &3:

1) I

2) 3

3) 3t & Ty auf

4) &nﬁi:}]q@

e # | quf & HI9-3 =U 32
(a) pad TP

(b) R a1

(c) Had dH

d) I IR

Q.67. FufafEd Hy= w fEr o3:

1) Uhycdl (Cohesion) P UTchal T ST Bl
T3 BT " REE" FHET oedhe |

2) IR U e F UGN & 298 |

SR 3T 7T HYA A A B A/ T o2

(a) Had 1

(b) Had 2

() 8RR

(d) T 192

Q.68. FTaT AR Fafefaa o 3 ford 3= &t
Hrraf @Y gar a7

1) @l

2) S

3) T

4) ST

1 foT U Pl &1 ITUNT HP HEt I gA:
(a) Had 1 3R 2

(b) B 1, 3 3R 4

(c) Had 1 3R 3

MALUKA IAS — NEW DELHI, BATHINDA, CHANDIGARH, PATIALA - 9910133084

SAMPLE TEST 1 (QUES)
d) 1,2 33R4

Q.69. Iwrmfedg TeaeR a1 & de #

fFrafafad 3= w faar #3:

1) T SR 3T & wigt auf 100 T & 31f¥F A 7

2) USl P TR e &1 B [iEd g7y T8l B

3) g1 AR 3R TH T a1 SaR! Y yrtrfa
CIERSINIE|

4) 39 S § HTTS SEiadl FeeRt 3R
O I8 §

SR feu T fpaq YT ! &

(a) HIA TH

(b) Rk &

(c) HaaET

d) It TR

Q.70. FAufafad #8 S 31 FY= 98l 87

1. FERITRI & Tda! o6 T d ATTH THTHT
27°C gidig |

2) HERIPRI BT SHHdH droa gHm
I ieadi 3R Iuwrhfestha & 30! Idg
R Bl

3) 400HeR BI TERTS AP dTH §gd doit I
R 81

R f3u 71T Fis &1 ITEN FXP TE SR G-

(a) Pad 1 3R 2

(b) I 2 3R 3

(c) Pad 1 3R 3

(d) 1,2 3R 3

Q71. W far &3
1) AR T

2) SrETed

3) PA-BIHICHT Tl
4) faidFda

SR < i @Al § A fea-t @rsar uwrid
HERITR & R4 &

(a) HIA TP

(b) fab 3

(c) Had dH

d) I IR
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Q.72. Which of the following statements are

correct?

1) Igneous rocks are primary rocks.

2) lgneous rocks can be changed into
metamorphic rocks.

3) The fragments derived out of igneous and
metamorphic rocks form into sedimentary
rocks.

Select the correct answer using the code

given below:

(d) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

Q.73. With reference to plate tectonics and

continental plates, consider the following

statements:

1) The movement of tectonic plates is driven by
convection currents in the Earth's mantle.

2) Continental plates are generally more
massive and thicker than oceanic plates.

3) Subduction zones are commonly associated
with divergent plate boundaries.

How many statements given above are

correct:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.74. Which of the following statements are

correct?

1) Changes in the Earth’s global albedo can
affect global warming.

2) Sea-ice loss in the Aretic has lowered the
region’s albedo.

3) Earth-orbiting satellites havebeen used to
measure the Earth’s Bond albedox

Select the correct answerusing the'eode

given below:

(a) Xandy2 only

(b) 2 and, 3'only

(c) 1 and3yonly:

(d) 1, 2 and3

Q.75. Consider the following statements about

the ‘Heat Budget of the Earth’:

1) Inthe stratosphere, the temperature increases
as we go away from the Earth.

2) Inthe mesosphere, the temperature increases
as we go away from the Earth.

3) The mesosphere assists in radio
communications.

How many statements given above are

correct:

(a) Only one

(b) Only two
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(c) All three
(d) None

Q.76. The climate is characterized by
extremely cold temperatures, long winters,
and short cool summers with ice and snow
covering the landscape for much of the year.
The statement above given describes best
which of the following?

(a) Arctic Climate

(b) Laurentian Climate

(c) Siberian Climate

(d) Mediterranean Climate

Q.77. Consider the following Statements:
Statement-I: The Intertropical Convergence Zone
(ITCZ) is a region where,trade winds from the
Northernddemisphere and the Southefn
Hemisphereymeet.

Statement-Ik The ITCZs characterized by high

pressure and sinking air masses, leading to clear

skies and dry conditions.

Which one of the follewing is correct in

respechof the above statements?

(a) Both Statements-1 and Statement-Il are
correct and Statement-Il is the correct
explanation for Statement-I.

(b) BothyStatement-I and Statement-Il are correct
and Statement-Il is not the correct explanation
for Statement-|.

(c) Statement-l is correct but Statement-I1 is
incorrect.

(d) Statement-| is incorrect but Statement-Il is
correct.

Q.78. Consider the following statements:

1) The concentration of water vapour in the air is
more in the Equator, as compared to the
Poles.

2) Water vapour moderates the atmosphere of
the Earth.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Q72. Fafif@a A S T HuT I &2

1) 3 gg™ rufie ggH B

2) UG I ! ©UiaRd ggH! | gedl o
b1 g

3) MY 3R FUARd ggHI ¥ Fdd ¢hs dase!
gl H o B

1 f3T 71T Fis &1 ITEN FXP Tg SR G-

(a) Pad 1 3R 2

(b) Had 2 3R 3

(c) Pad 1 3R 3

(d) 1,2 3R 3

Q.73. Wi ¢Fe ey 3R HeTgfiy Wel & deaf

H, Fafafead sy = faar &3

1) CHIMD Wel ol Tfd gdt & 3MaRul § Hag—
RT3 gRT FeTerd gt |

2) TR W¢ 3H IR R T4 Wiel &I o d
3iferes fargmer ok \idt Bidh 21

3) ISR Sl THIR R ATIR] e Farsi @
SRR

FWR fou U fraq Hy= El &

(a) pad TP

(b) Rk &

(© T aH

(d) 79 A BIs 61

Q.74. fFafafad & Q 19 91 FYF 98 82

1) &t & df¥ye Sfeael ByuRac el aiH oI
gHIfad PR Tehdl B

2) MHICH & TP Tt BTS BiF WET DT Sfcaia!
&Y g1 T 6l

3) QRS URPANBIE 3UUs! BT IUINT gedt
P SIS RSS! PHATI . e fpar T §

R feu Mo is &1, SUANT P Te SR G-

(a) Pad 1 3R

(b) HId 2 3R 3

(c) Had 1 3R 3

(d) 1,2 3R 3

Q.75. Q41 & a1y geie’ & IR § Fafafaa

FYEI W AR &9

1) HAY A A o-O g Al R T 8,
dlYHI dedl lidl %l

2) AEHSH H S-S gH Jat ¥ R W €,
IT9HH el SITdl g |
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3) BOIRPER Ied GOR & Geradl sl g
FWR feu U fpaq = 9 &

(a) HIA TH

(b) Ry &

© Tt dH

(d) 3TH A PIg &l

Q.76. STarg B! faiwar sreafire $8 aram,
st Afdar ok BT 381 Hewwra 8, o adf
F iftreier g9y 9 3R ferura ufeza &t
PaR AT

SR fear T By Foferiaa & A fbaer

(d) HHS wfcfdiy

Q77. FEfifad YT = R &3

FUA-I: SEXCMUDA H-aoiy oI (ITCZ) TH T &

® STet Sast Mard iR aféroft M & sy

REIEER.

PUT=H: [TCZ F! ARV I ga1d 3R il §5

oot Y 81

IWRIad YA P Hay A fFafaf@a A I s an

el 32

(@) FHYF-I 3R HYF-1I S Tg! § 3R HYH-I|
HY-| B Gel AR B |

(b) HY-1 3R HYF-11 S T&I & 3R HY-1],
FHY-| B Ya! AR g &

(c) DYF-I I § Al HUF-1l Tad B

(d) Y- T § Al HY=-11 T8t g

Q.78. fFafafad Hy = faar &3

1) 9G¥ SIefarsd &1 Gisdl Yl b1 ga-l H YHA
T H o Bt B

2) oAy gt & aRgHed di AR HRaT g |

SR AT 7T Hy A A $1H A1/ 98 &2

(a) Pad 1

(b) Pad 2

() 1 3R 23Hf

(d) T192
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Q.79. Consider the following statements:

1) Epicenter is located on the earth's surface
and is always parallel to the Focus.

2) Focus can be located on the earth's surface
and as deep as 700 km from the earth's
surface.

Which of the statements given above is/are

correct:

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q.80. Which of the following factors result in

variation in insolation received by the Earth?

1) Rotation of the Earth

2) Revolution of the Earth

3) The angle of inclination of the sun's rays

4) Length of the day

5) Configuration of the land in the terms of its
aspect

6) Transparency of the atmosphere

Select the correct answer using the code

given below:

(@ 1, 2, 3,4 and 6 only

(b) 2, 3,4,5and 6 only

(c) 1, 3,4,5and 6 only

(d)1,2,3,4,5and6

Q.81. Consider the following statements about

solar radiation:

1) Aphelion is the point when the Earthyis the
farthest from the Sun.

2) Annual insolation received by the Earthiin
January is more than the amount receivedin
July.

Which of the statements given above,is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q.82. Considerthe following statements:

1) The actualamount of water vapor present in
the atmosphere is known as the absolute
humidity.

2) The percentage of moisture present in the
atmosphere, as compared to its full capacity
at a given temperature, is known as the
relative humidity.

3) Relative humidity is greater over the
continents and the least over the oceans.

How many statements above given are

correct:

(a) Only one

(b) Only two

(c) All three
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(d) None

Q.83. Which of the following statements about

the Antarctic region is true?

(a) Antarctica is the largest contingent on Earth.

(b) The Antarctic Treaty System bans all human
activities in Antarctica.

(c) The Antarctic Circumpolar Current flows from
east to west.

(d) The ozone hole over Antarctica is a natural
phenomenon.

Q.84. Which of the following forces affect the
velocity and direction‘of the winds?

1) Pressure Gradient Force

2) Frictional Farce

3) Coriolis Force

4) Gravjtational Farce

Select the correct answer using the code
given below:

(a) 1, 2 and 4 only

(b) 2 and 3 only

(c)d, 3 and 4 only

(d) 1,2p3 and 4

Q.85. Considerithe following statements:

1) The Andaman and the Nicobar groups of
islands are separated by the 10°N channel.

2)», T he Saddle Peak is the highest hill in the
islands.

3) The only active volcano of the country is
located in the Andaman and Nicobar Islands.

4) In the Andaman and Nicobar Islands, the
urban population is more than the rural
population.

How many statements given above are correct

with regards to the Andaman and Nicobar

Islands:

(a) Only one

(b) Only two

(c) Only three

(d) All four
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Q.79. FuafafEd Hy= w faar &3:

1) Iubhg gudl B! Ydg R Ry giar g iR ga=m
PIhY & AR gidT g

2) BIHY ! B Ydg W 3R Pt Bt Jdg I 700
e Pt TeRTS b fRUd B Thar gl

SR 2T T HY= § A P 91/ I8 &

(a) Had 1

(b) Had 2

(c) 13MR 2 gHf

(d) Tdr19dr2

Q.80. fFufifea A A fPa sRe &
TR Qdt gRT uTed gatay § firsar
3Tt 82

1) gt B

2) Gl ot uRepgur

3) U ! [l & FHbTd BT DI

4) A=t awarg

5) YA BT 39D Ug ! e I fa=mg

6) dTATaRUT Bt URERfdT

R fau 1T Fis &1 ITENT FP TE S G-
(@) HIA 1,2, 3,4 3R 6

(b) HIA 2,3, 4,5 3R 6

(c) Had1,3,4,5 3R 6

(d) 1,2,3,4,53R6

Q.81. IR faferu HEr # FAufafad su=i w

faar &3:

1) TR dgfeig & od Rt GF WYY @K 8

2) SHa! H gl gRT T qifyed qarquielars
T JaiaY PHAEN 3113 B

SR fGUAE Sy E S ST I/ 981 22

(a) Ppadd

(b) PHad 2

() 18R 2

(d)ydar19dr2

Q.82. frafafad syl wR faar +3:

1) agHSd H NG STadTS] &1 IRafdds [T Bl
qut 31Tkt & =Y o ST I &

2) ot fiGT 7T aroHM WR 58! Gt &dT Hi
I H argHed | Aiejg 4T &1 ufa=rd qrdef
TS & FY H ST oIl § 1Hhed
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3) MUfED SMTsdl HeTg Ul R 3Hfeie quT HeTRRI
R I A Bl ]

SR fou T fraq FyF I

(a) BT Th

(b) R &

© Tt dH

(d) 3TH A PIg &l

Q.83. 3icThie® &7 » IRH Fufafaa A A 19

T HY T 872

(a) SfcTdhfedt gudt 1R Uy g1 & 2|

(b) 3fcThfeds ARRYUTE sicTdhicd! # g ArFd
nfafafiat oR gidethermd B 1

() SicThied THHIER URIYE ¥ U &1 3R
gl Bl

(d) 3feThieHT BB v &% T Upidd
e g |

Q.84. Fafefaa o Q $19 a1 9 garei & an
3N fezn T wHifad wear &2

1) <89 eId 9

2) TN Ed

3) PiRSITery §d

&), TE@IHYU §d

T f3u 71T Fis &1 ITEHT P Jat SR G-
(a) Pad 1,2 3R 4

(b) Pad 2 3R 3

(c) Pad 1,3 3R 4

(d) 1,2, 3 3R 4

Q.85. fAafafad sy R far +%:

1) 3fSHM 3R FPER EU THE 10°N I GRI
3 EId B

2) ISd Ud giul &1 Tad Sl UeTe! g

3) O P UHHT Wichd SATANIE! $ISHM 3R
RAeleR gu 998 ¥ fRa 3|

4) SIS 3R FPIaR giu I H 6! e
YTHIOT ST ¥ S ¢

IHSHM 3R FPIaR 51U 9g & Gay § HW

fau T foheq wy &L &

(a) HIA TH

(b) R gl

(c) ad o

(d) gt TR
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Q.86. Consider the following statements:

1) Viviparity refers to the property of the
mangroves which allows the roots to breathe.

2) Pneumatophores are related to the
reproduction of the mangroves.

3) Among the states, Gujarat has the second
highest area under mangroves in India.

How many statements are correct regarding
the Mangroves in India:
(a) Only one
(b) Only two
(c) All three
(d) None

Q.87. Consider the following:

Ocean Current Nature
1 Kuroshio Current Warm current
2 | Alaska Current Cold current
3 | Oyashio Current Cold current

How many pairs given above are correctly

matched:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.88. Which of the following statements, are

correct about the Gulf Stream?

1) It originates in the tropical Caribbean Sea:

2) It carries out more water than thesAmazon
River.

3) The heat from the Gulf Stream keeps:much of
Northern Europe significantly warmer.

Select the correct answer usingithe code

given below:

(@) 1 and 3 only

(b) 2 and 3 only.

(c) 1 and 2 only

(d)1,2and 3

Q.89. Which of the following statements is/are

correct about.the Labrador Current?

1) The LabraderCurrent is eold and has a high
salinity.

2) ltis limited'te,the continental shelf.

3) It originates at the Strait of Magellan.

Select the correctanswer using the code

given below:

(a) 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Q.90. Consider the following statements:

1) It deals with the regulation of all mineral
related resources activities in the open
oceans.
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2) The International Seabed Authority was
established under the United Nations
Convention on the Law of the Sea (UNCLOS)
Agreement.

3) India has not received any area from the ISA
for deep sea mining.

How many statements given above are correct

about the International Seabed Authority

(ISA):

(a) Only one

(b) Only two

(c) All three

(d) None

Q.91. As per the Koppen’siclassification of
Indian climate‘thetropical Savana type is
found in which among,the following places in
India?

1) Chhattisgarh

2) Jharkhand

3) Maharashtra

4) Karnataka

Choose the correctioption from the codes
givenbelow:

@l &2

(b) 1,2& 3

(c) 2,3&4

(d)1,2,3&4

Q.92. Consider the following:
1) Egypt

2) lIran

3) ltaly

4) lIraq

How many above given country /countries are
associated with river Tigris.
(a) Only one

(b) Only two

(c) Only four

(d) All four
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Q.86. Fafefaa syl W faar a3

1) SRIGSIT (Viviparity) &1 drcqd §91d & 39 107
2 N TSI B WY A BT A AT

2) IHAHRY AT & Yol J Taiferd g

3) oAl H, ORI YR B HWd & d8d gaRl qad
ST & 3

YR § 479 & dey A fraq Fy9 I8 &
(a) pad T
(b) R a1
(© Tt dH
(d) TT9 A PIs E1
Q.87. fFufefed = faar &3:
YRTY T
1 | PRARE URT TH YR
2 | 3ARPT URT dol 4RI
3 | SaTRE YR FRIRIR
SR T ¢ faq wite wet gaferd ¢
(a) pad TP
(b) Rk &
(© Tt de
(d) 3T Y B e
Q.88. Teh &I & IR ¥ Faferfad B8 #i9 a1
HYT TS 87

1) TGB! IR IUBICHNT PRI IR H Bicl
gl

2) UG 3AN ) B o A TFhSETH e

3) e WH@HTH STRHRIT B BifIH A e
B! BB THIGel 5

1 3T 71T S &1 SUHNT Fd Te SR G-

(a) pae MR 3

(b) PITA3R3

(c) Pad 1 3.2

(d) 1,2 3R 3

Q.89. AATSR YRT & IR # Fyfaf@a # 4 o+
/8 $YF Fel 62

1) ASTSR YRT S § 3R 38 3= qaUrdT g |
2) T8 HeTEUIg Yo aob & Hfd g

3) 3BT IGH A STasH=He I BT gl

= faT T PIs &1 ITIRT Hd et W g:
(a) Pad 2

(b) Had 2 3R 3
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(c) Had 1 3R 3
d) 1,233

Q.90. fFafafad Hya wR faaR &3:

1) I8 gd YRl & g Wi-rer deieh warem
nfafaftrt & fafram @ gafda g1

2) RIS Hisg rUTREl Bl RITGHT HYerd Y
DA% 3 & &l 3 & Al (AT SNT)
TS & I8d B1 Tl

3) TN TG H W B/ e1T HRA & MU
DIs &7 T8l e g

FaARHEd HageUTRd (IMETHT) & IR &

SR feu Tt frad Y= 9E &

(a) PAWD

(b) Ryt <l

© Tt dH

(o), T79 A BIs Tl

Q91. URHY, ST & HIW qDHRT B
SJARASYIHea I AT YHR HRd |
fFafafEa o F fora = wR urn S 82
1) BTG

2) FRTES

3) HeRIY

4) FHfed

1 fow T wis & A A8 fawew gA:

(@ 13R2

(b) 1,2 3R 3

(c) 2,334

(d) 1,2, 3 3R 4

Q.92. A W= foaR &3

1) o

2) M

3) gl

4) D

SR fr T fHam Awr/ex erg At A 98 &2
(a) HIA TP

(b) fab 3

(c) HId IR

d) I IR
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Q.93. With reference to the Predation in an

Ecology, consider the following:

1) Itis how nature distributes the energy fixed by
plants to higher trophic levels.

2) Predation also contributes to the preservation
of species variety in a community by reducing
the level of competition among the prey
species.

3) Predator could harm its prey if it is highly
efficient or exploitative.

How many statements given above are

correct:

(a) Only one

(b) Only two

(c) All three

(d) None

Q.94. Consider the following statements about

the Weichert-Gutenberg Discontinuity:

1) Itis located between the lower mantle and the
upper parts of the core.

2) At this discontinuity, the density changes
rapidly.

Which of the statements given above is /are

correct?

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q.95. Consider the following statements:

1) Earth's major earthquakes primarily eccur in
regions corresponding t@ithe boundaries of
tectonic plates.

2) The highest seismic activities are observed
along the Circum=Pagific Belt

3) The Circum-Pacific Beltis,responsible for
more thanalf of the world's earthquakes.

How many statements given abovesare correct

regarding the'distribution of earthquakes in

the world?

(a) @nlyrene

(b) Onlyxtwa

(c) Only three

(d) None

Q.96. Which of the following pairs of latitudes
and longitudes are parallel to each other?
1) Arctic Circle and Antarctic Circle

2) Equator and the Tropic of Capricorn

3) 0°longitude and 180° E longitude

Select the correct answer using the code
given below.

(a) 2 only

(b) 1 and 2 only

(c) 1 only

(d) 1 and 3 only
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Q.97. Consider the following statements:

1) Airplanes prefer to fly in the stratosphere to
avoid violent weather changes.

2) Jet Streams are beneficial for aviation and are
used commercially.

Which of the statements given above is/are

correct?

(&) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q.98. Which of the following statements

correctly describes the term river regime?

(a) Itis the dividing area between twe . rivers.

(b) Itis the pattermef flow of water in‘axiver
channel overia year

(c) Itis agraised landformiformed by a‘river near
its banks,due to'deposition of sediments.

(d) It refers ta'the origination or seurce of a river.

Q.99. Consider the following:

Statement-I: Young'Felded mountains are

formed due to the Divergence of tectonic plates.

Statement-lk, Collision of the Indian Plate and the

Eurasian Plate resulted in the uplift of the

mountain range, The Himalayas.

Which'one of the following is correct in

respect'of the above statements?

(a) BathyStatements-1l and Statement-11 are
correct and Statement-Il is the correct
explanation for Statement-I.

(b) Both Statements-I and Statement-Il are
correct and Statement-Il is not the correct
explanation for Statement-I

(c) Statement-l is correct but Statement-Il is
incorrect

(d) Statement-I is incorrect but Statement-Il is
correct

Q.100. Red and Yellow soils are widely

prevalent in the Deccan Plateau. With

reference to these soils, consider the

following statements:

1) They develop on crystalline igneous rocks in
areas of low rainfall.

2) The reddish colour of the soil is due to the
diffusion of Iron.

Which of the statements given above is/are

correct?

(&) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Q.93. TTRfRUfa®t ¥ wwuewr & dgy #, Fafafaa w

far o3

1) 39 USR Ypid dell gR1 Fuiid SHoil &l 3= gt
TRI I faaia st g1

2) WU FReR yefaal & S ufomyf & TR &)
DH B Y™ § gorfadl o1 fafaedr & dvamor o
ft g T 8|

3) Ife WReR Srafiies HRIe a1 =N ¢ ol 98 U=
RIHR & IHI Uga GHhdT |

FWR faE U fran $y= 98 §:

(a) Pdd Th

(b) Rk ar

© gt =

(d) $7H Y BIs 6!

Q.94. TR SRidddT & IR ¥ fFAufafad sy w
frarR a3

1) g8 F=e ded R HR & S Rl & ow R 2|
2) Y A R °d doit J Serdr 2

W AU TU sy § & B9 91/ 98 22

(a) Had 1

(b) Had 2

(© 13R 23N

(d) Fdr19dr2

Q.95. fFafafad wy= w= foaR &3:

1) G o TE YU BT U Y cacle Qe bl
TrArait & SgEy &3 7 gl

2) e 3ty yddtg Tifafafrar URlig dee o T ik
g

3) AT d 1Y ¥ SHiE Yh Ul e, [aT URNidhd T
SR B

fay o y&ul & facvu & e HSw Teau fea

HYT TG 87

(a) hAITR

(b) RIbGl

(c) Pad M

CIERERIER i

Q.96. Frafafea & & sigi=r 3R MR T S A1
SeT T oY & THHIGR 82

1) 3MTdhfed gl SR Sferdhied aa

2) YA @ 3R AHR 3@

3) 0° IRMeR 3R 180° d MR

i fau T Fis &1 IuAT FXb T IR A
(a) Pad2

(b) Hae 1 3R 2

(c) had 1
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(d) Pad 1 3R 3

Q.97. fFuafafad sy R foar +3:

1) T9UsS A9H URad-l ¥ ge & fofT gars SigTel
A Hed H 31 g Hd 3

2) e ¥ famra & forg wradde § iR g
TR IUTNT BT ST ]

SR 3T MU Sy § q 1 91/ 9 ¥

(a) Had 1

(b) Had 2

(© 18R 23Hl

d) Fdar19dr?

Q.98.fFafefad # | 1591 Fy= 7<) IMHT U BT

el qufq,&ar 82

(a) TS <Y sl & S faHTSD SRl

(b) T U a8 Had] ITQH UM $ UaTg b1 U 2

() T8 U S G- 3M1Hfa § ForrepT Fmior 7t &
f3-TRI & UM dASeid odId & HRUT g3 5|

(d). Te b 7 & IgH YT B! efid B 2|

Q.99. 578 TR fra®:

FYA-1: a1 aferd udd! o1 A0 Saeie wel &

{3 FBRU BT R

FHUT-IRATT We 3R R @We & Thia &

GRUTTRG=Y Udd e, feared &7 S gal

SR $YA1 & Gay § Frafifea § @ o a1 ud

a7

(@) BYA-1I 3R HYF-1l T TgT § AR HU-1I, HY-|
o1 TE AR B |

(b) BYA-1 3R HYF-1I G TET § 3R HYA-II, HYF-1 Bt
e ReT el ®

() PYF-1 el g Qe HUF-11 ToId &

(d) Y- TTAd g Afh HUF-11 Je1 8

Q.100. FF F TSR ¥ aret 3R el g surues

U A yaferd g1 39 st & T # Faferfaa syt

TR faaR &3

1) A HH o aral & 7 fbeea g Tgi R
3 fd 81 g

2) it &1 A T AR & TR & HRU ST |

SR 3T T Y= # § B9 /8 9d &

(a) Had 1

(b) Had 2

(© 13R23Hf

(d) Ad1Tar2
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¢ Introduction of Economics
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e Economic Planning

¢ Planning In India

e Economic Reforms

¢ Inflation And Business Cycle

e Agriculture And Food Management

¢ Industry And Infrastructure

e Services Sector
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Q1. With reference to the Gross Domestic
Product at Market Prices, consider the following
statements:

1. It is the market value of all final goods and
services produced within a domestic territory of a
country measured in a year.

2. It includes all production done by the non-
residents in a country if the production is owned by
a local company.

3. It excludes all production done by the residents
in a country if the production is owned by a foreign
company.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q2. With reference to the Goods & Services Tax
Council (GST Council), consider the following
statements:

1. The GST Council is a statutory body.

2. The Prime Minister is the Chairman of the GST
Council.

3. The decisions of the GST Council are made

by consensus.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q3. Which of the following best'describes the
key differences betweema Melt Down,
Recession, and Slow Down in,.an econemy?

(a) A Melt Downgis characterizedby,a rapidhand
severe decline in'eeconomicactivity, often leading to
financial crises, while 'a Recession is a prolonged
period of economi€ decline butinot as severe, and a
Slow Downyis a temperary. decrease in economic
growth.

(b) A Melt Down s synonymous'with a Recession,
both representing a sharp\but brief economic
decline, while a'Slew Down is a gradual and
prolonged decrease'in economic activity.

(c) A Recession is a sudden and severe economic
decline, while a Melt Down and a Slow Down both
refer to relatively minor fluctuations in the economy
with little long-term impact.

(d) A Melt Down is a term used interchangeably
with a Slow Down, both signifying a gradual
reduction in economic growth, whereas a
Recession denotes a temporary decrease in
economic activity.
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Q4. Consider the following statements
regarding the Chief Economic Advisor of India:
1. It is a post under the Department of Economic
Affairs, Ministry of Finance.

2. Its main role is to prepare and release the
Economic Survey ahead of the Budget every year.
3. It also compiles and releases monthly Wholesale
Price Indices.

Which of the statementsigiven above is/are
correct?

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only.

(d)1,2and 3

Q5. Whichramong the following statements with
reference to ‘Central Bank Digital Currency’
(CBDC) in Indialare carrect?

1. It is a legal tender issued by the Reserve Bank of
India.

2. It is sovereign currency in an electronic form.

3. It is exchangeable at par with cash.

Select the correct answer using the code given
below:

(a) 1 and 2 only

(b),2 and 3 only

(c)T-and 3 only

(d)1,2and3

Q6. With reference to the Indian economy,
consider the following statements about
‘crowding out effect’:

1. It occurs when the government increases
borrowing in order to meet its spending needs.
2. It leads to overall lowering of interest rates.
3. Itis a result of an expansionary fiscal policy by
the union government.

Which of the statements given above is/are
correct?

(@) 1 and 2 only

(b) 3 only

(c) 1 and 3 only

(d) 2 and 3 only

l|Page




MALUKA IAS

Q1. ITOIR Y&l IR & d U¥q 3dIg & Jei |
frafafRad sy w farR #3:

1. 9% U a9 & Aray T foredt 39 & e 8 & iR
Jafed it sifad axgelt Sfik Jarsft &1 IR g B

2. 300 frdt < o R-FaiRit gr far mar aut S
e g afe It &1 Wi ford RIg Ut & U
|

3. gfe Iaure fardl fadeh ot & it & € o 3w
fopalt d=1 o aTRal gRT fbT 7T qeit IeTe 1 =mfid
I8! fopar T 81

IRed A F fpaq vy T &2

(A) bad TP

(B) Had &l

(C) T gt

(D) I8 Tl

Q2. T Td |41 X URRUg (GST Uug) & HeH H,
Frafafed sy W faar «3¢:

1. GST URYE U du1fds AT §1

2. TYTFHAT GST uRue & 3remed |

3. GST IR & Thad 3iH IgHfd I 8ld B

IWRIT A F fraq sy 98 82

(A) el Ueb

(B) Had al

(C) T gt

(D) IS &l

Q3. Frufifad § @ Sadesd srferarn# A 6,
HidY} 3R WSS ¥ S UHE BidR] BT TG 3r53]
U P 8?2

(A) e B3 @1 faRme snffes fafaftrt st & ok
TR fRTae B, S SR faiia Tahe &1 HRUT o-dl &,
et Hdhsiiie TRIEE S us del @l 8, Afs Iait
1R el e SR Sdnsiidifce™ & teh srurdt et
gl

(B) Tee T3 HalieT Uaid g, &1 U oo aifeh T
3ifer fRTae &1 UfdiRfda ®Rd 8, Safe @i a3 onfife
A & U it SIRVTs THY I HHl 2

(C) Hel T 3 3R THR 3nfifes fiRTae g, Siafe det
3R el 1 QY srfeaw §f srieemd AN IAR-TIGTd
o1 Tefifd ra & e fefee gy w9 gl |

(D) Hee SIS g T TN Tl SIS & 1Y TR IYTRT
a1 ST 8, <t snfdfes faera & it sl dY ewfd &
Sefer w1t e Tifafafe & sreurh ot &1 axidi 21
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Q4. URd & &I 1w FaesR & day § Fafeafad
FYAI W R 3

1. U8 fo vamera & nfdfer Al & faumT & siaifd ue
Ug B

2. 39! BT YfHHT gR AT dolc ¥ ugad SNfie qderm
TIR BT 3R IR AT &

3. T8 AR Ui oo qadhics f Tahferd iR SIRY Frall
gl

SR 3T MU Sy § Q S 91/ 6 22

(A) Had 1

(B) Pad 1 37R 2

(C) Pad 2 3R 3

(D) 1,2 3R 3

Q5. URd ¥ Hea d& fefefed weat(cBDC) & Ha o
fFafafed # 3 o991 $UF I8 22
1.%&%%@6@@@%@@
s 'l

2. U8 3aae e U H Iy Ja1 g |

3. 98 Adhel & IR g arg B

i {3 ¢ ®Is &1 IUART Hdb Tl IR qA:

(A) PIAF D3R 2

(B) pag.2 3R 3

(C) Pad 1 3R 3

OP1, 2 3R 3

Q6. HIRAIY 3rfeqawyt & HeH , 'H1afE smae uvme
¥ IR § Fufafed sy w® faar #9:

1. J8 99 81T § OId IBR AT T BT ST=Ral Bl G
R & o IUR STl 2

2. 390 SO &I H IHT B 3T B

3. 98 $% WHR ®| [ARare! IS ¥ =ifd &1 giomy
gl

SR fou T HY= # | S 91/ 98 82

(A) FPad 1 3R 2

(B) B9 3

(C) Pad 1 3R 3

(D) Had 2 3R 3
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Q7. Consider the following statements:

1. The Directorate General of Hydrocarbons
regulates upstream activities in the petroleum and
natural gas sector.

2. The Petroleum and Natural Gas Regulatory
Board regulates petroleum and natural gas sector
for downstream activities.

3. The Bureau of Energy Efficiency is the sole
statutory authority with the mandate to regulate
energy efficiency on the consumption side as well
as the supply side.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q8. Which of the following industries occupies
the highest weight while calculating the Index
of Industrial Production (lIP)?

(a) Primary goods

(b) Intermediate goods

(c) Infrastructure/ construction goods

(d) Capital goods

Q9. Consider the following:

1. Sustainable Development Goals

2. Human Development Index

3. Poverty rates at international povertyline
4. Country quota formula

The concept of ‘Purchasing Power Parity’is
used in how many of the aboveycases?
(a) Only one

(b) Only two

(c) Only three

(d) All four

Q10. With reference to the National Investment
and Infrastructure Fund,(NIIF),consider the
following statements:

1. It has heen‘established as aguasi-sovereign
wealth fund.

2. It is eligible'for a pass-through status under the
Income Tax Act.

3. It is a banker of the,banker of the banker.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q11. With reference to the Economic Advisory
Council to the Prime Minister (EAC-PM),
consider the following statements:
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1. It is mandated to analyze all critical issues,
economic or otherwise referred to it by the Prime
Minister and advising him thereon.

2. Itis required to address issues of macro-
economic importance and presenting views
thereon.

3. It works closely with the Reserve Bank of
India on monetary policy and fiscal framework.
How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q12. With reference to,the ‘Fair and
Remunerative Price’ for sugarcanedrop in
India, consider thefollowing:

1. Return to the growers‘from alternative crops

2. Availability ofisugar to .consumers at a fair price
3. Price at which sugar produced from sugarcane is
soldyby sugar producers

4., Recovery of sugar from sugarcane
5.\Realization, made from sale of by-products

The ‘Fair and'Remunerative Price’ for
sugarcane crop in India is determined after
taking'into consideration how many of the
aboyve factors?

(a) Onlytwo

(b) Only three

(e)Only four

(d) All five

Q13. Which of the following is correct sequence
of events, in the context of economic cycle?

(a) Recession — Depression — Recovery —
Expansion

(b) Depression — Recession — Recovery —
Expansion

(c) Recession — Depression— Expansion —
Recovery

(d) Depression — Recession — Expansion —
Recovery
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Q7. Fafafad sy R faar &%

1. SIZSIbTa HRIHSRITE Ueifer™ 3R Uiepfad i & o
Y Tfafafirat &1 fFafa sar gl

2. USIferad 3R Ui T e aie SreT
Tfafafir & forg Ueifermm Sk urpfas i &3 &) afa
HRAT ¢

3. Sl G&aT &R ST quTe WieRur § forads urd
JUHNT Uef & TTY-T1Y 3MMYfd Uef TR SHoll Gerar o
fafafid w3 o1 siffpR 31

IR | A fraq $Y7 I 82

(A) Pad Ueb

(B) Had &l

(C) AT |a

(D) IS !

Q8. NP ITeT ISP (11P) P TUFT HIQ THY
fFrafafaa & @ $19 a1 a9 99 e wew
&

(A) TTYfHe axqy

(B) HeAa avqy

(C) Il e/ fAafor axqy

(D) YsitTTel oy

Q9. fFg R faaR #%:

1. 9dd faerg d&g

2. A4 fabr Yaswidh

3. SRIPH TRl ¥ R TRl &R
4. < & TG et B
IWRIad A A fpaa aval | g fe THdE &1
SGYRUN BT UGN fbaT SiTar 872
(A) bad TP

(B) Had &l

(C) pa@i=

(D) T TR

Q10. TP ek ST BV (NIIF) & e 7,
Frafafead sy WiER #3%:

1. 39 T& -0y et SIY & U & [T fovar T gl
2. 9% M ST & dgd -y R (Pass-through
status)%f%‘l'qqﬁ[%l

3. g8 SR BT SHR 3|

IR § A fHaq Hy= 98l &2

(A) HId TP

(B) Had al

(C) T gt
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(D) PIs 5l

%11, g B 3 snffe gamgeR ulkue (EAC-PM)

¥ e d Fafafee sy w faar +3¥:

1. 94w gR1 deftfa ot meayul gg), snfdfe ar s
&1 fIRATOT HAT 3R I W 3¢ Talg 1 SHard g

2. ATUH TS Hgd & g DI JAIT HRAT 3R 39 R

IR TR BT A &

3. I8 Mg i 3R ISP ¢l W YR Rerd §6 &
1Yy s S B 3|

SWRITd # § fPad Y= dete?

(A) hael Uch

(B) Had &

() Il et

(D) BIg &l

T12. YRd H T D1 HBId & forg 3fed iR arHa Ry
qoae HeH 7, Fafafeg «° foar a¥:

1. 9P fcIP YAl § IATEH! Bl 3R AT

2. SUMTGISAT PSR T R AT B Sudsdl

3. 98 He¥l o/ TR T ¥ Jafed A, = STl gRI
CEISISLE

4 TR 3 oty

5 3U-ITGl P It T U 3

YR ¥ T3 @ Bad & fore Sfud vd arvert ge/r

SR fFa FR®! 3 &= o v@e: Fuffya fear
ST 87

(A) HId &l

(B) dd oA

(C) Pad IR

() gt U=

Q13. e o & Geu A FafafRa A d s ar
g3l &1 TE HH 82

(A) Tl - gemd - Pt - Ifg

(B) HETHE! - Hal - wasl - IS

(C) Hel - HgrHdl - q@ -owpat

(D) HETHAI - Hel - gfg - AoHad
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Q14. With reference to the Agricultural Census
in India, consider the following statements:

1. The Agricultural Census is conducted every ten
years in India on the lines of regular Census.

2. The first Agricultural Census in India was
conducted with reference year 1970-71.

3. The Agricultural Census is carried out as a
Central Sector Scheme.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q15. Which of the following organisations
publishes India’s trade (export and import) data
in net dollar terms?

(a) Ministry of Commerce

(b) Ministry of Finance

(c) NITI Aayog

(d) Ministry of External Affairs

Q16. With reference to the “Functions of
Money”, consider the following statements:
1. It acts as a medium of exchange.

2. It acts as a hedge to preserve the purchasing
power against inflation.

3. It acts as a convenient unit of account.

4. It act as a store of value for individuals.

How many of the above statements arecorrect?
(a) Only one

(b) Only two

(c) Only three

(d) All four

Q17. Continuedghincrease in inflation combined
with stagnant demand and high‘unemployment
leads to a stage in the nation’s economy which
economists define,as:

(a) Stagflation

(b) Recession

(c) Depression

(d) Recovery

Q18. The Balassa-Samuelson effect in
economics suggests that:

(a) The optimal inflation rate for developing
economies is higher than it is for developed
countries.

(b) The optimal inflation rate for developing
economies is lower than it is for developed
countries.
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(c) The optimal inflation rate for developing
economies is equal to what is for developed
countries.

(d) None of the above

Q19. Which of the following correctly defines
relationship between the Gross Value Added
(GVA) and the Gross Domestic Product (GDP)?
(a) GVA = GDP + subsidies on products - taxes on
products.

(b) GVA = GDP - subsidies on products + taxes on
products.

(c) GDP = GVA + subsidiesion'products + taxes on
products.

(d) GDP = GVA = subsidies on products - taxes on
products:

Q20. Which'ane of thedollowing best describes
the term “Merchant Discount Rate”?

(@) The incentive given by a bank to a merchant for
accepting payments-through debit cards pertaining
tothat bank.

(b) The amount paid back by banks to their
customers whenithey use debit cards for financial
transactions for purchasing goods or services.

(c) The rate charged to a merchant for payment
precessing services on debit and credit card
transactions.

(d) The incentive given by the Government to
merchants for promoting digital payments by their
customers through Point of Sale (PoS) machines
and debit cards.

Q21. Currency notes and coins are called “fiat
money” because:

(a) They cannot be refused by any citizen of the
country for settlement of any kind of transaction.
(b) They do not have intrinsic value like a gold or
silver cain.

(c) They act as a medium of exchange.

(d) They have a legal tender backed by the
guarantee of RBI.
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U414, URA § HIY S0 & wed o, Fafafaa
FYI R faR w3

1. YRd # fFafird ST &1 asf 1R &R 58 uTd J $iY
ST AR Bt ot B

2. YRd ¥ ggalt HiY 01 e 9 1970-71 % Ay
Jmford &t s ot

3. BN TTUAT U Hord & Ao & T4 J BT St g
IWRIad A T fFaq U= 981 82

(A) el Ueb

(B) had &l

(C) <t gt

(D) IS T

vy 15. FafafEa # @ $19 91 T8 URT & AR
(Frafa sz smaTe) ST 7 Y STar & de A yw1iRE
P 22

(A) TS HATTT

(B) fad HaATe™

(C) tfar smamT

(D) fac=r HaTe

Q16. "HHt & BRI & Hed ¥, fAuafafaa syt
fraR #3:

1. 78 fafma & wrem & w0 & &1f HRdTgl

2. g GEIEpiTd & RIah oy fdd &I IR &3 & forg
19 P U H SR HRAT B

3. U8 WId & T AU IhTs dRed H B Hdhel
4. T8 ATl & 1T qru@@isR & SO H b B gl
IR A A fFaq HY= gl 82

(A) I Th

(B) Had &l

(C) Had o

(D) SHi@R

Q17. R A1, 3R I, SRR & 1Y gorewifa §
fRar i3 = ot srdorawun & te T RuT Ft R @
STelt & o sl 39 U R uRuifid #ed @:

(A) RIFARA

(B) Het

(C) HeTHd!

(D) Repast

W18, YR W FTARI-VYTATH YT Fara 2 -
(A) famra=ia srfeawrsel o fore IpdH garwifd
oo e 3= &t o o o1t g |
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B) famrasita srfegawusit & oW Syan garwifd &3
fapRid <= & goT A FH B

() famrofia srfegawuaft & forg gyan garwifa &)
I Tad i & IR B

(D) IWIad | I B3 g

wy19. Fafafea d @ o 9oa gea ai¥fa (Gva) 8k
Hd O SMIE (GDP) & S HaY Y gl &1 A
R Par 82

(A) GVA =SSt + JdTel B Hieha! - IdTGl )R H |
(B) GVA = Siteltl - TGl TR Mfeel + 3dal IR |
(C) TSIt = GVA + JE! TR IfTS! + I IR HR |
(D) SIS = GVA - FUTaI IR, Tioha! - Idial )R HR |

Q0. fFufafaad 9 FIH81 < "Hie feade Y
BT I 3T U, HIdAT 82

) 5 9 gRT fpateuRl sl 39 9% § Iefdd Sfse
BIS ByHTH T YT MR HRA & forg foam man
Uiere o

(B) SeR! GIRT STURBAIEH! ! axg3Tt a1 Jarsft i TRig &
fore fawiier @918 & fo Sfe H1S o1 IUTNT FRA WR AUy
YT Biars |

(©3fdie. IR Hge HTE AT W YA THwHR0T Yarsif
& for U Rt T <ff ST arelt &R

(DYETST 3HTH T (POS) AT 3R Sfde 1S & Hremw
YA ATEH! gRT FSRred Yira™ & agrar 3 & fog
HIIRAT DT TRBR gRI a1 71 Yiedrg=|

H21. gar el 3R Ryaw! &1 "fpue a-i w1 5 @
FfP:

(A) T & et 1 IR gRT 3% el 1t TR & aieH
¥ e & fore 9 =16t fopan o gpan B

(B) 37T T 1T =Tt & gy ST 3 YU Tt B
) 3 fafma & wem & U A o1 4 7

(D) 3% UM 3AREI3TS B! MR gRT JAfSd te -7t
el
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Q22. Consider the following statements:

1. A recession occurs when the economy continues
to grow but at a slower pace than usual for a
sustained period.

2. The term depression usually means an economic
downturn that is longer lasting and more severe
than the more frequently occurring recessions.
Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Q23. Consider the following statements:

1. Purchasing Managers’ index (PMI) is considered
as an indicator of the economic health and investor
sentiments about the manufacturing sector.

2. In a PMI data, a reading above 50 indicates
economic expansion, while a reading below 50
points shows contraction of economic activities.

3. For India, the PMI Data is published by Office of
Economic Adviser, Ministry of Commerce and
Industry.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q24. With reference to the ‘nudge theory’in
economics, consider the following statements:
1. Itis given by the economist Richard Thaler.

2. It has been awarded the,Nobel ecanhomics prize.
3. It recommends penalising people financially.f
they don’t act ineertain way.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q25. A country, will"experience imported
inflation if:

1. there is an increase in the price of imported
goods.

2. there is a decrease in the price of imported
goods.

3. there is a depreciation of the domestic currency.
4. there is an appreciation of the domestic
currency.

Which of the statements given above are
correct?

(@) 1 and 3 only
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(b) 2 and 4 only
(c) 1 only
(d) 1, 3 and 4 only

Q26. With reference to the ‘Global Indices for
Reforms and Growth (GIRG) Initiative,” consider
the following statements:

1. Under this initiative India’s performance on
various social, economic, and other parameters is
being monitored acrossa'set of global indices.

2. The Development Monitoring and Evaluation
Office (DMEO) monitors the progress on these
selected global indices across'States/UTs.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and2

(d) Neither 1 nor 2

Q27. With reference te the ‘Development
Monitaring and Evaluation Office (DMEO),’
considerthe following statements:

1. ltwas'constituted by merging the erstwhile
Program Evaluation Office and the Independent
Evaluation Office.

2ult is an attached office under the Ministry of
Finance:

Which of the statements given above is/are
caprect?

(a) 1 only

(b) 2 only

(c)Both1and 2

(d) Neither 1 nor 2

Q28. With reference to the ‘e-AMRIT
(Accelerated e-Mobility Revolution for India's
Transportation) portal,’ consider the following
statements:

1. It is the result of a joint initiative between Ministry
of Road Transport and Highways and the UK
Government.

2. India had launched the portal at the COP26
Climate Summit in Glasgow, UK.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2
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uy22. FafaRad 3 W farR 3%

1. 7l a9 Bl & 99 Srfora® st I8! § Afpd FRAR
3afey & foe g 9 i 1fa 91

2. AeTHd) Weg &7 31 AR R U U onfdfer wct g o
S G q% Fa aTell 3R SRR B arelt Het &Y ga o
3ff¥rep TR B B

SR U T HY= § A 19 9/Q 98 &2

(A) Had 1

(B) had 2

(€)1 3R 2 &=

D) Ta 1 3MRAE2

Q23. fFafefad Fy R faar 3

1. AT AoRf 29 (PMI) 1 fafafor @1 & R &
3 TRy 3R AT &Y Ha=Tsil BT Jbdad AT
ST |

2. PMI ST H, 50  FWR Pt A&7 snfdfer faar &F gwifch
®, S1d% 50 3 I 2 @) S snffes nfafafea &
Tgpad oI i g

3. YRd & ferg, pmi Set 3nffes gaedR wrafey, amftrs
3R I HATAT GRT UH11RId fbar S g1

IWRIT A J fraq U= 981 82

(A) Had TP

(B) Had al

(C) T g

(D) IS &l

UH24. YR § <11 Ry’ (Nudge Theory) &,
e #, e sy faar a3

1, 98 3l s dor gRI a1

2. 39 T S REBR YT ar Tang|
3. T8 ATl ) e U & < S 3A o1 RITINT Bl &
gfe 3 us fAfEd T T B 76l dRa 7 |
IRIgg@H fFa FUT Tgha?

(A) Had G

(B) Had &l

(C) T g

(D) IS T

uy25. feft 431 @1 smafora ErRwifa &1 3rgya g
gfe:

1. o awgaff @t Hid & IS &3 7

2. Jmafad gt @ eiad § St o B

3. TR H&T BT 3aHI 81 38T g

4 IR T B WG 81 KT 8

SR 3T T = A | B A9 @2
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(A) Pad 1 3R 3
(B) Had 2 3R 4
(C) Had 1

(d) Pad 1, 3 3R 4

U%26. "GUR R faprT & fore Ay gaai® (GIRG)
T’ & deu # Fafafee sy = faar #3:

1. 39 Ugd & dgd dfid Jadhich! & T Ic § fafid
oI, 3nffer SR g HiUEs! W YRd & U= &t
TR 1 ST T R

2. famr AR 3R Jeuidah G IIEE(DMEO)
ST/ YaRIL H &7 9 ary P QEmih B Wi
B! R B gl

SR REART Fy= A S/ TE.82

(A) Had 1

(B) pad 2

(€)1 3R 2 &=

O)F. 1 3R TS 2

y27. faom AR iR qeaie srafad (DMEO)'
¥ e A Fafeifga syt wr faar #3:

1. S 716 Ydad! HRisHH Hedic Hrafag 3R wWaa
i eraierd oI fiares foram mar 1|

2. Tgifaw Hoe & 31EfiF U Ia prted gl

SR 3T U HY= § A pi9 91/ a8 &2

(AT 1

(B) dd 2

(€)1 3R 2 g

)T 13RTE2

W28 '$-3MHd (HRd & Ulag & fig afva 5-
mfaferdt wifa) Néa & i 8, el s w®
farR a3

1. U8 Y% URde 3R ISR T 3R b WBR &
d19 U Tgad ugd &1 Ul g

2. YRd A b & AN I COP26 STaar] RIaR Ia |
UId o foram ol

SR U T HY= A § ®19 91/ 9E @2

(A) Had 1

(B) Hdd 2

(€)1 3R 2 gt

O)Td13MRAE2
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Q29. Consider the following statements:

1. India is a co-convener of the Glasgow
Breakthrough on Road Transport, together with the
UK and the US.

2. The Breakthrough on Road Transport aims to
make Zero Emission Vehicles (ZEVs) the new
normal by 2030.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q30. In India, a particular set of circumstances
have created an opportunity for accelerated
adoption of Electric Vehicles (EVs) over Internal
Combustion Engine (ICE) vehicles. Consider
the following statements in this context:

1. A relative abundance of exploitable renewable
energy resources.

2. High availability of skilled manpower and
technology in manufacturing and IT software.

3. An infrastructure and consumer transition that
affords opportunities to apply technologies to
leapfrog stages of development.

4. A universal culture that accepts and promotes
sharing of assets and resources for the overall
common good.

How many of the above statements arecorrect?
(a) Only one

(b) Only two

(c) Only three

(d) All four

Q31. With reference to the ‘Kaleshwaram Lift
Irrigation System,’ ,consider. theffollowing
statements:

1. It involves the States of Andhra Pradesh and
Telangana.

2. It includes‘the, longest tunnel to*carry water in
Asia.

3. The source of the watet in this project is the river
Godavari.

4. It is included under the National Projects scheme
of the Jal Shakthi Ministry.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) Only three

(d) All four
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Q32. India has offered assistance for ‘Rhi-
Tiddim’ road development projects to build
physical connectivity with Myanmar adjoining:
(a) Manipur

(b) Mizoram

(c) Arunachal Pradesh

(d) Nagaland

Q33. The National Intellectual Property
Awareness Mission (NIPAM) is an initiative of:
(a) Ministry of Finance

(b) NITI Aayog

(c) Ministry of Commerce andilindustry

(d) Ministry of Science and Technology.

Q34. With reference to Super VasukKi recently in
news, which of the following'statements is
correct?

(a) The longestiand heaviest freight train ever run
by the Railways.

(b)ndia’s first commercialflex fuel vehicle.

(c) A“hydrogen-fuel based public transport bus.

(d) Indigenously designed and developed anti-
personnél mines:

Q35. With reference to term ‘Shrinkflation’,
which of the following statements are correct?
1. s\ when a product downsizes its quantity while
keeping the price the same.

2. It deceives consumers into believing that the
brands they buy are not affected by inflation.

3. It occurs when a product removes some
ingredients while maintaining its price.

4. It makes it more difficult to accurately measure
price changes or inflation.

Select the correct answer using the code given
below.

(@) 1 and 3 only

(b) 2 and 4 only

(c) 1, 3and 4 only

(d1,2,3and4
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ug29. AR Y= W faR 3%

1. YRd gob 3R JUI & WY e T8 ukagd R
AR Sy T J§-ToIh ¢ |

2. T8 URGE R NH3Y HT A& 2030 I T S0
el (ZEVs) DI IHHI ST |

SR T T YA & P A1/ w2

(A) Had 1

(B) ad 2

(€)1 3R 2 3

D) Ta 1 3R 2

Q30. ¥R ¥, uRfRufodi & v faxiy ayg 7 sriafve
S8 $91 (ICE) aTe+l $1 g1 § gaifage areHl (Ev)
P dolt A UM FT a0 Va7 fhar 81 59 we o
Frafafa sy w® faar a3

1. Qg AR TAIHRON Sl GaTeH! ST AT9E TR

2. fafmfor SR oSt AireamR § HRIa S=Ifd 3iR
MAND! B I= ITARIT|

3. U& TSt oram 3R SUHIaT ShHur o fasr &
BN A aTet IRON H TNl B di & & AR
U IR g

4. U% Qravifies TR S TeT T HaTs & fore Tufy
3R TETYAT P FeaR Bl WHR Bl § 3R g¢ra Sal gl
IR | A fraq $Y9 T 82

(A) Had T

(b) ad &l

(c) had A

(d) gt IR

Q31. 'FrAyRH e Riars gurel dEc #,
fafafag sy R 7%

1. 390 3fiY TR SR ToT B &

2. 399 ARIT H U e ST it Tam, det g off =nfira
gl

339 uRaioHnE UL Jid Merad 7 21

4,38 S ek HelleTd b1 AP RIS AreiT & S
e fopam T g1

IRF H A fHaq HU= 98l &2

(A) Had T

(b) Had &l

(c) pad d

d) gt IR
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SAMPLE TEST 2 (QUES)

UY32. R 3 USRI "R & 91y Hifae dud g9
¥ fou §-fefew Tso faery ufvaiersi & forw
HETqdT B IS P &

(A) AR

(B) feiR®H

(C) 3R U=

(D) ATTICIS

T%33. P NG Hugl S R=®a1 f2 (NIPAM)
% U5d &

(A) fa1 darera

(B) i SmaT

(C) TSy 3R S HATY

(D) fam SR M=t wame

UY34. T4 6 § Wzl | g guR agdt & "o 7,
fFafafaa @ Q@ ST aLHYT e 82

(A) Y&, GRT IATS T8 eGP B! Gad dalt 3R WY
eS| |

(B) WXl @I U el G UIode Uil U aTeH |

() TP BIS SIoH-38 SR TSI URag a9 |
(D) WY T fEois 3R faefa th-a1fie wem|

u%3s5. Tps qarwifa’ (Jewrse) U< & Jey 1,
FERfRT i AP A FUA T &

1. 9% T4 BId1 ¢ 914 B3 IMIG DT B THM 3@ gU

3{Ot HET HH PR T |

2. g8 Juriiadrell &1 g fayma fearey diar aar ¢ & S
§Te 9 Wiied &, 3 GERwifa I guifad =gt gid 8

3. I8 9 BT & 9Id Bl TG SO HIAd 1Y 1@ gU
TS A BTl &l 3

4. THY I URGcH 1 GERW I &1 9cidh ©U I AT

3 Hfe g1 o 3|

i fiT T Fis &1 T FXb T IR A

(A) Had 1 3R 3

(C) Had 2 3R 4

(C) ®ad 1,3 3R 4

D) 1,2 33R4
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Q36. Which of the following are among the
components of the Digital Agriculture Mission
(DAM)?

1. India Digital Ecosystem of Agriculture (IDEA)

2. Farmers Database

3. Unified Farmers Service Interface (UFSI)

4. National E-Governance Plan in Agriculture
(NeGPA)

5. Revamping Mahalnobis National Crop Forecast
Centre

Select the correct answer using the code given
below.

(@) 1, 2 and 3 only

(b) 1, 4 and 5 only

()1, 2,4 and5 only

(d)1,2,3,4and5

Q37. With reference to the ‘Agriculture
Infrastructure Fund (AIF)’, consider the
following statements:

1. Itis a Centrally Sponsored Scheme of the
Ministry of Agriculture.

2. It aims to attract the private sector investments in
areas of post-harvest management.

3. Interest subvention and financial support through
credit guarantee are important features of this
Fund.

How many of the above statements are correet?
(a) Only one

(b) Only two

(c) All three

(d) None

Q38. With reference to the ‘Price Stabilization
Fund (PSF)’, consider the following statements:
1. Itis implemented by the Department of
Consumer Affairs (ROCA) as,a CentrahSector
Scheme.

2. Apart from domestic'procurement from
farmerS/whelesale mandisimportimay also be
undertaken with,support fromithe ‘Fund.

3. The meeting of Price Stabilization Fund
Management'Cemmittee (PSFMC) is headed by
the Union Agriculture Minister.

How many of the'above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q39. The Bharat New Car Assessment Program
(Bharat- NCAP) seeks to accord vehicles a star
rating. It is based on which of the following
parameters?
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SAMPLE TEST 2 (QUES)

(a) Fuel efficiency of the car.

(b) Greenhouse emissions of the car.

(c) Performance in crash test of the car.

(d) Green-material sourcing of components of the
car.

Q40. With reference to the ‘Solar Energy
Corporation of India Limited (SECI),” consider
the following statements:

1. It is a CPSU under thes@dministrative control

of the Ministry of Power.

2. Itis the nodal agency to implement both the
National Solar Mission and 'Selar Parks Schemes.
3. The mandate ofithe company is restricted solely
to the solar energy, Secteor.

How many of the'above statements‘are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q41.-With reference ta'the recently launched
‘National Logistics Policy,” consider the
following statements:

1. It has'been formulated by the Ministry of Road
Transport and Highways.

2alt has'been launched to replace the PM Gati
Shakti National Master Plan (NMP).

Which of the statements given above is/are
carrect?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q42. With reference to ‘National Productivity
Council (NPC)’ of India, consider the following
statements:

1. It is a statutory organization under Department
for Promotion of Industry & Internal Trade.

2. The Union Minister of Commerce and Industry
acts as its President.

3. It is a constituent of the Tokyo-based Asian
Productivity Organisation (APO).

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None
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uu36. Fafafaa & @ $i4 fefea iy fire= (DAM)
FUCHI AT E?

1. YRd feforea Y uifRufast 3 (3mrEdisy)

2. fam e

3. THIpd fhaT Hal SeRBH (JUHTHSATS)

4. BN H AT S-G9 IS (TFSOIUIY)

5. HeaHITog AP BHA YagaH Hg T TTRaR
i foT ¢ His &1 IUART FRP T IW G|
(A) Pad 1,2 3R 3

(B) Pad 1,4 3R 5

(C)Fad 1,2, 4 3R 5

(D) 1,2,3,43R5

U437, '$IY AT BV (AIF)' & deH #, Fafefaa
FY R faR w8

1. 98 SN TATT B T Hg TfoTd are1 |

2. TP 3530 HUd Hels & §I¢ Uae= & & § fAsht &
& Az & e fia T B

3. STl Be 3R shfee MRE & wreaw ¥ foxfia werar 39
U8 & He@qul faRieans 1

IRIad | 9§ fpaq vy I &2

(A) Had T

(B) Had al

(OKIBIKE]

(D) IS &l

%38, g fRIEIHIU HIY (PsF)' Bwie o, Fafafad
FYEI R faaR a3

1. g8 IUHIS A fAUFT(DOCA) ERT e Te &
g # sffad fea mar gl

2 [l e Hf STl Mer Tie. & SfardT, e & qrd-
J 3mard ot fpar ST Ewang |

3.0 fRBGRU H1Y Yee WA (RSEMC) HT 93 i
SeTET Rl v T HRA 5 1

IRIed & A fpa Bud el &2

(A) el Ueb

(B) Had &l

(C) T g

(D) IS 6!

Q39. YRd Y R ATHE TR (HRd-TTHTh
Il DI WR I AT Argar 81 98 Fufafea 9
frg Irier R smutia 82

(A) PR BT SYT &l

(B) R HT U8 I |
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SAMPLE TEST 2 (QUES)

(C) PR & Y ¢ H UexH|
(D) PR & Teh! ot UH-Heiad TiRf

Q40. "HIeR TSl STURRE 31w sfear fafies (secy
& deu # Fafufee 3= w far +%:

1. g faqgd Haarea & uRmafAs fAd=01 & dgd Ue CPsu
gl

2. % TP IR R SR AR U1 a1 aro1sii Bl an,
B arell e ol B

3. HUHT BT HYSY Had R, S0l & b & T g
SWRIad # | fhad $U= Gl e?

(A) hael Uch

(B) Had &I

(C) <t gt

(D) BIg &l

Q41. BT g1 & di-d WIS AEH 390G (@1 )
Aifoss, deo #, fFaffes sy= wR faar a3

1,39 JSHh URag 3R ISHRT HAag gRT aaR farar
gl

2. 34 YITH Tl ik AP AR W (TTTHUT) DY Feer
¥ fore o fpar mar g1

SWIRT U HY=1 § A B 91/ T8 &2

(A) Had 1

(B)ehad 2

Q) 1 3R 2 g+

(D) T 13RI 2

Q42. HRA $1 ITEN IATGHdT URYG (NPC)' & HaH
#, frafafad sy w faar &9

1. T8 IGNT 3R 3fidfkes IR Yadq fIurT & dgd U
TS T B

2. 4T T Ud INT At 30 S1egef & U H &1
GG

3. 98 i) FRyd RIS Idgdhal TS (APO) &1 U
I gl

SWRiad # 9§ fpaq y= I &2

(A) ol Ueh

(B) Had &I

() <l wel

(D) IS Tl
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Q43. With reference to the Index of Eight Core
Industries, consider the following statements:
1. It is a monthly production index.

2.1t has 2011-12 as the base year.

3. Itis compiled by the Central Statistics Office.
How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q44. Which of the following are among the
examples of the Small Savings Schemes
(SSSs)?

1. National Savings Certificates

2. Public Provident Fund

3. Sukanya Samriddhi Account Scheme

4. Kisan Vikas Patra

Select the correct answer using the code given
below.

(@) 1 and 3 only

(b) 2 and 4 only

(c) 1, 3and 4 only

(d)1,2,3and 4

Q45. Consider the following statementss
Statement-I:

Headline inflation is more relevant for, developing
economies than developed economies:
Statement-II:

Headline inflation is less volatile than the core
inflation.

Which one of the following is correct in respect
of the above statements?

(a) Both Statement-I and Statement-II are,correct
and Statement-lhis the correct explanation for
Statement-I

(b) Both Statement-Fand Statement-Il are correct
and Statement-II iS notithe correct explanation for
Statementzi

(c) Statement-his correct but Statement-11 is
incorrect

(d) Statement=his incorrect but Statement-11 is
correct

Q46. The term ‘net international investment
position’ is used frequently in which of the
following areas?

(a) It is a measure of net foreign investment in
India.

(b) It is a measure of net Fll outflows from the
Indian stick market.

(c) Itis nation's balance sheet with the rest of the
world at a specific point in time.

MALUKA IAS — NEW DELHI, BATHINDA, CHANDIGARH, PATIALA - 9910133084

SAMPLE TEST 2 (QUES)

(d) It is net investment by Indian
government/residents in foreign currency bonds
and other assets in foreign land.

QA47. With reference to the Vibrant Villages
Programme frequently in news, which of the
following statements is correct?

(a) Developing one village per district based on
their handicraft export potential.

(b) Opening up the villagesialong the Chinese
border for tourists.

(c) Model villages with 100% tap water under the
Har Ghar Jal Abhiyan.

(d) Villages associated with traditional knowledge
which can be expleitedifor biodiversity
conservation.

Q48. With reference‘todthe recently launched
‘Credit Guarantee Scheme for Startups (CGSS),’
consider the following statements:

1. Inis an initiative ofithe Department for Promotion
of\Industry and InternalTrade (DPIIT).

2.\lts objective is to mobilise foreign capital for
Indian startups.

Which of the statements given above is/are
correct?

(2),1 only

(b) 2“anly

(c) Both 1 and 2

(dpNeither 1 nor 2

Q49. Which of the following are among the set
of High Frequency Indicators (HFIs) used by the
Indian Government to gauge the underlying
state of the economy on a real-time basis?

1. Electricity generation

2. Scheduled domestic flights

3. Volume/value of financial transactions

4. Employment demanded under MGNREGA
Select the correct answer using the code given
below.

(@) 1 and 3 only

(b) 2 and 4 only

(c) 1, 3and 4 only

(d)1,2,3and4
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Q43. 3178 TIE I & gawie & e o, frufafaa
FYE R faR a3

1. 98 T AN Idled JaH1® g

2. 3P YR T8 2011-12 B

3. 39 Hoy Tikge! HATad gRT Yobierd fhar SidT g1
IRIad A 9§ fpaq vu= I &2

(A) Had TP

(B) Had al

() il et

(D) IS 78T

wy44. Frafafaa & ¥ 19 ag gaa aeAei
(THTHYH) & IETEX0N H 9§ 2

1. ST I JHTO

2. grduie Higw fAfY

3. g1 qgfg @11 gror

4. foaH fae™ o=

1 fow T Hie &1 IUEHT FRP TG FW T
(A) Had 1 3R 3

(B) Ha 2 3R 4

(C) Pad 1, 3 3R 4

(D) 1,2,3 3R 4

uy45. fFafafad sy = R #3:

FY-1: TSARH GERWITd (A Ria sricaenéi &1 o
H fapraeia srforawimsit & o @iftie urifiies gl
BYA-1I: BSATS IR ITd, 7 aRbITd St g1 Hhiod
SRR B

IRIad HYAI F Fay A e o Q Fi9. 91 98ha?
(A) BYA-1 R HYF-1l T Teha MR BY-1| YA &
fore Ot wierorg

(B) HYA-1 3R HY-I\ QI Te! € SR BU-Il, HY-1 P
foQ TR Tl g

(C) HYT-1 ot gidl[pT HY-11 Tad &

(D) BY-| TGS b, DUT-11 Jol s

Qa6. & RTgia faw fRufar 2reg &1y
fFrafafea # & foa g & s far siran 82

(A) T8 R & Y fac=h Fow &1 16 I g

(B) I8 YRAIT €& SoIR ¥ Y& FIl Sfgale &1 U I
gl

(C) I8 U AR 90y R W 9y & AU S &1 iy e
gl

(D) I8 HRd WHR/MarRat gr1 faceh ga1 af sk
faesht yftr & o Juftal & g Faw 21
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Q47. ARR @R A 7§ aTd agdc fadeis dripH &
e &, Fafafaa d @ o9 a1 oY= udt 22

(A) g fafd &mar & SmuR WR ufd f5rd e g &1
famr g S

(8) Wiew! & forw =t der & urg & Tidl &) @i

(C) B IR 9 I & d8d 100% T & U dTad Aled
gl

(D) URURS I ¥ TS Mg T IuaNT Sid fafaerdr
TRefur & foru forar o ghare |

U%48. BT 81 H QAl=e] 18 'wIe3MU & o pfse
MR T (CGSS)Ld HaH #, Fufafad sy =
ICEIRE:TH

1. I8 I SRS{TARD SFAR T3 faHTT (DPIT) BT Th
U8 5

2,3 IR HRAT I forg fae=h Uit Ser 31
S0 foT 1T HY= § BT 91/ T8 82

(A &Had 1

(B) hgdl,2

(€)1 3R 2 T

D) TR TS 2

Q49. AP THY & ATYR WR a1 $1
Jafifed fRufa &1 smepad w31 & T URdT PR
ER1 IUANT fHT A1+ arat 3= SAGHRI AHdd (HFI) &
worelt # @ P a1 fFufiafaa 7 9 e @2

1. faggd Ia@re

2. fAyifva N IeH

3. fa<itg e &t 7R/

4. TR & I8 AR BT JIT

i fau ¢ ®is &1 IUART Hd T SR g |

(A) Pad 1 3R 3

(B) Had 2 3R 4

(C) Had 1, 3 3R 4

(D) 1,2, 3 3R 4
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Q50. With reference to the Prime Minister-
Formalization of Micro Food Processing
Enterprises (PM-FME) Scheme, consider the
following statements:

1. Itis a centrally sponsored scheme under the
Atma Nirbhar Bharat (ANB) Mission operational
over the period 2020-2025.

2. It is being administered by NITI Aayog to ensure
increased women workforce participation in food
processing sector.

3. Under the scheme, One District One Product
(ODORP) status is provided to support Micro Food
Processing Enterprises.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q51. With reference to the Pradhan Mantri
Kisan Urja Suraksha evam Utthaan Mahabhiyan
(PM-KUSUM), consider the following
statements:

1. It not only provides for the setting up of
standalone solar powered agriculture pumps but
also solarisation of existing grid-connected
agriculture pumps.

2. RBI has included the components_of the Scheme
under Priority Sector Lending Guidelines for easing
availability of finance.

Which of the above statements is/are corkect?
(@) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Q52. With referenee to the Pradhan Mantri
Kisan SAMPADA\Y@jana (PMKSY), consider the
following statements:

1. It is@ central sector scheme being implemented
by the Ministrysef Agriculture and Farmers Welfare.
2. Mega Food Parks; and Operation Greens are
sub-schemes‘under PMKSY.

Which of the above statements is/are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q53. National Animal Disease Control
Programme aims to control and eventually
eradicate which of the following diseases?
1. Rabies

2. Anthrax
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SAMPLE TEST 2 (QUES)

3. Foot & Mouth Disease

4. Brucellosis

Select the correct answer using the code given
below.

(@) 1 and 2 only

(b) 3 and 4 only

(c) 1, 2 and 3 only

(d) 1, 3 and 4 only

Q54. Amid Covid and glebal supply chain
disruptions, the government used 'Barbell
Strategy' by providing:

1. Safety-nets to, cushion‘thelimpactien vulnerable
sections of society/business.

2. Flexible policy‘response using real-time
informatien to implementthe most forvard-looking
option available.

Which of the above statementsiis/are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d). Neither 1 nor 2

Q55.. Cansider the following pairs:

Ministry Portal

1. Udyam A. Ministry of Labour and
Employment

2. E-shram B. Ministry of Micro, Small and
Medium Enterprises

3.”National C. Ministry of Education

Career Service

4. ASEEM D. Ministry of Skill

Development

How many pairs given above are correctly
matched?

(a) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All four pairs
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Q50. TUT HAY-Y&T @Te] THHRUT SeH
NS0T (TH-THTHS) FioT & Hef |,
FrafafaT sy w far +3%:

1. T8 2020-2025 &1 3rafy § Fenferd Smeafk 4Ra
(T FIRM & I8d T o Uraiford arer g |

2. T VXU & H Afgel dRigd & ggdl URTGRT
AT B3 & forg 39 A ST gRT u=miia fovam o
R

3. OIS & T84, Y& W1 TRRGRU1 IHI I 9Hd 31 &
fore wep fS7e U I (ODOP) &1 gt UeH faar SiTa
gl

IRIad | 9§ fpaq vy I &2

(A) el Ueb

(B) Had &l

(C) T gt

(D) IS T

Q51. WU Hl fFaT et YR& vd I HeTfHa
(Wea-gm) & deu ¥, Fufafe sy= w far a3
1. 98 1 Had WSIEH IR Sl Farferd HY gt &
RITYAT BT UG FHRT § Siedh Aolal e I IS HiY gtk
& Orifenvur &1 +f UTaUT B gl

2. R3S 3 fIT Bt SUTHAT BT 3T T b g
TS & Y] ol UTfiedr &= Hu fexffHesn & dgd
it fopan B

SRS & & P 1/ YT TEe?

(A) Ha 1

(B) Hdd 2

(€)1 3R 2 T

(D) T a1 3R T g2

Q52. YUTHE! frare WUt FisiHr (PMKSY) & deH #,
FrrafafEe sy w R &

1. 98 PIY8d 1M HIvT TAGE GRT Hf-ad i o
I T Hoidied dhaishe |

2. T B8 UTdh 3R, AT H=T PMKSY & g IU-
TS B

SRIF § § 1 G/ 6yd 98 22

(A) HA 1

(B) Hdd 2

(€)1 3R 2 T

(D)l 1R8N 2
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Q53. WP g INT Fordaror srdepy o1 wed Fafafea
H A forg THr &) fifaa & R sida: @ &T
&

1. 3&ST

2. Wy

3. GRUSDT R HgUHT I

4. JEART

1 fiE T Fis &1 T HXd T IR A

(A) FPad 1 3R 2

(B) Had 3 3R 4

(C) Had 1, 2 3R 3

(D) Pad 1, 3 34

UY54. Hifas 3R 3w smyfe Yaarerasi & i,
WHR 1 FafefEd uem@Rd dRed oA BT
IUarT

o THTS/TAYTT & HHEIR JLIR THTG BT HH HA B
TeTT FRé&T ol |

2 QU o gre ¥l fadhed & AN HA & oY arafasd
A B ST RIS STUT HRP Agia it Ufafepar g1

SR A T SI9 H1/4 HYF T 82

(A) HaA 1

(B) a2

(C) 1 3R 2 T

YT 1 3RTE 2

gys5. frafafaa sifsal R farR a3

AT gR

1. 399 A. 9H 3R ISR HATT

2.3-9M B. &, Y 3R AT 30
EEISR)

3B SRR FAT | C. R Hzmera

4. 3 (ASEEM) D. I fapr HATTd

S fou M fram IS O gafma &2

(A) Pael T Sl

(B) Had gl SIS

(C) S i Sitg

(D) 94t IR SIS
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Q56. With reference to the Universal Service
Obligation Fund (USOF), consider the following
statements:

1. It has been set up for improving telecom services
in rural and remote areas of the country.

2. Itis a lapsable fund and credits to this fund
require fresh parliamentary approval every year.

3. Itis a statutory fund created under the Ministry of
Rural Development.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q57. With reference to the Ken-Betwa Link
Project, consider the following statements:

1. The proposed link envisages diversion of surplus
waters of Betwa basin to water deficit Ken basin.

2. The link aims to help irrigate the drought-prone
Bundelkhand region and the adjoining areas.

3. The project involves deforestation of a portion of
the Panna Tiger reserve in Madhya Pradesh.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q58. With reference to the health sector in
India, consider the followingystatements:

1. Ayushman Bharat Health Infrastructure Mission
has been initiated as a Centrally Spensored
Scheme.

2. National Health Policy. 201 7aims toincrease
government’s health expenditure to,2.5 pereent of
GDP by 2025.

Which of the above statementsis/are‘correct?
(a) 1 only

(b) 2 only.

(c) Both'l:and 2

(d) Neitherlinor?2

Q59. The construction of'new All India Institutes
for Medical Science(AlIMS) is undertaken as
part of which of thefollowing initiatives?

(a) Ayushman Bharat Pradhan Mantri Jan Arogya
Yojana (AB-PMJAY)

(b) PM-Ayushman Bharat Health Infrastructure
Mission (PM-ABHIM)

(c) Pradhan Mantri Swasthya Suraksha Yojana
(PMSSY)

(d) None of the above
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SAMPLE TEST 2 (QUES)

Q60. Which of the following schemes/programs
are part of the Skill India Mission?

1. Pradhan Mantri Kaushal Vikas Yojana (PMKVY)
2. Jan Shikshan Sansthan (JSS) Scheme

3. National Apprenticeship Promotion Scheme
(NAPS)

4. Pradhan Mantri Dakshta Aur Kushalta Sampann
Hitgrahi Yojana (PM-DAKSH)

Select the correct answer using the code given
below.

(@) 1 and 3 only

(b) 2 and 4 only

(c) 1, 2 and 3 only

(d)1,2,3and 4

Q61. Thegperformance ofithe States for
additionalborrowing againstipower sector
reforms is evaluated on whichaf the following
parameters?

1. Percentage of metered electricity consumption
against total energy consumption

2.,Subsidy payment by ‘Direct Benefit Transfer
(DBT) to consumers

3. Percentage ofielectricity bought from the rooftop
solar'energy generation programme

4. Payment of electricity bills by Government
Departments and local bodies

Select the correct answer using the code given
below.

(@)1 and 3 only

(b) 2 and 4 only

(c) 1, 2 and 4 only

(d)1,2,3and 4

Q62. Which of the following have been
identified as engines that will drive PM Gati
Shakti - National Master Plan for multi-modal
connectivity?

1. Airports

2. Mass Transport

3. Waterways

4. Logistics Infrastructure

Select the correct answer using the code given
below.

(a) 1 and 3 only

(b) 2 and 4 only

(c) 1, 3and 4 only

(d)1,2,3and4

17| Page




MALUKA IAS

Q56. IRaUd A4 SATRARE BS (USOF) & He ,
fFrafafad sy W foar +3:

1. TP WITYAT G/ P AT 3R GRETS & SaATh! o
IR Jaraii # GUR F R 18 2|

2. U8 Us uid A § oiR 39 fAfd o hfee & Rwex
T 18 T Tl d1 Ml gl g

3. g T 3T AT & ded 1T T U auTd
PRI

IWRIad A T fFaq sU= 981 82

(A) Had TP

(B) ol &

(C) T g

(D) IS T

Y57, HA-ddar foie ufvaeHr & e o Fafefaa
FYAI R faaR a3

1. gaTiad fofes o ddar aRE & SIfIRIY ofd &1 urt &t
FHH I B IRF H Hig Bt IRBeuT H1 T B

2. 39 i 1 I QIR T2 aaUsS & 3R U &
& &1 Rifd o1 # Ao 1 8|

3. 39 URASHT § e U R H U ers'R Roid & te fosd
B a1 Pt PeTs WA B

IWRITd A F fHaq Y7 91 &2

(A) el Ueb

(B) Hhad &l

OKIRIEH]

(D) IS T

Y58, YR | Wred &4 & g A Fafafea syt
TR AR &

1. SIS HRA TR TG R s Ui
TISHT & T H YRS (el 1 3 |

2. P T il 2017 BITIE 2025 b TRDR b
W GG BhThd TR IUTGDT 2.5 YiAa=Td ddb dgIHl
H

SWRIT # | B q/A DU TE 22

(A) Had 1

(B) had 2

(C) 1 3R 2 T

O)Fdr13RAg 2

Q59. 71T SR URHT SMfIFT | (TRT) FT
fomtor fFafafea & @ fow wsa & R & wu o foan
T 8?7

(A) STI HRA TUTTHAT S 3R AISHT (AB- PMJAY)
(B) UTTH- ST YR 8 SWRETR fIRA (PM- ABHIM)
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SAMPLE TEST 2 (QUES)

(C) TYT T TR YRET AISHT (PMSSY)
(D) IR & T s gl

Q60. fFafafad & & ®19 At g /eriwa Piee
YRd forme &1 fgwar 82

1. TUTTHAT PR fIBT TS (PMKVY)

2. 5 FR1&01 IR (JSS) IS

3. PN Rggan Fae= drer1 (NAPS)

4. TYUTH G SR FRIGA S fFaume! asHT (PM-
DAKSH)

1 AT T Fis BT ITUNT b Aol 8w I |
(A) I 1 3R 3

(B) Had 2 3R 4

(C) Had 1,231 3

(D) 1, 2, 3 3% 4

Hg61. faorell g A PURT & favg st IuR aA &
ferewsal & uexle &1 geuie- fRufafaa 3 | fra
R R fFHar smar 82

1. P8 Sl WY THTEd Hics faoial @Ud &1 Ufa=a
2. IUYIGA13T BT T ATH 3R (DBT) GRT Aioda!
YA

3BEIR AR Foif IdTe BRIpH J WIS TS faoielt &1
gfa=rd

4. FRHRY faurT wd wirg Fert grT fose f9d &1
Y

2 fou T ®is &1 ITUNT b TE IW gH |

(A) Pad 1 3R 3

(B) Had 2 3R 4

(C) Had 1, 2 3R 4

(D) 1,2,3 3R 4

uge2. Fufafaa d @ fFual rgam sA oA s =u
P S € o frew nfa ufe - aed)-Asd sAfeefad &
fore wfta AR Wi &Y Hafera S

1.8a15 313

2. 9 gfagd

3. AT

4. 3G (QTioTRed) SfaiRaHT

1 far ¢ ®is &1 IUART Hb TG SR g |

(A) Pad 1 3R 3

(B) Had 2 3R 4

(C) Had 1, 3 3R 4

(D) 1,2, 3 3R 4
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Q63. The Indian Railways aims to bring 2000
Km of railway network of India under Kavach.
Which of the following statements about
‘Kavach’ is correct?

(a) It is a route devoid of any man-held crossing
system.

(b) It is an anti-collision device (ACD) network.
(c) It is a green route where trains run only on
CNG.

(d) It is a network where trains run at a minimum
speed of 100 km/hr.

Q64. In the context of infrastructure
development in India, which of the following
have been correctly matched?

1. Sagarmala: Reducing logistics cost for export-
import and domestic trade with minimal
infrastructure investment.

2. Parvatmala: Development of roads and tunnels
across the major mountainous routes.

3. Bharatmala: Optimizing efficiency of freight and
passenger movement across the country.

Select the correct answer using the code given
below.

(a) 2 only

(b) 3 only

(c) 1 and 2 only

(d) 1 and 3 only

Q65. With reference to the Self Help Greups
(SHGs), consider the following statements:

1. It helps borrowers to overcome,the problem ef
lack of collateral.

2. Priority Sector Lending norms are‘noet applicable
for banks to lend to SHGS.

Which of the statements given‘above islare
correct?

(@) 1 only

(b) 2 only

(c) Both L'and 2

(d) Neither,1 nor, 2

Q66. The GDPwof a country cannot be taken as
an index of the'welfare of the people of that
country becauseafywhich of the following
reasons?

1. The rise in GDP may be concentrated in the
hands of very few individuals or firms.

2. Many activities in an economy are not evaluated
in monetary terms.

3. It does not give information about the size of the
economy.

4. Externalities do not have any market in which
they can be bought and sold.
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SAMPLE TEST 2 (QUES)

Select the correct answer using the code given
below.

(@) 1 and 3 only

(b) 2 and 4 only

(c) 1, 2 and 3 only

(d) 1, 2 and 4 only

Q67. Which of the following measures helps to
show the extent to which the increase in gross
domestic product has happened on account of
higher prices rather than increase in output?
(a) Gross Value Added

(b) GDP Deflator

(c) Consumer Price,Index

(d) Wholesale Price Index

Q68. In cantext of LPG reforms ushered in the
Indian econamy, consider the fallowing
statements:

1. The reform policies led to the establishment of
private sector banks; Indian as well as foreign.

2. Thefinancial sector was allowed to take
decisions . on,many matters without consulting the
RBI,

3. Foreign Institutional Investors were allowed to
invest imIndian financial markets.

Select the correct answer using the code given
below:

(@) 1 only

(b1 and 2 only

(c) 2 and 3 only

(d)1,2and 3

Q69. With reference to the differences between
the ‘Real GDP and Nominal GDP’, Consider the
following statements:

1. Nominal GDP is also known as GDP at constant
prices.

2. Real GDP is Nominal GDP adjusted for inflation.
3. Nominal GDP growth is higher than real GDP
growth.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None
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U%H63. YR IAd $T AT HRT & 2000 franiier
¥d Aead Bl Had b dgd AT g1 ‘Had F IR F
faffRa S s T syT I 22

(A) T8 fat +ff Ara- 3mnford iR Rieew 9 Ifed AFf B
(B) TG T cda- U SUBTT (ACD) Feds gl

(C) U T BRd AN & Sf6T o charet WGl R =Iefel! ¢ |
(D) T8 U THT Aedeh § et e gAdH 100 fneit/ger
a3 Tt g

UH64. YRd § gardl o & faer & dgu &
Frafafaa & 9 o= ar adt gafa 82

1. GRHTAT: <AdH §-A1d! o & Fa=r & ary Fafa-
3T 3R TR IR & T TG AT BT HH AT
2. GAqHTET: TRF Tditd AT IR ST 3R T &
faom|

3. YRAHTAT: S WR & O7d gars IR AEH SHIareiel o
T&Idl BT SIH e |

1 fow T Hie &1 IUEHT FRP TG FW T

(A) Had 2

(B) $dd 3

(C) Fad 1 3R 2

(D) Had 1 3R 3

W65, T T 9! (SHG) & Heh#, Fafafaa
HY W) faaR B:

1. T8 IYRGBAI3M &I AU (Coflateral) Ft HHI &L
A ¥ IR H Hee Bal gl

2. SHG &1 U1 &1 & @i dr &= B ATES ol
W AR 8 § |

FWR U T FYHLA G B/ T

(A) Ha 1

(B) &I 2

(€)1 R

(D) Tl 1 3R AR 2

ugee. FafaRaad & g srur A fHd 3o+t
WS 3t ST A BN & ATV & JABID S &Y
o Y ferar o1 Gar g2

1. 9% d IR 3G | 9ig 9gd HH Afgad! a1 Hu-i &
BT H Sfed 8wl B

2. fopeft arefoma & &g nfafaftra &1 e Afee
T & g foran ST B

3. U8 fouaeuT & 3R & TR H F-HGRI Tt a1 2|

4. STR1 a3l T IS SR 8! graT forad I Wil 3R
ST S AP |
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SAMPLE TEST 2 (QUES)

i fiE T Fis &1 T FXb T IR A
(A) I 1 3R 3

(B) Had 2 3R 4

(C) Had 1, 2 3R 3

(D) Pad 1, 2 3R 4

wy67. Frafafaa o & o1 a1 3ur g8 fea™ d #wee
vl § T IaureT & gf . aomg St Fiudl & RO
IHd T ITe A fohv gg ao gfs g3 &2

(A) T%d Jed aftfa

(B) SiteIUT fetriex

(C) IUMT I A Dich

(D) Ui TeT qADIH

UH68. UG SYawyi# & fpe Y Tadish gUrl
& Je # FuffEa 99 w® faar #v:

YR fadl & FROPHRADSR fae=h o 851 & dat
] R 55|

2 it ! B3 ATl IR SRETeS ¥ WS fpu famm
foge @ srafa ) T |

3. fac=it TR vt &l YR faxiia SRl & faw
EREEAR S EINKARIE]

TRfRE. T T &1 IUWT FXb T I T

(A) Had 1

(B)ehad 1 37R 2

(C) Pad 2 3R 3

(D) 1,2 3R 3

UH69. ‘adfa® SiSdt 3R A sisht & o=
SR & g 7, Fufafea sy=l w faar #3%:

1. THEH Seld! & fRR Sl IR Sherdl & =g | off
ST STl

2. IRafde® SISt arwifd & fore gHmiford Aras
SIS 81

3. A SEd g aRafae® Sherdt gfig & o1 Bl
SWRITd # | fPaa Y7 98 82

(A) hael Uch

(B) Had &I

(C) T R

(D) IS Tl
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Q70. In context of employment opportunities in
a developing country like India, consider the
following statements:

1. Rapid growth in the gross domestic product has
resulted simultaneous increase in employment
opportunities.

2. The newly emerging jobs are found mostly in the
manufacturing sector.

Which of the statements given above is/are
‘NOT’ correct?

(a) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Q71. Which of the following is same as the
‘Gross Domestic Product at Market Prices’?
(a) Net National Product at Market Prices

(b) Net National Product at Factor Cost

(c) Gross Value Added at Market Prices

(d) Gross Value Added at Factor Cost

Q72. Consider the following statements:

1. Pradhan Mantri Jan-Dhan Yojana intends to
transfer all the benefits of government schemes
and subsidies to account holders directly.

2. In pre-independent India, B R Ambedkar was the
first person to discuss the concept of,a Poverty
Line.

Which of the statements given aboveis/are
correct?

(a) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Q73.1n 1991, Indian government intreduced a
new set of policyymeasures which changed the
direction of our econamy. Which among the
followingiwere immediate,reasons for such a
landmarkidecision?

1. Inability toymakerepayments'on its borrowings
from abroad

2. Dwindling foreign exchange reserves

3. Continuous increase in prices of essential
commodities

4. Civil unrest in the country

Select the correct answer using the code given
below:

(a) 1 and 2 only

(b) 1, 2 and 3 only

(c) 2, 3and 4 only

(d)1,2,3,and4
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SAMPLE TEST 2 (QUES)

Q74. Which of the following is also known as
the National Income (NI)?

(a) Net National Product at Market Prices

(b) Gross Value Added at Factor Cost

(c) Net Domestic Product at Market Prices

(d) Net National Product at Factor Cost

Q75. Which among the following are benefits of
organic farming in India?

1. Off-season crops cands€grown easily

2. More nutritional value than chemical farming

3. Longer shelf life than sprayed produce

How many of the above'statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q76. Which ofthe following measures allows
policy-makers to'estimate how much the
country has to spend,just'to maintain their
currentyGDP (Gross Domestic Product)?

(a) Net National Product at Market Prices

(b) 'Gross National Product at Market Prices

(c) Net Domestic Product at Market Prices

(d) Gross Value Added at Market Prices

Q77 Which of the following measures refers to
all the economic output produced by a nation’s
normal residents, whether they are located
within the national boundary or abroad?

(a) Net National Product at Market Prices

(b) Gross Value Added at Market Prices

(c) Net Domestic Product at Market Prices

(d) Gross National Product at Market Prices
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Q70. HRT 3 fapraiie 3= & AR & S &
e # Fufafaa sy w far 3

1. ghel IR TG H diid gf & IRUMHGFY AR &
gl ¥ off afg g2 R

2. 9 IR Nl iR fafafor & & urd o €1
SR 3T T Sy § A o9 91/ G8 T 2

(A) Had 1

(B) Hdd 2

(€)1 3R 2 3

D) Ta 1 3R 2

Q71. fFufafaa & F 19 91 IR gl R 96 d W,
IAE' & A &2

(A) STSTR SHdl TR Y AP I

(B) PR AN W Y& I Id1G

(C) SR DA IR T d oI Sirel 1T

(D) FRS AN R IHd Yoo afeld

Q72. FafafaT Fy=f = AR &%

1. TUTTHAT -4 T T 3R0ST TRBRT Trorait 3R
gfegst & guft aul & Y TIATURD] DI gxATdRd DL
gl

2. WGdd HRA T Ugd S3MR eSH TRIS @ &1 SaERun
TR T B aTdl Ugd afad 3|

FWR U MU HY= # 4 B9 91/ IE 22

(A) Had 1

(B) Hdd 2

(©) 1 3R 2 &=

(D) T 1 3R 2

Q73. 1991 H, YR WRFR A AMa1d SUEhHT U 47
yurTelt U=T fopar foran s srdeawt @t fe=m aea
3 WaAfeeRe fuly $ e Fakifadas=a
ATPIAD BRURA?

1. fae 9 oY SURDT G & & Srefdr
2. gl fac=h gahysR

3. TaRID a3 Dl @Il H TAR Jha

4. 3 H AR 3rerifa

1 foT 7T Fis &1 ITERT FP TE W g

(A) Pad 1 3R 2

(B) Pad 1, 2 3R 3

(C) Fad 2, 3 3R 4

(D) 1,2, 3, 3R 4
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wy74. Frafafeaa 9§ @ f5a wdia sma (v) & = +f
ST STl 37

(A) ITOR B R Y AP IS

(B) HR& AN W I YUl afdia

(C) SNIR P! R Y& IR IUG

(D) RS AN W Y& I Id1Q

UY75. YR # Sifde @dl & Fufafea A I s o
&2

1. SUGH O S T TS S It &

2. A Wt § 3iferw TIeui e Bl

3. o spIa fbT T SdIC 31 g H el Atk S il
gl

IRIed A A fFa FUT T8182

(A) I Th

(B) bad &l

(©), T Tgt

() BIS.TET

wy7e. FEfaTEad & #14 a1 sura Hifa-Fafarsi #
g AT A P AT a1 & fF I F1 3wt
AU SiS It (FHd TR 3d1G) B §91E 39 & g
TorasnEd 3T g2

(A) STOIR SHIHdl R Y AP IdTG

(B)STOIR 1l IR Jebel AT IS

(C) TSR HIAA! R Y[ T 3G

(D) SNIR Sl R IHd Ged SISl T[T

wy77. Frafaf@a & & #19 a1 sur fHd 3= & g
frarfmal g1 St |t snffe Swmea #i defifa

T 7, I1E d APt i & Wiar Ry g ar fagwr @2

(A) STOIR SHIHdl R Y AP IdTG

(B) STSIR 14 IR Adhd Hed afda

(C) TSR HIAA! IR Y[ T 3G

(D) STSR SHIHdI IR Jebel AP IATG
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Q78. Consider the following statements:
Statement-I:

In 1991, the rupee was devalued against foreign
currencies as an immediate measure to resolve the
balance of payments crisis.

Statement-II:

Devaluation is the process of reducing a country's
exchange rate in the international market while
keeping the internal value unchanged.

Which one of the following is correct in respect
of the above statements?

(a) Both Statement-1 and Statement-Il are correct
and Statement-Il is the correct explanation for
Statement-I

(b) Both Statement-1 and Statement-Il are correct
and Statement-Il is not the correct explanation for
Statement-I

(c) Statement-I is correct but Statement-I1 is
incorrect

(d) Statement-I is incorrect but Statement-I1l is
correct

Q79. In post-independent India, there have been
several attempts to work out a mechanism to
identify the number of poor in the country. In
this context, consider the following statéments:
1. The government take into consideration sagial
factors that sustain poverty such as illiteracy, ill
health and lack of access to resourcesior
determining the Poverty Line in India.

2. The government uses Monthly Per Capita
Expenditure (MPCE) as proxy fanincome of
households to identify the poor.

3. ‘Head Count Ratio’ is the.number‘ofypoor
estimated as the proportion‘ofipeople below the
poverty line.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q80. In view'af,declining, rural incomes and
stagnation in agriculture; which among the
following measures,should be taken to ensure
sustainable development and upliftment of the
people?

1. Improving access to formal credit institutions

2. Diversification of Crop and allied activities

3. Farm loan waivers

4. Shift towards organic farming

5. Development of market infrastructure and
storage facilities
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SAMPLE TEST 2 (QUES)

Select the correct answer using the code given
below:

(a) 1, 2 and 3 only

(b) 3, 4 and 5 only

()1, 2,4 and5 only

(d)1,2,3,4and5

Q81. Consider the following factors:
1. Unequal distribution of wealth

2. Absence of basic rawgmaterials

3. Low capital formation

4. Lack of social security net

5. Pressure of population

How many of therabove are amongthe principal
reasons for povertyimlndia?

(a) Only two

(b) Only three

(c) Only four

(d) All five

Q82. Which of the fallowing statements are
correcthwith referenceto India’s logistic sector?
1. Logistiesieost in India is more than 25 per cent of
gross, demestic product (GDP) against the global
average of nearly eight per cent.

2. In the)latest version of World Bank’s Logistics
Performance Index (LPI), India dropped to 44th
position.

Select the correct answer using the code given
below.

(a) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Q83. Which of the following categories of
people are eligible for the Bharat (BH) series
vehicle registration regime?

1. Defence personnel

2. Employees of State government

3. Employees of central public sector undertakings
4. Private sector companies having offices in two or
more States.

Select the correct answer using the code given
below.

(@) 1 and 3 only

(b) 2 and 4 only

(c) 1, 2 and 3 only

(d)1,2,3and4
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uy78. FafaRad s34 W far #3:

PHYA-1: 1991 H, YT Yo Hbe Dl §d DA & Ay
b1l SUTH & =Y H fae=it gersil & Hbled TUd BT
L fobT 7T T |

FYA-1I: AT 3MaRS T I UiRafdd X@d gu
SARIPT TSR H bl 31 bt A <= 1 B A bl
ufpar gl

IWRIad HYI P Fay A fAufefaa & Q &9 91 98l 82
(A) FYA-1 3R HYF-11 G Ta1 § SR FUA-1l FYF-1 &
fo Tt WSt §

(B) HYA-1 3R FHUA-II GHI TG § 3R HYA-1l, FYF-1 F
fo wet st T8 §

(C) HY-1 T § A HY-11 TAd §

(D) BYUF-1 TTAd g A HYF-11 Jg1 8

Q79. Wdd YR H, X H TREl $ T $ uga=
P & [T U o7 991 & P uuy fPU U g1 59
T A frufafad sy wR feR 3%

1. WHR HRT H TRY&) War &1 fFefRor a4 & forg s
P T T IS TTHINTD BRb! o R8T, TR TGy
3R T e UgT 1 B DY A H @l g

2. WHR RI§] P UgaH H & fad aRaR] &1 e &
Uiat & ¥U & A1 Ufd afad oag (THURAS) &7 SUaRT
Ht g

3. 38 HI3C IR/ TS ¥@T T R & AN dweuTd &
U H AT TS B e B

IRIad | 9§ fpaq vy I &2

(A) bad TP

(B) Had &l

(C) T gt

(D) IS &l

Q80. JiHfiur 3ma A ARTaC Sl P H fRRdr o d@d
BT, AT &b, Fela [abTH iR ST Bt JHfa #ea &
fore fFAufafEe d @i |1 Sura far s anfee?

1. 3T FBOLERIA! deb Ugd H JUR

2. B 3R Fag Matafeat o1 fafasdiemor

3. PN B A1

4. Sfgs Ift Bt 3R v

5. SNIR & aTe o 3R HeRur faersii &1 fawmg
i fau T Fis &1 U FXb AL I T

(A) HId 1, 2 3R 3

(B) Pad 3,4 3R 5

(C)Pad 1,2, 4 3R 5

(D) 1,2,3,43R5
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uys1. R sRe W) TR 3%
1. Y BT S fJavor

2. g e AT BT U

3. %Y Yol fAAfor

4. TTHTISTeD Y& SITe T S{HTd

5. SIBAT DT Gald

SR # A fpa WRd # T & uq@ RN A | 22
(A) HId &l

(B) ad oA

(C) Had IR

() gt Ut

Y82, Uk dlforRed & b d Fafafaad
P AT YT IR! 87

1. YRA § ARCHIANT YR d I 3T (GDP) &b 25
G ¥ AP 8, STafe. Afe, 3T I 3118 Hfa=rd
8l

28y 9P BT WHIHT SS9 (LPI) & ddH
TPV HHRT RRDR 443 RIM R 3T B

1 {3 ¢ ®Is &1 IUART Hdb I SR g |

(A) HaA 1

(B) a2

(C) 1 3R 2 T

YT 1 3RTE 2

uys3. Fgfafaa & | fea Jufit & a1 4IRd (BH)
ST 1T UolhUT SqawT & fore ur 82

1. &1 HUT

2. 59 HR & HHART

3. LT Yrdue &3 & IUHH & FHAR!

4. FSlt @7 B Sufat e srafea 3 ar dr & aiftie
I H

2 fou T ®is &1 ITANT b T IW gH |
(A) Fad 1 3R 3

(B) Had 2 3R 4

(C) Pad 1, 2 3R 3

(D) 1,2, 3 3R 4
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Q84. Consider the following statements:

1. Credit is the ability to lend money in return for the
promise of future payment.

2. Collateral is an asset that the borrower uses as a
guarantee to a lender until the loan is repaid.
Which of the statement given above is/are
correct?

(a) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Q85. Consider the following statements:

1. Gross Domestic Product (GDP) at factor cost is
gross domestic product at market prices, less net
product taxes.

2. Gross Domestic Product (GDP) at factor cost
measures final value of output produced by the
firms within the domestic boundaries of a country in
ayear.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q86. Consider the following statements:
Statement-I:

Since the Green Revolution, India has aveided
famine even during adverse weather conditiens.
Statement-II:

India has become self-sufficient inffeod grains and
oilseeds because of the green revolutien.

Which one of the followingis,correctin respect
of the above statements?

(a) Both Statement:l and Statement—lhare correct
and Statement-IKis the, correctiéxplanation for
Statement-|

(b) Both Statement-l and Statement-Il are correct
and Statement=ll is notithe correct'explanation for
Statement-|

(c) Statement= his correct but Statement-I1 is
incorrect

(d) Statement-1 is incorrect but Statement-11 is
correct

Q87. With reference to the Indian economy,
consider the following statements:

1. The total money value of all final goods and
services produced in a country in a year is called its
gross domestic product for that year.

2. Activities which contribute to the gross national
product are called economic activities.
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Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q88. Which of the following provides ‘an
assessment of the growth prospects of the
economy along with the'Statement of specific
underlying assumptions’?

(a) Fiscal Policy Strategy,Statement

(b) Medium-term Fiscal PalicysStatement

(c) Macroeconamie,Framework Statement

(d) Annual Financial*Statement

Q89. Consider thefollowing:

1. Increase in employment opportunities.
2. Upliftment of'standards of living.

3. Reduction in economic disparities.

4. Rising income of the, masses.

How 'many of the above are among the effects
of\Globalisation?

(a) Onlydne

(b) Onlytwo

(c) Only three

(ch), All four

Q90. In context of economic theory, a perfectly
campetitive market will have which of the
following defining features?

1. The market consists of a large number of buyers
and sellers.

2. Each firm can produce and sell all types of
products.

3. Entry into the market as well as exit from the
market are free for firms.

Select the correct answer using the code given
below:

(@) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3
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uys4. FufaRad Y W faR 3

1. $hfSe U™ & YT & a1 & 95 | U JUR & B
& B

2. Juifier e uREuf SR SuR®dl B o db
FUGTAT B MRS b =0 H SUTNT HRdT g

SR T T Y & P A1/ w2

(A) Had 1

(B) ad 2

(€)1 3R 2 3

D) Ta 1 3R 2

uyss. fFafeafad sy wR faar a3

1. PRP AT W THd TR 3G (GDP) TSR Sl IR
Y[ SATG BRI Pl UThR Fobel TR IATG ¢

2. HRS AN R IHd I 3G (GDP) T ay H foaft
3 B I refl & R Al gRT IATSd STEH &
3ifT Heg oY AT B |

IW RE T Y § & S 91/ 98 82

(A) had 1

(B) Hdd 2

(€)1 3R 2 g+

D) Fdr1 3R T2

"yse. fFaferfad Hy=l R faR 3

FY-1: R FHifd & 1€ ¥, YR vfapa Aramas! fRufa
F R ot 3rpTd T FAT B

PYF-11: 3RT Hifd P PR R T 3R faceT 8
AR ST Rl

IRIad HYAI F Fay A e o Q Fi9. 91 98ha?
(A) BYA-1 R HYF-1l S Tohg MR BYT-1I, HYH-) DT
! AT §

(B) BYA-1 3R HY-I) THhTE B SR BY-1I, hYF-1 F
fore S Emsior T8t s

(C) HYT-1 ot gidl[pT HY-11 Tad &

(D) HYF-| TTelds . HUT-I| Jol &

UH87. YR dagaw & HeH A fFuferRaa sy=l
R faaR &3

1. T S o uop af & Sanfed @it sifam awgait ok
Jaraft &1 Fa Mg T I 9 BT Thdl IR 3G
FHEAT |

2. Fhd AP IATE H ANTar 3 arelt Tifafaferr snfifes
nfafafiar weard g1

FWR U MU HY=E # G S 91/ Tg 22

(A) HId 1
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(B) AT 2
(©) 1 3R 2 S
(D)1 3R 2

uyss. fAufefaa & @ #19 ARy safiea uromsi &
TUM & TIY-T1Y faawT F} fawry GUra-msii &1
ATHAT UEIH Bl 82

(A) ISR YT i YOI Jaded

(B) HeAH 3{AfY B ISR IYIg A1 aadod

(C) BPIZHIANHS I WeHe

(D) aTfes fair fgaror

U%89. g w foaR & v?
1SR & IR T i

2. Sila TR Pl BUH|

3. 3nfifes fawmarsis o+t

2, ST T Fgd! M|

SUG.H ¥ fpaq defimzur & yural § 9 82
(A) e T

(B) acial

(C) Dhad i

(D) TH IR

"%90. 3w Rigia & deH #, tar yof ufevusff aor
A fFPgfafed # @ 19 9@ uRwfa faivang gz

1. 99R H 91 T # WIER 3R fagar g1d |1

2. TP BH IH UPR & IdTG! BT IdTeT 3R f5eh! B
Tl B

3. BHf & oI S9R § U9 & T1Y-T1Y SR J 916
e ot e §1

i faT ¢ ®is &1 IUART Hd I IR qA:

(A) Pad 1 3R 2

(B) Pad 1 3R 3

(C) Had 2 3R 3

(D) 1,2 3R 3
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Q91. Which of the following are among the
features of the National Rail Plan for India —
20307

1. Increase modal share of the Railways in freight
to 35%.

2. Increase average speed of freight trains to
50Kmph.

3. Upgradation of speed to 130 kmph on all other
Golden Quadrilateral-Golden Diagonal (GQ/GD)
routes.

Select the correct answer using the code given
below:

(@) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only

Q92. The ‘Scheme of Fund for Regeneration of
Traditional Industries (SFURTI)’ is an initiative
of:

(a) Ministry of Social Justice and Empowerment
(b) Ministry of Minority Affairs

(c) Ministry of Micro, Small & Medium Enterprises
(d) Ministry of Tribal Affairs

Q93. Raising and Accelerating MSME
Performance (RAMP) programme is one of the
initiatives by the government to reyitalize micro,
small and medium enterprises in the,post-Covid
world in partnership with which of the following
organisations?

(a) World Bank

(b) Asian Development Bank

(c) Asian Infrastructure and,Investment,Bank

(d) International Monetary, Fund

Q94. Which of'thexollowing is termed, as the
‘Gross Domestic Product’ asfper the Central
Statistics Office (CSO)wof the Government of
India?

(a) Gross bomestic Preduct at factor cost

(b) Gross DomestieyProduct atimarket prices
(c) Gross Domestic Product at basic prices

(d) Gross Value"Added atfactor cost

Q95. With reference'to the poverty reduction in
India, consider the following statements?

1. Bihar and Odisha have traditionally succeeded in
reducing poverty with the help of high agricultural
growth rates.

2. Kerala has focused more on human resource
development in reducing poverty.

3. In West Bengal, land reform measures have
helped in reducing poverty.
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4. In Andhra Pradesh and Tamil Nadu, public
distribution of food grains has been responsible for
the improvement.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) Only three

(d) All four

Q96. Which of the following statements about
the ‘Factor Cost, Basic Prices and Market
Prices’ are correct?

1. Factor cost includes only'the"payment to factors
of production, it does not include anytax.

2. Market prices ig,theifactor cost including the total
indirect taxes but excludingythe total subsidies.

3. Basic priees include theqproduction taxes but not
the product taxes.

4. In order to arrive at market prices we add
product taxes to theyfactar.cost.

Select the correct answer using the code given
below,

(a)d, 2 andi3 only

(b) 2,3 and 4 anly

(c) 1,3 and 4 only

(d)1,2,3and 4

Q97 Consider the following measures:
1. Sen Index

2. Poverty Gap Index

3. Gini Coefficient

4. Squared Poverty Gap

How many of the above are among the
tools/methods used for estimation of poverty in
India?

(a) Only one

(b) Only two

(c) Only three

(d) All four

27 |Page




MALUKA IAS

wg91. Frafafed & @ o919 yra & forg wfta Yo g
- 2030 P fa=ivarsi § ¥ 82

1. AT Gals H Yald & ATSd SRR STHR 35% BT

2. ATERTTSAY Pt 3 T ST 50 fHHY U Ter S

3. 3 It Wfvf aqus-waul faw i (GQ/Gp) amTl &R Tifa
P 130 fopmlt Ufd &¢ dF I9d BT

7 fRE 7T Fis &1 TN FXP T I A

(A) Had 1

(B) Had 1 3R 2

(C) Hdd 3

(D) %dd 2 3R 3

UH92. "TRUNS ITNN & Y- & forg Ay ot
YIS (SFURTI)' TP UEH &

(A) TR =0T 3R 3ifeepTiRdT Harerg

(B) (USSP DT HATAT

(C) g&H, Y 3R Heg IIH HATT

(D) ST ATHA! BT HATd

U%93. MSME U&= (RAMP) ®RIPH &I 9¢MT i a
T PR gRT FgfaRad d 9 f5g drea & 91y
Treier! ¥ Pifds & arg o gftar # gea, ageiR
ToH ITH B Geiiad B 31 Ugd A TF 87

A fay ¥

(B) TRMTS fapTg o

(C) TR SHREERR TS SaeHEdd

(D) SIRIPIT HeHT BIW

TY94. YRA DR & Hutd FieId! S1AGT (CSO),F
IaR Fafafaad 3 fFa ged wg Sag ®sl
ST 82

(A) PRSP AN IR Heb ol 8], SIG

(B) STOIRISIHG TR by RS dIG

(C) FATGh D 1HGI, TR The TR, BTG

(D) PRSP ARIGHUR Heel, Jed AT

UH95. HRd A TRIatH wH & deH # Fufafaa sy=y
R faaR &39?

1. fagR 3R SiifSn uRue ©u ¥ 3= $iY fawrg R &t
TS J TR &1 HH B H Jha 3B 8

2. A A TRIe HH HA & o AFa e fadmg i)
3f¥F & FHfad fHar gl

3. Ui §a & Y GUR I ¥ TRIs 9 B 8 Hag
forch 81
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4. 3ty YR 3R AT W WTeE &1 qrdeifids faaror
UR ¥ forg RmieR @1 7|
IR A A fraq dyT I8 &2
(A) I Th
(B) Had gl
(C) pad diF
) 9t IR

WH96. "HRP AN, Je DI 3R IR Jed' &b IR A
Frafafa & 9 <9 a1 oy adt 82

1. T AN & HId IATG b BIRepI Sl HTTdT M &,
W Pls B A A6le |

2. IR PG PRGN F Y FHR A
NCERIC SRIENERE]

3. A 1Al B ST PR ¢ i Idie R gl |
4. §9R HIAd R Uga D Q¢ §H SRS AN § IdTG
&3 Ssd 7

A RE T Fis &1 U FYd T IR A
(A)FaT 1,230 3

(B) a2 3 3%

(C) Pad 1, 3 3R 4

(D) 1, 2, 331X 4

yg97. fFaferfad Surl W faar #3:
1.8 gEhih

2. TRIdl 3R gadhich

3. L Turis

4. TR TR 3R

YRd A TN & srpad & e Iugh fee o™ ara
Iy /faftrat # | SwWRiad § | fora 82
(A) I Th

(B) Had &

(C) pad diF

(D) 9t TR
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Q98. Which of the following statements
regarding the differences between Consumer
Price Index (CPI) and GDP Deflator are correct?
1. While CPI does not represent all the goods
which are produced in a country, GDP deflator
takes into account all such goods and services.

2. While CPI does not include prices of imported
goods, GDP deflator includes prices of imported
goods.

3. While the weights are constant in CPI, they differ
according to production level of each good in GDP
deflator.

Select the correct answer using the code given
below.

() 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Q99. Consider the following statements:

1. Champion Sectors are manufacturing and
services sectors identified for promoting their
development and achieving their potential.

2. Department of Commerce is spearheading the
initiative for the Champion Sectors in both
manufacturing and Services.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Q100. With referenceto the Index afilndustrial
Production (lIP), consider the,following
statements:

1. It measures the medium to,long-termychanges in
the volume of production of a basket of industrial
products.

2. Its valueiis deflated by the Wholesale Price Index
(WPI) of'the earresponding categories.

3. The all-India ITP-data is usedfor estimation of
Gross Value Added of‘Manufacturing sector on
guarterly basis.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None
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WH98. SUHTT eI FaBT® (CPI) 3R SIS fEwier
¥ 99 3R & oy ¥ FFuferfEd & Q@ 9 91 $y= 98
7

1. cpI ol =1 ¥ Sanfea @t axgeft &1 ufafifa =gt
R B, Saeh SiTerd! feueer Ut T+t awqaif oiR Sarsit
&1 & B AT 8 |

2. CPI ¥ 3T awgsil &t Hivd JMHd el §, Safds
et fetrier & smanfad a¥gaft »t Hiad A 8

3. CPI T YR fRR B, Sefh @ oierd fewier & e a¥g
& IATEH WR & IR HAEA |

1 AT T Fis BT ITUNT b Aol 8w I |

(A) FPad 1 3R 2

(B) ad 2 3R 3

(C) Had 18R 3

D) 1,2 3R 3

Hg99. FAuferRad 4= W AR #3:

1, G Yoer fafmfor SR Jar & € o 37 g &
TQIGT S MRS &HAT U B & o Tg=mT o ]
2. dirgfaHTT REH T 3R Jar S § <fige asi & forw
UEd hl Tdd HR IET &

SR RTIT HY= § | B 91/3 I8 22

(A) BET. ]

(B) Had 2

@) 3R 2 =

O)Ta13MRAE2

Q100. NP TG FADI® (1IP) F Taf H,
Frafafas sy w® foar +3%

1. I8 3NN IATE! B U S & Il Bt JE o
TegH ¥ didpifere URad-l &l J19dT ]|

2. 391 e Hafd Af0rl & Ui g Yadbics
(SGUI3TE) gRT 9T STl & |

3. RIS YR NP ST BT ITANT fTHTGT YR TR
fafmto & & Sod gou aftfd & snee & o fasar srar
gl

SWRiad # 9§ fpaq y= I &2

(A) ol Ueh

(B) Had &I

() <l wel

(D) IS Tl
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Environment

Ecology

Functions Of Ecosystem
Terrestrial Ecosystem

Aquatic Ecosystem

Environmental Pollution
Renewable Energy

Environmental Issues
Environmental Impact Assessment
Biodiversity

qgiaRur

gfefRufast
ifRufa@t &3 & ord
wyeftg g fRufaet ax
wetra grivfRufaet o=
TR Ygyo
AAIHRO Sl
TR o & e,
YaTaRuT YHTT STHe-
oig fafaeran




MALUKA IAS

Q.1. Which of the following statements
accurately distinguishes between ecology and
environment?

(a) Ecology is a subfield of environmental
science, exclusively dealing with ecosystems,
while the environment encompasses all
natural and human-made elements.

(b) Ecology is concerned with the conservation of
natural resources, whereas the environment
emphasizes the protection of cultural heritage
and historical landmarks.

(c) Ecology primarily focuses on the interactions
among organisms and their surroundings,
while the environment encompasses the
physical and biological components of the
Earth.

(d) Ecology deals with the study of environmental
policies and regulations, while the
environment deals with the application of
ecological principles in nature.

Q.2. With reference to the term ecology,

consider the following statements:

1) Communities with one or a few dominant
species are characterised by low species
diversity.

2) Communities with high species diversity are
comparatively less stable.

3) Communities created by man such as lawns,
or agricultural fields are very unstable.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.3. Considerthe followingystatements:

1) Exposure,to asbestoes occurs through
inhalation"@fairborne’microscopic fibers.

2) Mesotheliomais only caused by exposure to
asbestos.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

Q.4. With reference to Sperm Whales,
consider the following statements:
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1) They are the largest of the toothed whales.

2) They are only found in colder parts of world
oceans.

3) They are named after the waxy substance
found in their scrotum.

Which of the statements given above are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Q.5. Consider the following statements about

Dragon Fruit — a popular fruit variety being

grown in India:

1) Itis an endemic species and grows in semi-
arid regions of India.

2) Bats act as pollinators for this species of fruit.

3) Flowering of this fruit coincides with the
monsoon season in India.

Which of the above statements is/are correct?

(@) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only

Q.6. Who among the following alone has the

authority to permit hunting of an aberrant

tiger / leopard who has become a man eater?

(a) Chief Wildlife Warden of the State

(b) Chairman of the National Tiger Conservation
Authority

(c) State Environment Minister

(d) Union Environment Minister

Q.7. A species of Eurasian otter was recently

spotted in Neeru river in a rare find. Consider

the following statements in this regard:

1) Eurasian otters found in India are classified as
‘endangered’ on the IUCN Red List.

2) Eurasian otters in India are not found beyond
the foothills of the Himalayas.

3) Eurasian otter covers the largest range of any
Palearctic mammal.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only
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Q1. Fafafea # @ w19 91 sy nififas
3R yafaRor & 9 TP 3R Hear a2

(A) TRyt Tafarur fagm &1 ue Iuds g, i
Ry =g 3§ uifRufae 4 2 Tefta 8, Sefe
yaferor & 9t wrpfae SR wra fAftfa 9 nfira
gl

(B) UTRIYUTI! UTpfaes TTeAT & TRE0T ¥ i
&, STafep Tafaryr Al faRmad 3R Aaehies
YAl BT YR R &R T 5

() TIRfRUfae! T &4  Siaf ok 3 uRa= &
o R forar ], safes vafaror gudt & 1ifas
3R Sfde T o) T HRAT B

(D) uiRfRufarert yatavor ifeat ik fafae &
3T ¥ Yaifdd §, Siafor vafaror uepfa o
uifRufass Rigidl & s 3 Tefdd gl

Q2. TifRufat 2reg & A A Frufafaa syt
TR foar &3

1. U O1 3 YT TSt arel 9qer § &0
it fafderdr g 21

2. 3 Ul fafderd arel 9&r Jerieid &4 9
%A RR B g

3. T §RI ST 7Y TR S O &1 JgH, 21
H &7 9gd SRR B

SWIFd # A fran oy T8 8?

(A) Pad T

(B) had &l

() ol

(D) PIg a1

Q3. Fufafad syiu TR #3:

1. TR ] 0@ argotiad el & Sid: 4=
P IO 8, gahe

2. AT, o WRsike T & T H 3 I il
gl

SR 3T U FYTIH § B9 91/ 9 B2

(A) Had 1

(B) Had 2

(C) 1 3R 2 g

(D)l 1 3R 2

Q4. W a & HeH A Fufaf@a syai wr
faR a3
1. Y gfdeR /A & Jad Fa1 B
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2.3 Had Iy ASNFR & &8 UM H U Sd 8
3. 3] ATH 3% ISHIN H U 9 dTd AT
Terdf & AW W @ TR

SR 2T U Y= A | B9 91 9 82

(A) Had 1

(B) Had 2 3fR 3

(C) Had 3

(D) 1,2 3R 3

Q.5. YRd # IS W11 arelt U AIh iy el
o 71 e & IR H Fafafea sy w
faarR aY:

1. 9% U RIS TS 8 3R YR & 37e)-J[P
&3 & It B

2. TGS 39 USTIid & Bd o [0 RRTUG & =0
H o Ha B

3. 39 Bd &1 Bd YR B A & HI9H & 1Y
Ad @A g

STRIT § A S 91/8 S 981 82

(A) Had 1

(B) a1 3R 2

(C) Had 3

(D) Had 2 3fR 3

qe. Frafafaa # 4 e s Ty e
fafére ara/dgy, S srcHER S TR, $
ReR $t srgafa 31 &1 fter 87

(A) IS & T ggoi1g dare-

(B) XIS ST TREUT UTIDHRUT b 3feqef

(C) T gafaRur Hft

(D) e gafaRur Hft

Q7. TR FHefdda ot Ts gortd g g o
%Hﬁﬁwgﬁu@ﬁﬁ%@ﬂézﬁlw
ey ¥ fraferfad sy w® faar #:

1. YRd § UTT S dTel RREA SHafaard &l IUCN
S fore & g & ¥ # aifferd fasan T g
2. YRd H R SHafadmd fgarey & daget 4
3R g1 T SI1d 5|

3. PR Sefaard fedt off Terfdes T urh &t
T TS 4T B HaR BT g

SR T Te HYAT & A B9 /A T &2

(A) Had 1

(B) had 1 3R 2

(C) dhad 3

(D) Had 2 3R 3
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Q.8. With reference to the advantages of the

direct seeding of rice (DSR) technology over

the normal transplanting of paddy, consider

the following statements:

1) DSR does not require flooding of the rice
fields.

2) DSR is suitable for a wide variety of soils.

3) DSR crop gets mature 7-10 days earlier than
puddle transplanted rice

4) DSR prevents the development of a hard pan
just beneath the plough layer.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q9. Which of the following statements

correctly defines the term ‘carbon leakage’?

(a) Moving production of high-polluting products
to nations with laxer emission constraints.

(b) Acidification of oceans due to the absorptien
of carbon dioxide from the atmosphere.

(c) Release of the carbon dioxide storedin
permafrost due to rising global temperatures.

(d) The amount of carbon releasediinto the
Space annually by the Earth’s carbon cycle.

Q.10. Carbon Border Adjustment Mechanism
(CBAM) to tax imports. from producers
deploying non-green technologiesiis a
proposal of which of the following?

(a) World Bank

(b) Asian Development

(c) European Union

(d) GlobakhEnvironment Facility:

Q.11. Whichyof thefollowing are among the

examples of regenerative farming practices?

1) Maximize ground cover through the use of
cover crops, mulch, and intercropping.

2) No use of external inputs such as fertilizers
and pesticides.

3) Minimize soil disturbance through
conservation tillage and rotational grazing.

4) Increase on-farm diversity through crop
rotations and incorporating livestock.

Select the correct answer using the code

given below.

(@) 1 and 3 only
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(b) 2 and 4 only
(c) 1,3 and 4 only
(d) 1,2,3and 4

Q.12. With reference to the Loss and Damage
(L&D) Fund, which of the following statements
is correct?

(a) The L&D Fund was established at COP27 to
support climate adaptation efforts in
developing nations.

(b) The L&D Fund wasgestablished to
compensate nations for the economic losses
and damages caused by,elimate,change.

(c) The L&D Fandhaims to fund climate,mitigation
projects in developed countries.

(d) The E&D Fundprimarilysfocusesson reducing
greenhouse gas‘emissionsworldwide.

Q.13. Which of the folleawing are among the

characteristics of Pangolins?

1), They,are nocturnal;toothless reptiles.

2)" They digsburrows and feed on ants and
termites.

3) They have a sticky tongue longer than their
body.

4)“Maost of its body parts are covered with
overlapping scales.

Select the correct answer using the code

given below.

(a) 1 and 3 only

(b) 2 and 4 only

(c) 1, 3and 4 only

(d) 2, 3and 4 only
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Q8. YT Pt AT IUTS B a1 A Irad &1
W g3 (DSR) dF-1P & BrIGH & He #,
Fafafag 3= w faar #3:

1. DSR &I 91ad o Wdl H 91¢ B! TaLgHhdl Tal
Biht g

2. DSR faftr TR 1 fiigt & fore Suged g |

3. DSR T8 d URER H I 1T 4 &Y g1 8 7-10
7 Ugd U St §

4. DSR B &1 IRd & 31 =19 Th B3R U
@TSU) & AP B b B

IWRIad A | fPaa w9 I8 82

(A) I Th

(B) Had al

(C) Had diF

(D) It TR

Q. FufafEa # @ 19 91 = &4 R
g B Tel &1 Ay a1 82

(A) I UGHUIGRT SATG] & TG Pl HHSIR
IgoiT arerart aret <= H & S

(B) ATIHST U HIa- SISHGTSS & SHINHT D
PRI HETARRI BT 3BT |

(C) F&d AP AUHH & BRI TR § Tl
HTe SIS 3HFASS BT e

(D) It & PHIa- ah gRT Ufqes sialer @IS s
PTe Pt AT

Q10. IR-gfva wenfifhat®t d=ra s ara
IATEH] F I TR BT Pyfere Hred=
ISR guEe dacsAM)fFafeifead 3

frgeT ywara g2

(A 3% ¥

(B) TR, [ThIR, oih

(C) TR e

(D) df¥ye TafaRuRgfaeT

Q11. Fafafaa & @ $i9 gaien iy st
P e A A B2

1. HeR B, et 19 3R IREBIA P IUTNT &
ey J Y 3Rl Bl SHfhay BT

2. IARBI 3R PIeTD! Oy T ITYC BT DTS
SUIRT g} HRATI

3. TREJUT TS 3R Th1T RIS P ATeaH o it ot
T BT HH BT

MALUKA IAS — NEW DELHI, BATHINDA, CHANDIGARH, PATIALA — 9910133084

SAMPLE TEST 3 (QUES)

4. QI 3R UYYT B MAS b [d A
fafaerar o sgmTI

I foT T Pt &1 TN FXd Tol SR g |
A) Had 1 3R 3

B) Had 2 3R 4

C)®ad 1,3 3R 4

D) 1,2, 33R4

Q12. |9 3R AW (L&D), S & He #,
frafifa A A s i eyT ad 22

(A) fopra=ite S=1 o STefdig S TR &1
YT B & fAGCOP27 H L&D e &) R P
TS ot

(B) SITARYURTT B)BRUTRIB] HIGIH aret 31T
THUH 3R & 3 HRuR P e L&D HE o
RITIAT &1 T3 AT

(€) L&D T3 FT ALIH NG <=1 § STerary A
G371 fod Uity =11 & |

(DYL&D HB&TB ¥ I g1 1R H M-ered ™
IeI I HH DR TR Hiad gl

Q13. fAaferRad & & &9 tmiferT $ faivarsi
R

103 IERR, gld I WU |

2.3 f9d Wied § 3R Hifedl 3R v &) @ g

3. 37 YRR I SuTeT ool frafad sy g1 21

4. 39% IRR & AfYBT YT 3ifdeadt el T &b
B8

T faT T B FT START Hd Tel SR gH |

(A) Pad 1 3R 3

(B) Had 2 3R 4

(C) Had 1, 3 3R 4

(D) Fad 2, 3 3R 4
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Q.14. Consider the following statements with
respect to Graded Response Action Plan
(GRAP):

1) Itis a set of emergency measures to be taken
to reduce the air pollution throughout the
country.

2) Itis being implemented by the SC appointed
Environment Pollution (Prevention & Control)
Authority.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q.15. Indian companies were in news recently

for importing significant volumes of

petroleum coke from Venezuela for the first

time. Consider the following statements

regarding petroleum coke:

1) Itis the solid residue left after the removal of
the more valuable products from the crude,oil.

2) ltis produced by splitting long chain
hydrocarbons of petroleum using heatinto
shorter chains.

3) Itis used to produce shale gasthat is used for
electric utilities and cement kilns.

Which of the statements given above are

correct?

(&) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Q.16. “PRANA”'= Portal foriRegulation of Air-

pollutieniin Non-Attainment cities, is a portal

for moniteringeef implementation of:

(a) National Air Quality Index (AQI)

(b) Air Quality Early Warning System (AQ-EWS)

(c) National CleamAir Programme (NCAP)

(d) System of Air Quality and Weather
Forecasting and Research (SAFAR)

Q.17. Male Declaration, to which India is a

signatory, is concerned with which of the

following?

(a) To promote climate-resilient health- care
facilities.

(b) To act urgently on biodiversity protection in
decision-making.
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(c) to curb future pandemics after Covid-19.
(d) to realize gender equality and the human
rights of women and girls.

Q.18. Which of the following is the correct

permissible noise limit in the ‘silent zones’

declared by the state governments?

(a) 75 dB during the day and 70 dB during the
night

(b) 50 dB during the day and 40 dB during the
night

(c) 65 dB during the day.and 55 dB during the
night

(d) 55 dB during the day and 45 dB during the
night

Q.19. Withireferenceitothe In.Our LiFEtime

Campaign, consider the following statements:

1) It has been jointly launched by National
Museum of Natural History (NMNH) with other
organisations.

2)" lts aim is)to encourage youth between the
ages of 1810023 years to become message
bearers of sustainable lifestyles.

3) The'National Museum of Natural History
(NMNH) functions under the Ministry of
Culture.

Which of the statements given above is/are

correct?

(&) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only

Q.20. With reference to ‘Flex Fuel Vehicles,’

consider the following statements:

1) Flex Fuel Engine technology (FFE) vehicles
can run entirely on ethanol.

2) Diesel Engines are not considered in the flex
fuel category.

Which of the statements given above is/are

‘not’ correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Q14. dss U TaRE W (GRAP) & Jae |
fFruafafad 3= w faar #3:

1. 98 T 3 A IR UGV Bl HH B & oY I3TT
S aTd ST Ul &1 U 998 &

2. 38 SC gRI Fgad TiaRor Uguur QiU 3R
feTon) TTfRrenT gIRT ST e o %81 B
SR feu MU By § A P I1/49 T8 B2

(A) Had 1

(B) dd 2

(C) 1 3R 2 &

(D)T a1 3RTE 2

Q15. YR HUfTar §Td g1 & d-juen 9 ugelt
IR TSI 4T 6 Uy S Td B & g
TRl | | veiferan Hie & way ¥ Fufafea
FYA R faaR a3

1. U8 Fd dd ¥ SIS Yegd™ IdTG] Bl HabTaH
& 91 91 g3 oI AV ¢ |

2. 391 IdTG Uy &1 dell e aral
BIRSIBI Bl TH BT ST R BIct Yuasl &
fauiora evas fpar SaT 31

3. DT SUTNT A I BT TG B P 18, [haT
ST B orest IuahT fagga Suaifmnstt ok Tite
Y2l & fore fpan s 81

SR T MU HYAT & A HiHT L 82

(A) Fad 1 3R 2

(B) Hd 2 3R 3

(C) Pad 1 3R 3

(D) 1,2 3R 3

Q16. "UTUT" (PRANA)STR-VTft X161 | a1g-
Tgul & faf a1 & foguida, feas
FRTGa B! R P fous uidd @

(A) P AT FUIGI YR ID (AQ)

(B) AT TOTGT WIRINe <Idlamil JUTel! (AQ-EWS)
(C) WP Ta=y ATy BIRIHH (NCAP)

(D) 9T UG 3R HIGH JaigA 3R SI8e™
OIS (SAFAR)

Q17. HTat giyon, ford IR YIRd T gRIIeRSdl
. Frafafeaa o 3 frax wefta @2

(A) STTaTg-eTtell TR /YT Gfaersil &1 serar
Coll
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8) Fofa o= & B9 fafaear TReu R dopTd o
BTN

(C) PIfAS-19 & TG U™ BT TEHINAT TR G
W & forl

(D) <IfiTer T 3R Afgasit 3R wsfeal &
AFATYSR] Bl FIHR HIAT|

Q18. IT WHRI gRT 9T Frgaie &=l o
fFrafafaa & @ 19 I gl ey =k i 82
(A) f&T & SR 75 DB IR I1d & SR 70 DB

() &7 & SR 50 DB 3R P TR 40 DB

(C) &7 & SRT65,DB 3R I & GRI55 DB

(D) f&71 & R 55,DBM&IR I1d & SR 45 DB

Q19. "5 AR ATSHEEH A" & Ty 7,
Frafafaa sy faar #3:

1,38 AP UPTIPGITERATTRIHT (NMNH) GRT
TSI & Y Fdeh=y I AT b T g |
2. D1 3= 18 ¥ 23 T DT 31 & garsif Bl
RIS et & U Tae® - & fore anfed
HRAT 8l

3:XIP i SiaeT WUBTRd (NMNH) Ipfd
T & el Hrf BT B

SR feU U HYE § A P I/ TG &2

(A) Had 1

(B) Had 1 3MR 2

(C) Had 3

(D) Fad 2 3R 3

Q20. "I 49 a8’ & deH A, fFufafaa
HY IR AR &3

1. TRIGH I oI caHIalSTt (FFE) T8 O3 aRg °
31 IR Id Jhd g |

2. ST ol &1 Fie] Wd A0 & gl /T Sl B
SR T T HYA & A 19 T1/A TE B2
(A) B 1

(B) Had 2

(C) 1 3R 2 g

(D)l 13RI 2
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Q.21. With reference to the term "deme" in the
context of biology and evolution, which of the
following statements is correct?

(@) A deme is a small, isolated population within a
larger population.

(b) A deme is a group of individuals that
exclusively reproduce through asexual
reproduction.

(c) A deme is a measure of genetic diversity
within a species.

(d) A deme is a synonym for a species.

Q.22. With reference to the "edge effect" in

ecology, consider the following statements:

1) Edge effects are always detrimental to
biodiversity, leading to a decrease in species
richness.

2) Edge effects are primarily caused by human
activities, such as deforestation and
urbanization.

3) Edge effects can create unique microclimates
that support certain species not found in the
interior of an ecosystem.

How many of the statements given above are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.23. With reference to the ecological niche,

consider the following statements:

1) An ecological niche refers to the physical
location where a species is found in an
ecosystem.

2) Specialist species have narrow niches
whereas generalist species have broad
niches.

3) Two species with overlapping niches can
coexist indefinitely without competition.

4) The fundamental niche is always equalling to
or broader than the realized niche for a
species.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four
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Q.24. With reference to the vertical
distribution of the Biosphere, which of the
following is the correct sequence?

(a) Limits of Cultivation — Limits of Higher Plants
— Limits of Human Habitation — Limits of
Terrestrial Animals

(b) Limits of Cultivation — Limits of Human
Habitation — Limits of Higher Plants — Limits of
Terrestrial Animals

(c) Limits of Cultivation — Limits of Human
Habitation —Limits of Terrestrial Animals —
Limits of Higher Plants

(d) Limits of Human Habitation — Limits of
Cultivation — Limits of Terrestrial Animals —
Limits of Higher Plants

Q.25. Though the Biosphere extends from the

floor of the ocean some to the top of the

highest mountains, or about 9,000 metres

above the sea level, most organisms are

limited to a narrow region between:

(a).16000 metres above sea level and 200 metres
below sea level.

(b) 7000 metres above sea level and 300 metres
below sea level.

(€)8000 metres above sea level and 400 metres
below sea level.

(d)»9000 metres above sea level and 600 metres
below sea level.

Q.26. Consider the following statements:

1) The misappropriation of knowledge from
traditional and indigenous communities or
individuals is called biopiracy.

2) The process to bring back into life the recently
extinct species of plant and animals is called
bioprospecting.

Which of the statements given above is/are

correct?

(&) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Q21. sii9 Ay ok fae g & Hed & a9
(DEME) ¥ & JeH #, fFafafaa A a s an
HYT HE 72

(A) SH TS J! &G & R U BIC], gud
3T B

(B) SH SATKTYI T Th THE & ol fIRY U
3B TSI & HIHH J Yo Bl o

(C) 1 T Yuilfd & iR 31dfRres fafderdr &1 g
gl

(D) SH U USITfd &1 UT1T g |

Q22. UIRFRUfAS # "SR YU (Edge Effect) &
T A, fFuferfaa sy wr faar #3:

1. R YHTG gHN 9ig fAfdedr & foru gieRs g
& e oo ) ggfe & et e 21

2. BR YHE T-I U J A6 Tfafafda S gt
DI TS 3R YEABUT P BRI B B

3. R YHTG Hfgaid Agsphidarsie ST I&d & o
RIS = & 3iidRe HIT H 781 UTs S areit
$S Yolerdl &1 9 axd § |

SR feu T Hy= A A fHaq ad 82

(A) I Th

(B) Had al

() =t

(D) I8 el

Q23.uTifRufas FAdad deu & Fufafaq
HYAI IR IR B9:

1. uifufae fReed 39 Hifde I & T
BT & gl U UIRIRITIPT d § Teb Yeirfel urg
Ici

2. faRiwy genTfardl & debtol =i g1 € St
ITATIATE TSt § e R 8id ol

3. 3R R arett & uefaat ufawaet & fomr
SfAfEd B1d g Tg- 3T | 38 bl B

4. Aifere Fopd gaem fadt vonfa & forw arafas
Y & TR 1 ITY 31 AUS BT B
SR A A fHaa o7 I8 &2

(A) I Th

(B) Had q

(C) Had dH

(D) Tt IR
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Q24. SigHsd & SHeater faavor & e A,
fufafea 4 A FTaT I FH 22

(A) Tt Bt HATT - =7 Uil bt HHATE - A R
B AT - Riehg SeR) Bt e

(B) Welt &1 AT - A9 oy &t F4AmT - = el
B! FAT - Refig SR Bt ST

(C) Tl Bt T - AFa Farg ! dHATt - -l
SaR] 1 Tt - I dielf Bt A

(D) Hd farg &t AT - Tt 3t FH1T - wedt
SaRI &1 T - 3= arelf Bt AT

Q25. eI Siaisd 9gs & dd I dd? STad
gddi & Y q@, a1 9% ad I TIHT 9,000
Hiex SHUR 9% HaTl g3 §, fUHi ofta 31
(A) THE dd ¥ 6000 Hiex HWR 3R I ad J 200
Tiex |

(B) T A ¥ 7000 HIeX HUR 3R THZE I ¥ 300
Hiex i |

(C) TH% ad J 8000 HIex SR 3R TS dd ¥ 400
e |

(D) THE I ¥ 9000 Hex HTR 3R TGS A ¥ 600
Hex A |

Q26. Fafafaa Fy=1 = TR &3:

1. URUR® 3R W=t Tt a1 safaqdl o I &
TIUTNT P! FRAUTE I g STl & |

2. Urelf 3R SIFaR] &1 81 81 § faqwd g8 gonferat
B AY Sitgd 7 I D1 UfhaT T IruRafaT

FHEI S B

SR RUTT HYAT § A S 91/3 9t 22

A) Had 1

B) had 2

Q) 1 3R 2 Tt

D)1 3MRAE 2
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Q.27. With reference to the 2023 U.N. Climate
Ambition Summit (CAS), consider the
following statements:

1) The summit was hosted in New York City
during the 79th United Nations General
Assembly.

2) China, the United States, and India were
prominent attendees at the Summit.

3) The primary goal of CAS was to showcase
world leaders with credible actions, and plans
to achieve the 1.5°C degree target of the
Paris Agreement.

4) All G-20 governments committed to more
ambitious Nationally Determined
Contributions by 2025.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q.28. Which of the following are the
advantages of direct seeding of rice (DSR)
technology over the conventional puddled
transplanted rice (PTR) method?

1) Reduced cultivation time

2) Lesser risk of non-uniform crop

3) Reduced cost of cultivation

4) Lower greenhouse gases emissions
Select the correct answer using the code
given below.

(@) 1 and 3 only

(b) 2 and 4 only.

(c) 1, 3and 4 only

(d) 1,2,3and 4

Q.29. With referenceito the systems of
certificatiomfor organic produce in India,
consider the'following statements:

1) Participatory ‘Guarantee System (PGS), a
certification system for organic produce, is
implemented by the Union Ministry of
Environment, Forest and Climate Change.

2) National Programme for Organic Production
(NPOP), aimed at regulation and promotion of
organic production for exports, is introduced
by the Ministry of Commerce.

Which of the statements given above is/are

correct?

(a) 1 only
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(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.30. With reference to the biotic components
of an ecosystem, consider the following
statements:

1) Chemosynthetic bacteria are also producers.
2) Heterotrophs are incapable of photosynthesis.
3) Carnivores feed only on animals.

4) Saprotrophs are chiefly bacteria and fungi.
How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q.31. India has opened the highly regulated

sector of producing and processing opium to

private players to derive alkaloids that are the
active pharmaceutical ingredient in pain
medication and cough syrups. Consider the
following statements in this regard:

1) Alkaloid is any of a class of naturally occurring
organic nitrogen-containing bases.

2) Alkaloids are found exclusively in plants and
are especially common in certain families of
flowering plants.

3) Nicotine obtained from the tobacco plant is
the principal alkaloid and chief addictive
ingredient of the tobacco smoked in
cigarettes.

4) Heroin is a synthetic derivative of the alkaloid
morphine.

Which of the statements given above are

correct?

(@) 1 and 3 only

(b) 2 and 4 only

(c) 1, 3and 4 only

(d) 1,2,3and 4
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Q27. 2023 Y& MY Serary HeaTDia Rrer

T (@ivey) & e § Fufafea sy w®

faR &

1. TR g 1 A 796t Wged 7Y
HETIHT & SR 0T aR | 31 13 2|

2. I, T 3o 3R SR HRd fRReR qrie
T U@ ¥ 0 ¥ 3uRd |

3. CAS &I Uil ded fay Aarsil &1 faya-ta
BT b Y USRI BT T, 3R IR I9=ia
& 1.5°C TSI T B! Ui o= B o A |

4. 9t G-20 &R 2025 dF 3B AgATHIEN
P TR R RyiRa direr & fo ufies ¢

IRIad A | fraa w9 I8 &2

A) $ad TH

B) dhddl al

C) ®ad di

D) I+l IR

Q28. TRUR® UIER ¢ivwiie arad (PTR) fafer
Ft go-T A I1ad @t Adieht g3ng (DSR) aHIE® &
Fafafaa & A S A wrae &2

1. 9l BT GHT HH BT

2. T%h THM Hd 7 g BT Wl Dl

3. 9! B ANTd § HHT

4. eI T} BT IoToi-T B, BT

i fau U P &1 IUANT HRek Tt SR Al
A) Had 1 3R 3

B) a2 3R 4

C) Had 1, 3 R4

D)1,2 3 3R 4

Q29 HRa.# Sifad Iusi & fer@uwfisur #t
yunferat & Hes H, Frufafas #u= v far
P

1. GEHTN TR UUTER (PGS), Sfde Ut & farg
TS THTOH YUTTell, Hhed Taiarul, a9 3R Jadrg
IR HTad gRT Sraffad o S g

2. frafa & fo Sifaw Iare & fafome ik dada
& eI W P Sfdh IATG HRIHH (NPOP)
IO FHATTT GRT Y bl T 3|

SR 3T T FYE § T BT 91/ 9 B2

A) Had 1

B) dhad 2

Q) 1 3R 2 gt
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D)Ad 1 3MRAT2

Q30. fad) yIifRufae 42 & fds geal &
Fed & fufufed sy ® faar o

1. TG Y29 Siary] Ht Saes g g
2. ReRIeTh YT T=amur 7 3rqHyf 81d 7
3. HIOTER} Had SHaR] &) TMd &

4. AUTH T =0 T SR 3R B B
IWRad A | fPaq sy I &2

(A) I Th

(B) Had gl

(C) pad o

(D) It TR

Q31. HIRT A WA & I 3R THEDHIV
Srafye fafrafta & ot et siftreaf & e
@ faun g a1 3 Tepaiss U & 9P il &g
P gaT 3R Wil B ga1 ¥ Gfeha ga1 ued B
QY Hfuferfad sy=1 wR faar #v:

1. Teh Iz s Wdhiad ¥ 3 UMY ofF aTd Hla-e
IS gad SHTURY &1 IS a1 g |

2. Tehaigs faRiy =y § urel & urg ofd § 3R
IR ¥0 J B ard e b oo IRARI & 31 &
3. ST & 8 ¥ U Al Rre & dia 91
I TEIE BT T &R 3R T Tl g2 g
4. U Tehalss Hithd &1 Ridfew sgad §1
SR foU U Y= # F B9 91 9 22

(A) Pad 1 3R 3

(B) Had 2 3R 4

(C) Pad 1, 3 3R 4

(D) 1,2, 3 3R 4
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Q.32. With reference to the Biological
Diversity Amendment Bill 2021 passed by the
Parliament in August 2023, consider the
following statements:

1) Users of codified traditional knowledge and
AYUSH practitioners are exempted from
sharing benefits with local communities.

2) It removes research and bio-survey activities
from the purview of benefit sharing
requirements.

3) It decriminalizes all offences under the Act.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.33. Which of the following are among the
salient features of the Biological Diversity
Amendment Act 20217

1) It exempts Indian companies from sourcing
raw material from cultivated sources.

2) Indian entities do not need to get approval to
apply for patents related to the use of
traditional knowledge.

3) It criminalized those breaking laws on
access to biodiversity.

Select the correct answerfsing the code

given below.

(@) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only.

Q.34 _\Which of the fellowing protocols
reguires assignatory countryto ensure that
prior informedieonsent orapproval and
involvementof indigenous and local
communitiesis,obtained for access to genetic
resources and traditional knowledge?

(a) Montreal Protocol

(b) Nagoya Protocol

(c) Cartagena Protocol

(d) Kyoto Protocol

Q.35. Nasa’s satellite imagery recently noticed
that the Antarctic ice shelf is crumbling faster
than thought. Why is the Antarctic so
important to us?
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SAMPLE TEST 3 (QUES)

1) The Antarctic ice deflects some of the sun’s
rays away from the Earth, keeping
temperatures liveable.

2) Antarctica is extremely rich and diverse in
flora and fauna and is the biggest biodiversity
hotspots on earth.

3) The nutrient-rich waters surrounding
Antarctica encourage blooms of tiny plankton,
the basis of the ocean food chain.

4) Antarctica provides a record of what our
planet’s climate wasg like over the past one
million years.

Select the correct answenusingithe code

given below.

(@) 1 and 3 only

(b) 2 and™4 only

(c) 1, 3and 4 only

(d) 1,2, 3and4

Q.86. Which of thefollowing are among the

objectives of the GOBARdhan is an initiative?

1)% To suppoit villages safely manage their cattle
waste, agricultural waste and in long run all
organic waste.

2) To support communities, convert their cattle
and,organic waste to wealth using
decentralized systems.

3)»Promote environmental sanitation and curb
vector borne diseases through effective
disposal of waste in rural areas.

4) Convert organic waste, especially, cattle
waste to bio gas and fertilizer for use in rural
areas.

Select the correct answer using the code

given below.

(@) 1 and 3 only

(b) 2 and 4 only

(c) 1, 3and 4 only

(d) 1,2,3and 4
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Q32. 3FTH 2023 ¥ TG gRT UIld Sifdsd
fafauar g=mneF fAdus 2021 & e |,
fFafafad 3= w far #3:

1. Ifgarag URUR® M & STaNIHArSH 3R Sy
! &1 RITHTY T/l & FrY Ay JIS B
TP AT B

2. U8 SIHYM 3R Sfa-Fderur Mfafafer & ary
TTHRUT SHTTLIH 13N b SRR J geT Sal g

3. 39 A0 & dgd HT ST &l SfoRTY @
Joft J geT <A B

IWRIad A | fPaa w9 I8 82

(A) I Th

(B) Had al

(C) <t

(D) I8 a1

Q33. fRufefaa & @ @19 i Sfaw fafaean
T=ire Sfafrad 2021 @t yE fawag &2

1. U8 YRR U=l &l HiN Fidl I Sl dIel Ui
CRC R T

2. YR S=13{f ) URUR® 9 & SUIH. I
Tafid Ude & forg smae A & forg srHeH
Tt - I TIIHdT Tal o

3. 394 oI fafaedr 9% uga W S g aral o
SORTY TS & fea|

i fau T His &1 IR F% TEl IR YA
(A) Had 1

(B) Had 1 3R 2

(C) Hhdd 3

(D) Had 2 3fR'3

Q34! Fufefad ¥ 8 fFaucera & foe e
TR B! qRd! I8 AT He B
STIIH AT BIel! & T SIA RIS AT 3R
TRUR® [ T, Ugd & fore Wexl ik R
FHEM™! 3t gd Gitd GgAfd a1 srgHe iR
HTTIGRT UTed 1 STe?

(A) HiFeTd Uieidbia

(B) AR Uit id

(C) PO Uieidhid

(D) el Uleidia

MALUKA IAS — NEW DELHI, BATHINDA, CHANDIGARH, PATIALA - 9910133084

SAMPLE TEST 3 (QUES)

Q35. 7T 1 Aedrse SR A g1d & 7 @
f% sierhie® few Tgr el siftre doit A @8
@1 B 1 SfeTdhiesd guR forg ga- deayguf wif 82
1. 3T cd DI T G B! $S [0 DI JT A g1
IR T 8, R aToeH 8 g S @ B

2. 3feTdhfedT gafaa 3R ofidl & 98 Ws iR
fafay 8 SR gudt iR 9 58T oia fafaern glexdie
gl

3. JCTHICHT & AU G dcdl & HRYR I
B W & oM B UiedTied B 3, S T
T Yl BT 3MYR g

4. 3feThieHT SHEIT BT RbTs U Bl § fb
U a9 Rd IU H SHIR U8 &1 Siaarg st T
4R fRu e Sl FISTANT®IP Hel 8 I |
(A) Had 1 3MR.3

(B) $ad 2 3R 4

(€) Had 1, 3 3R 4

@) 2,3 3R 4

Q36. MavYH TH Ued & 34l A I Fufafaq
# QDI 912

dial PISIT- HaRMET & ARy, HY Uiy ok
oo THE IS Gt S He o1 R veeH HA
BT BT

2. [adhsigd JUTerdl &1 STANT dxds TG Dl
3 HARMY 3R Wfdw HR B ¢ H ggoq A
SEHEGIERSI

3. 70T &3 H ek & guTd! e & areEm g
gfaRuit Iq=3dl &) S¢TaT ST 3R ddex Sifd
ST TR 3= I

4. IroT &= A IUTRT & forw Sifdes Smfry,
faRivex Hafkrd & ARy & i 79 3R IaRe®
T gfeafedd w3l

= faT T B &1 START HYd Tl S g |
(A) I 1 3R 3

(B) Had 2 3MR 4

(C) Had 1, 3 3R 4

(D) 1,2, 3 3R 4
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Q.37. Amrit Sarovar Mission aims to achieve

which of the following objectives?

(a) To promote biodiversity conservation through
ponds associated with temples and groves.

(b) To develop and rejuvenate 75 waterbodies in
each district of the country.

(c) To promote livelihood opportunities in and
around the dams of the country.

(d) None of these

Q.38. Which of the following is only National
Park/Tiger Reserve in the World to have the
four Feline species of big cats?

(a) Namdapha National Park

(b) Dudhwa Tiger Reserve

(c) Dampa National Park

(d) Manas National Park

Q.39. With reference to the difference between
Detritivores and Decomposers, consider the
following statements:

1) While detritivores consume material to break it
down, decomposers don’t eat their food, they
decompose it externally.

2) Detritivores consume nutrients on a molecular
level while decomposers eat large amount of
decaying material and excrete nutrients.

Which of the statements given abovejis/are

correct?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q.40. Consider the following organisms:
1) Sea cucumbers

2) Termites

3) Millipedes

4) Crabs

5) Mushrooms

How many of theabove organisms are
examples of detritivores?

(a) Only two

(b) Only three

(c) Only four

(d) All five

Q.41. Consider the following statements:
1) Ecotones are areas where two different
ecosystems meet and interact.
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SAMPLE TEST 3 (QUES)

2) Ecotones have low biodiversity due to the
harsh conditions at their boundaries.

3) Ecotones are characterized by a unique
assemblage of species.

4) Populations in ecotones are potentially more
vulnerable to the effects of climate change.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q.42. Under the Biological Diversity*Act 2002,
the primary responsibility to document local
biodiversity and associated knowledge in the
form of a People’s Biodiversity,Register lies
with which ofithe following?

(a) National Biodiversity‘Authority (NBA)
(b)pState Biodiversity Board (SBB)

(c) Biadiversity Management Committees (BMCs)
(d) None of'the above

Q.43."India has achieved its target of blending

10% sugarcane-extracted ethanol in petrol,

aheadpof'schedule. Consider the following

statements in this regard:

1)) Ethanol is a flammable liquid produced by the
natural fermentation of sugars.

2) Ethanol is ethyl alcohol, the commonly used
adulterant of alcoholic beverages causing
hooch tragedies.

Which of the statements given above are

correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Q37. 3d WRIaR iR &1 agg Fafafea d 9
P 322U P U A1 8?

(A) HieRY 3R Iua-! ¥ S drarst & Aeqd § ofa
fafaern dvefor o1 Sgrar ¢l

(B) 3 & TS o1 H 75 5 fepral &1 faepr 8k
PGB HAT|

(C) X & Tl 3R ITb MUY 3MTolifddhT &
STIR| P ggrar ST

(D) TTH A BIS T

q3s. Fafafaa & @ 14 a1 fay &1 vwas
PTa IEH/ERTR Rord ¢ S5l 95t faferal #1
(A) TATHETHT AP I

(B) 3yl TSR Refd

(C) SHIT P I

(D) | IS I

Q39. 3MRerERI (Sfefead) o sruae®
SPpueR) & §9 siar & e # Fafafaa
FYEI W) AR B

1. 3ReER! yer 38 disq & fae grglt &1
IUHIT B &, 3THcd T HiviH T8i T1d 8, 9
39 91831 U 3 faufed #a g

2. Sfefea SMuIfde TR W TN dadl &l SUHIT
Hd & SdiP SlhUSR Fot A H &TeRT Il
WA g 3R NV dedl Bl Il Hd g |

W 3T 7T HYHT § Y P/ Tehe?

(A) Had 1

(B) Had 2

(C) 1 3R 2 Gt

(D) Hal SR T 812

Q40. Frafafaa shal wR faar #3:
1. T WRT

2. 3%

3. BRI

4. PHS

5. ARRSH

IWIad & ¥ fraq silg srracayel & Igreur
&

(A) Had T

(B) pad <l

(C) Had IR
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SAMPLE TEST 3 (QUES)
() g+t urg

Q41. Ffafaa sy= = TR &3

1. 3P U &5 § 5181 &l 3re-3renT uikfRufae
7 fiyera & 3R TRER fohar va €

2. 3PHICH P UHTSH TR HoR IRIRUMTN & HRUT
Wa fafgudr Ha 71

3. 3pIcH o faRvdT Uil &7 T 33T Taroi
gl

4. TPHICH H ST WU =0 ¥ Sfaarg uikac-
F UHTET & Ufd 3ifde Y= B

SR & 9 fpaa oY= I8l &2

(A) I Th

(B) Had gl

(C) Had .

(D) gt TR

Q42 wifae fafaemar iftfaw 2002 & 984,
Tyea TsIaRidt IRer & ¥u & wrHg
Sig fafater SR 19 &1 xardsiiezor
3 Bl urufe iR fFafafea d a
fhae! &2

(A) JTBT Sia fafderaT TR (NBA)

(B), 3T g fafaear 1S (sBB)

(C) vig fafaean yeie Tffifear (BMC)

(D) SRIad H T DI g

Q43. HRd 3 T3 I a1 T8 10% 3347 B
Ugid | fia™ &7 3191 &3 a9 994 & Ugd o
gTIRye &% foram 81 59 Wey A fAufefaa syt
R faaR &3

1. YT AT & TP [HUaH gRT IdTed Th
ST TR g

2. ST T S Igd &, Sl AR W AlGH 0
yerif 7 sxATd foear S arer fiarace § S Sigdia
IRTS P! AL BT BRI FT B |

FWR U U Sy A | B9 91 9E) 82

(A) Had 1

(B) Had 2

(C) 1 3R 2 g

(D)l 13RI 2
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Q.44. Consider the following statements:

1) The Central Bureau of Narcotics (CBN) is
under the administrative control of the Ministry
of Health and Family Welfare.

2) Licit cultivation of opium is carried out in India
only in the States of Madhya Pradesh,
Rajasthan and Uttar Pradesh.

3) India is signatory to the UN Convention
against the lllicit Traffic in Narcotic Drugs and
Psychotropic Substances, 1988.

Which of the statements given above are

correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Q.45. Which of the following types of
clearances can be obtained using PARIVESH
Portal?

1) River Flood Plain Clearances (RFPCs)

2) Environmental Clearances (ECs)

3) Forest Clearances (FCs)

4) Wildlife Clearances (WCs)

5) Coastal Regulatory Zone Clearances (CRZs)
Select the correct answer using the code
given below.

(@) 1, 2 and 3 only

(b) 1, 4 and 5 only

(c) 2, 3,4 and5 only

(d)1,2,3,4and 5

Q.46. Consider the following animals:
1) Bees

2) Komodo Dragon

3) King Cobra

4) Bats

5) Ants

How many-of the'above animals have been
known to exhibit parthenogenesis?
(a) Only two

(b) Only three

(c) Only four

(d) All five

QA47. With reference to the role of lichens as a

bio-indicator, which of the following

statements is correct?

(a) Lichens are sensitive to air pollution, and their
diversity and abundance can indicate air
quality.
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SAMPLE TEST 3 (QUES)

(b) Lichens are one particularly powerful
bioindicator which are known to indicate rapid
eutrophication of water bodies.

(c) Lichens can only be found in highly polluted
environments.

(d) Lichens are primarily used to assess water
quality in aquatic ecosystems.

Q.48. With reference to Parthenocarpy, which

of the following statements is correct?

(a) Itis the formation offfruits through cross-
pollination, leading to genetically diverse
offspring.

(b) It occurs whema fruit ripens without,the need
for photosynthesis.

(c) Itis aterm usedito describe the.growth of fruit
with excessive seed development.

(d) Itis the pracess of\producing seedless fruits
without the invelvement of pollination or
fertilization.

Q:49. A ‘near.threatened’ species of otter was

recently spottedyin India in a rare find.

Consider the following statements in this

regard:

1)~ Otters are an indicator of high-quality
grassland habitats.

2)»Otters are found in every continent except
Antarctica.

3) Otters belong to the family of carnivorous
mammals.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only
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Q44. Fafafaa Fy=1 = faaR &3

1. &R ARSI SR (CBN) TR 3R TRAR
HTUT HATTT & TR =0 & g

2. YRd H 3P P 98 Vel bad HeF UST,
ORI 3R IR Y Is4! § $I el 3|

3. YR IR®BICH S 3R Frgdhicive uerf o
3fdey THRT & RIAT HYad Y H-ARM, 1988 P
IR g

SR U e HY= # § B9 1 9} 22
(A) I 1 3R 2

(B) Had 2 3MR 3

(C) Had 1 3R 3

(D) 1,2 3R 3

Q45. URAT NIdA HT ST H3& fAaferfad o
T 5T UoR FI ded U Ft o1 9ol 82

1. 9} 91¢ ™ TSR (RFPCs)

2. TateRUig TR (EC)

3. 9 Tl (FQ)

4. gsitd TRl (WC)

5. qCHT e & TRt (CRZs)

1 f3u 71T St &1 ITENT HXP Tet SAe G |
(A) PId 1,2 3R 3

(B) Had 1, 4 3R 5

(C)Had2, 3,4 3R 5

(D) 1,2,3,43R5

Q46. Fafefad Rl SR #9%:
1. AyAfaaar

2. IS T

3. fhn®iex

4. IS

5. Hifear

SRIF # F fpa sier e yelRfa
P4 P forg ST 87

A) Had gl

B) had oA

C) ®dd IR

D) g4t Ut

Q47. S9-JaP & ©U | AP ot YD1 &
e ¥, Ffafrf@a A3 s T sy adi @2
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SAMPLE TEST 3 (QUES)

(A) TSP a1 T b U Gaa-giel 8, 3R
St fafaeran iR TreRaT arg H I[ura &1 Hobd §
Tahalt gl

(B) T3 U A=W =0 & WfFIIe Sa Tebeb &
S St Tl & dit I U (GgIthdbRI) BT
Hobd & & foT &1 1 61

(C) TTSH ohad MATYPH UgSd ardTarol § UTg S
THd g

(D) TTSPH BT ITANTT GG H Tty urikfRufas
T | U &1 TUIa DY b A o forg fohd
EIcI

Q48. derdie T A, Fafafad® @ =19
T FYTTE! &2

(A) TE IF-URFTU] & HIAT I Beilich! A2,
e erqafieey 3 fRfdy gam 91 gt 81
(B). T8 9 BT § ST 1S We UDTRT URAUT Bl
STIRGH AT & T U STl 2 |

()8 U RisS & ot IuanT 3iafiies e
fIRL.® |1Y ey g BT a0l - & fore fasan
ST B

(D). T8 WRETUT IT A= (BiEarsaizm) &t HiftgR!
¥ foT s IRd wd Ual B &I ufshan ]

Q49. T4 § § TP gy Wi | SHefaara
HHCI' USTIfd Y HRd A @7 71411 59 J§Y
A frufefeaa sy wR faar &3

1. Srefaea I= UraHT aTd U1 & HeM! & A
P Yohddb gl

2. SafSld 3ieThichl Bl BISHR &< HelgIU H UTT
SIK|

3. $afdaTd ANERRY TR % URaR A g1
SR feu 1T HYE § A P I/ TG &2

(A) Had 1

(B) Had 1 3MR 2

(C) &Had 3

(D) Had 2 3R 3
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Q.50. With reference to the interspecific

interaction in an ecosystem, consider the

following statements:

1) Both the species benefit in mutualism.

2) Both the species lose in competition.

3) In parasitism only one species benefit.

4) In predation, the interaction is detrimental to
the one species.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q.51. In which of the following interspecific
interactions in an ecosystem, the interacting
species generally live closely together?

(a) Amensalism, Parasitism and Competition
(b) Predation, Parasitism and Commensalism
(c) Predation, Competition and Commensalism
(d) Mutualism, Neutralism and Commensialism

Q.52. Consider the following pairs:

Type of Interaction | Nature of Interaction

1. Commensalism
other is unaffected

One species benefit while the

2. Competition One species benefitwhile

one is harmed

3. Amensalism One organism is harmed

while,the otheris unaffected

4. Parasitism One species benefits‘'while

the other.dies

How many pairs given aboved@re correctly
matched?

(a) Only‘one pair

(b) Onlyitwo pairs

(c) Only three pairs

(d) All four pairs

Q.53. With reference to the role of predators in
an ecosystem, which of the following
statements are correct?

1) Predation helps in transferring to higher
trophic levels the energy fixed by plants.

2) Biological control methods adopted in
agricultural pest control are based on
predation.

3) Predators help in maintaining species
diversity in a community.
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SAMPLE TEST 3 (QUES)

Select the correct answer using the code
given below.

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d1,2and 3

Q.54. Consider the following statements:
Statement-I: Parasitism has evolved in many
taxonomic groups from plants to higher
vertebrates.

Statement-II: The parasitic mode of life ensures

free lodging and meals.

Which one of theifollowing is correct. in

respect of the above statements?

(a) BothéStatement-| and Statement=ll are correct
and Statement-IINis the correet.explanation for
Statement-|

(b) Both Statement-|I and Statement-Il are correct
and Statement-I¥is not'the correct explanation
for Statement-|

(c) Statement:| is correct but Statement-Il is
Incarrect

(d) Statement-I is incorrect but Statement-Il is
correct

Q.55. With reference to the interspecific
interaction in an ecosystem, which of the
following are among the adaptations evolved
by the parasites to live and survive?

1) Distastefulness to its predator

2) Loss of unnecessary sense organs

3) Presence of adhesive organs

4) Loss of digestive system

Select the correct answer using the code
given below.

(@) 1 and 3 only

(b) 2 and 4 only

(c) 2, 3and 4 only

(d) 1,2,3and 4

Q.56. ‘Swamp Deers’ a vulnerable animal
species, has its habitat in which of the
following regions in India?

(a) Western Ghats

(b) Central Indian Highlands

(c) Thar desert

(d) Andaman and Nicobar Islands
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Q50. TF UTiRRUfA®! a1 A siarfafRry sia-fesar
¥ ded ¥, Fufafad Fy= = faar #3:

1. URERHdT H GIHI ISy & aH 8T g

2. 3 gefaar ufoayt & R S 8|

3. QRSITadl & A U gl Ui I a1 gial g
4. TRYEUT H, 3fc:Tehar U Uolfd & fore sTiFeR®
Biht g

IR § A fpaa wy= 98l &2

(A) A T

(B) ad &l

(C) Pad o

(D) T+ IR

Qs51. T uiRfRufas! o7 & Fafafaa & 9 f5a
Jar-fafry sia:fepar A, R fobar &9 areht
USTIfaal 3T dR UR TP 1Y gl a2

(A) TS, TReifaar 3R ufaegyf

(B) TRHEITT, GRS 3NR JgHIford

(C) TRH&UT, Ufaeget 3R JgHifSra

(D) TEIUBIR, TeRIdT 3R GgHIfordr

qs2. fRgfaRad sifsal w faar &3:

SRR BT | IRER a1 &1 Upid

UhRR

1. GEHINIdT | U UollTal LT gl g Sisid

T emTfdaRed &

2 Ul | Th @S B BIIGLEIdl ¢ e

T DI gPYRL Bl &

3. SHISH )UF S & THHF,TETd 8 oia i
SERT M Rl ©

4. RONQdT | U USiid plaTH Bidl § Saih

SO TVl ST

SR R fhan Sie Tdt Al 22
(A) HId THBS!

(B) Bad &l s

(OELRGIEKSIS]

(D) 9t IR SIS

Qs3. felt uifRufaa a1 & el 3t yfire
F e A Fufif@a A AT A FUT T &2

1. Y& Qe grR1 FHuiRa S o1 3= oo w@R
TP WA B H AGE BT 8 |

. PR @te Fton & ST o e Sifdes
fafer TRyemr oR 3eTlRd €1
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3. WY&l 9ger o yorfadl o fafaear s g |
TG Hd g

I f3T 7TT Pt &1 ITANT P Tl SR g |
(A) I 1 3R 2

(B) Had 2 3fR 3

(C) Had 1 3R 3

(D) 1,2 3R 3

Qs4. fFafafad Y= wR foar +3:

FHYF-1: TRoiifadr Melf Y/QAp 3= HYUB(HhAT db
H3 FIifeur gl H fadhRyd gan g

HYA-I1: ST BITROIAT Taieh H:RIeenp3TaT 7R
e gAfEa Fl ol

IRTd BT & a9 A Rl d | S99
| 72

(A) BYF-1 SR BYA-11 QT Tal & 3R HYUA-11 HY-
| 3 for et iRy &

(B YT-1 3R HYF-I1'GIT T&I € 3R FHYA-11,
DYH-| DI Tg! TPHRUT Ta1 o

(C) B4 Fet Bidifpd HU-1l Tad §

(D) HYF-| TTAd § Qb HUF-11 Tgt g

Q55. 8% uiifRufae! a3 A Siar-faflRmy sia:forar
& Yo o, weiifaay gr o siR siifaa e &
forg e frg o sq@e A A S &
fafafea A A e &2

1. 30 RYEN o Ul 3R

2. JTALIH FHf= BT AY T

3. e arat siTl ot IufRUfa

4. i dF i 1A

R feu T St &1 ITANT P Tel SR gH |
(A) Pad 1 3R 3

(B) Had 2 3fR 4

(C) Had 2, 3 3R 4

(D) 1, 2,3 3R 4

Q56. W fEaR T Gue Uy weifa 8, forget
e ®F URa A Fafafea & 9 fea g d
a7

(A) Tfgrdt gre

(B) T YR S

(C) YR =

(D) 3fSHM 3R FPIER g I
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Q.57. With reference to National Tiger
Conservation Authority, consider the
following statements:

1) Itis under the administrative control of
Ministry of Environment, Forests and Climate
Change

2) Itis a statutory body constituted under the
Indian Forest Act, 1927.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q.58. Which of the following best describes

the objective of Montreux Record under the

Ramsar Convention?

(a) Itis a register of wetland sites which have
been reclaimed under Ramsar Convention.

(b) Itis a register of wetland sites which are
threatened due to increasing human
encroachment.

(c) Itis a register of wetland sites where changes
in ecological character have occurred:

(d) None of the above.

Q.59. With reference to cross-border
protected areas in India, consider the
following pairs:

Sr. | Protected Areas Location

No.

1. Manas National Inde-Nepal Border
Park

2. Dampa Wildlife Indo-Bangladesh
Sanctuary Border

3. Dudhwa National Indo-Bhutan Border
Park

4, Namdapha National | Indo-Myanmar
Park Border

How many pairs‘given above are correctly

matched?

(a) Only one pair
(b) Only two pairs
(c) Only three pairs
(d) All four pairs

Q.60. Which of the following Protocols
represents a global agreement aimed at
safeguarding the stratospheric ozone layer?

(a) Kyoto Protocol
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(b) Stockholm Convention
(c) Vienna Convention
(d) Montreal Protocol

Q.61. With reference to the ‘biochemical
oxygen demand (BOD),’ consider the
following statements:

1) BOD is primarily due to the discharge of
untreated municipal wastes and industrial
effluents into the rivers.

2) A higher value of BOD 'means that the water
in a river is less polluted.

Which of the statements givengabove is/are

correct?

(&) 1 only

(b) 2 only

(c) Both 1'and 2

(d) Neither 1 nor,2

Q.62. Consider the'following statements about

the India State of Forest Report (ISFR)?

1)<t is published annually by the Forest Survey
oflndia (FSI):

2) Besides, forest and tree cover, it assesses the
bamboo resources, carbon stock and forest
fires.

3) It uses remote sensing techniques and data
from the Resourcesat-2 satellite.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

19| Page




MALUKA IAS

Q57. ITPTT 914 TREHUT UTRrevT & TeH #,
fFuafafad sy w far #3:

1. 98 TATaRU, 991 3R SIaar] uRad- Ha1ad &
Ui FaEm § 2

2. U8 YR a7 AfAFTH, 1927 & d8d ied Th
CRIIECATCABRS

SR fou T Y= § A P J1/9 T8 B2

(A) Had 1

(B) dd 2

(€)1 3R 2 &

(D)T 13RI 2

Q58. fRuferfad # 9 #19 IR $94 & dgd
Hiel Rpis & ILT BT I 3ITST Ui Hdl
&7

(A) TG SMEHIN Rl T Teb IR & FoFg IR
H-aH & ded J: U oo T g |

(B) TE I MY T T Toh IR & ST dgdl
g 3fdHH & R TR | g

(C) T SMEYN YA BT U IFSReR § gt
TiikfRufae i & uftadd gam g1

(D) SWIed H T &Is gl

Q59. HRd # AT UR wRfed &= pEgy 7,
Prafafad Sl uw ARy

oA | WRfed &= Ry
& |

1. ORI ITM, | URd- AT g

2. ST IYolG,
JHIRUY

YRd-SFare e T

3. EHERTE SEH W HRA- e

4 TIHIRT I BT | HRT-RITHR AT

SR fou 7T fram oS wet gafera &2
A) HId TP SIS

B) %had &l Silg

C) $had A ol

D) 9t IR s

Qs0. FAufafaa & @ #1991 ndera
TUATTHS AT S URd B GI&T & Ie=9 I
s Afye Tusia &1 ufafAfa sar @2
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(A) IS UIeTpid

(B) TIHBIH HAY
() fogr pavH
(D) HIfCad Wetedid

Q61. 'N9 ISP 3fTRfS= | (BOD)' &
e #, Fufefad syt wR faar #3:

1. BOD P& &Y ¥ SFUART WRUTfHT ek 3R
3N iRt &) AgH BT oM & SR gl
gl

2. BOD & I HM &1 HAGE g [P Tt ol Ut dH
AR

SR feU U HUH /P I/ T8 82

(A) Haad

(B) hdd 2

(€)1 3R 2 G

(@) T 1 3R T2

Q62. HIRARIY 94 Ruld (ISFR) » IR &
fufafEad sy faar #372

1. I8 YR 99 J&UT (FSI) gRT ufaad U1l
fopzy SR |

2. 99 IR g&f 3MTaRUT & S(TTdl, T8 §i Tare,
BIo T 3R ST Pt 3 BT 3Mhe HIAT 5|
3. g Rardde-2 Iuug 3 RAe AR do-ie 3R
221 BT UGN AT B

IR & 9 faa wY= 98l &2

(A) I Th

(B) hael &l

(C) T

(D) TS a1
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Q.63. Which of the following are among the
differences between the Indian and the
Chinese Pangolin?

1) While the Indian pangolin is endangered, the
Chinese pangolin is critically endangered.

2) While the Indian pangolin is found throughout
the country south of the Himalayas, excluding
the north-eastern region, the Chinese
pangolin ranges through Assam and the
eastern Himalayas.

3) Forthe Chinese Pangolins the average weight
of scales per animal is less than that of the
Indian Pangolin.

4) While the Chinese pangolin is principally a
fossorial, the Indian pangolin has an arboreal
lifestyle.

Select the correct answer using the code

given below.

(@) 1 and 3 only

(b) 2 and 4 only

(c) 1, 2 and 3 only

(d) 1,2,3and 4

Q.64. With reference to the ‘Solar Energy
Corporation of India Limited (SECI),” consider
the following statements:

1) Itis a CPSU under the administrative control
of the Ministry of Power.

2) ltis the nodal agency tofimplement bath, the
National Solar Mission and‘Solar Parks
Schemes.

3) The mandate of the,campany is restricted
solely to the solar energy seetor.

Which of the'statements given above isfare

correct?

(a) 1only

(b) T"and 3,0nly

(c) 2 only

(d) 2 and 3only

Q.65. With reference to the Green Energy
Corridor Project, consider the following
statements:

1) It aims at synchronizing electricity produced
from renewable sources, such as solar and
wind, with conventional power stations in the
grid.

2) It lays emphasis on installing transmission
lines throughout India with focus on the North
Eastern region.
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Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q.66. With reference to the term ‘Blue Carbon’
in news recently, consider the following
statements:

1) It refers to the carben eaptured by living
coastal and marinelerganisms and stored in
coastal ecosystems.

2) Mangrovesfand,salt marshes remove more
carbon from the atmesphere than the tropical
forests.

Which of the statements'givemabove is/are

not correct?

(a) 1 only

(w2 only

(c) Bath,1 and 2

(d) Neither ynor 2

Q.67."Which of the following are the benefits
of using biomass in coal fired thermal plants?
I)“Deecreasing Coal Import Bills

2) Reduction of GHG Emissions

3)»Increase in thermal efficiency

Select the correct answer using the code
given below:

(&) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d1,2and 3

Q.68. Which of the following species are
known to curls up into a tight ball as part of
their defence mechanism against predators?
1) Pangolins

2) Mongoose

3) Woodlice

4) Armadillos

5) Hedgehogs

Select the correct answer using the code
given below.

(a) 1, 2 and 3 only

(b) 1, 4 and 5 only

(c) 1, 3,4 and 5 only

(d) 2, 3,4 and 5 only
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Q63. YR 3R T+t tifer & i faferfaa
# QS T 3R 22

1. YR YMfed v g, Stafes A=t dmfem
TR ¥ ¥ Gheud g

2. YRd Imfer Sw-gdf & & S, feurea
& <o & Q¥ <= H uran S g, A dfeE srm
3R gdf fewmrera oo e gan 7|

3. T Yo T 3N ol YR dmfer ot
JaTH HH B

4. 9 Uifer g7 U 9 offared g, S YR
TN Bt SiiaRieh g (@S] R T8 aTd SHaR)
gl

R fau 1T Sl &1 ITENT FXF T8t SR gH |
(A) I 1 3R 3

(B) Had 2 3R 4

(C) a1, 2 3R 3

(D) 1, 2, 3 3R 4

Q64. 'HeR TS BRI TP sfear fafies

(SECI)' & HeH ®, fRufafad sy « fames:

1. Ug faggd U o RIS U0l &, g8d U
CPSU &1

2. I8 WP IR =M 3R UR UTeh Qi Arerrsft el
A HRA dTel ASd Toidt gl

3. U BT AU Had TRag ol & dP 8L gIHd
gl

SR 3T T Y= GR.PH G/ATE &2

(A) Had 1

(B) Had 1 3B

(C) Had 2

(D) Had 2 3R 3

Q65. BRE S IfrIRT URAISHT & e |
fFrafafad sy RfaER o3

1. 3D I WS T URUNG foorell WIEl & Iy
IR 3R Ta oI Taiepruiiy Gidl ¥ Iared foore
P! RichAs HAT B

2. 9% IR U4l &9 WR & igd d3d g¢ I YR
A eiafire A RIfd e W SR T 3l

SR 3T T FYE § T BT 91/ 9 B2

(A) Had 1

(B) dd 2

(C) 1 3R 2 &

(D)T N 1 3R T2
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Q66. BT § H FUERT A 3T "< H1e" g F
e #, FAufafag Y1 wR faar #3:

1. I8 Sifad 1T 3R e Sfiat gRT 78ur fobe g
3R Tty uRfRufae & & Tugla o1 ol defifd
AT

2. 4719 3R dauiig gaed Sursiestta sTal &t
I H aRgHSd ¥ 31 Bra- e B

SR 3T T Y F A B 91/ g T8 22
(A) HA 1

(B) dd 2

(€) 1 3R 2 &

(D) T 1 3R T 82

Q67. PN JTUTRT AHST TIAH STAHNT BT
IYNT H1 P REferfad 7 | 19 I a4 82
1, IICT ST H BHL

2, GHG, 3o H ST

3. QU &L H gis

AR RE T Drei®T SUANT P Tal I gH:
(A) PaE.1 3R 2

(B),HacT 231X 3

(C) a1 3R 3

D).1, 2 3R 3

q68. fRuferfaa # & #19 i uonfa wuefht &
faame srot e a1 & fed & U H U o
i # R & forg S ot 82

1. dmfer

2. qadr

3. g8aRy

4. AHIfSAT

5. BT

= faT T B &1 START HYd Tl S g |
(A) I 1,2 3R 3

(B)Pad 1,4 3R 5

(C)HId1,3,4 3R 5

(D) Fad 2, 3,4 3R 5
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Q.69. Consider the following statements:

1) India has one of the largest dinosaur fossil
reserves in the world mainly found in Gujarat
and Madhya Pradesh.

2) India is a signatory to the UNESCO
Convention concerning the Protection of the
World Cultural and Natural Heritage.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q.70. With reference to the ‘Draft Geo-heritage
Sites and Geo-relics (Preservation and
Maintenance) Bill, 2022,” consider the
following statements:

1) It vests powers entirely in the Geological
Survey of India (GSI) that comes under the
Ministry of Mines.

2) It empowers the Union government to denotify
geoheritage sites without public consultatien.

3) It covers the monuments in areas under the
Panchayat (Extension to the Scheduled
Areas) Act, 1996.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only

Q.71. The “JALDOOT App”’ launched recently

will be used acrossythe cauntry to:

(a) measure the 'ground, water pollution with
Arsenie,and Fluoride‘among others.

(b) capture thenwater level afiselected wells in a
village.

(c) monitor the progress of tap water connections
under Jal Jeevan Mission.

(d) None of these.

Q.72. With reference to ‘Marine Cloud

Brightening,’ consider the following

statements:

1) Itrelies on the injection of artificial clouds into
the atmosphere to cool the planet.

2) It could disrupt regional weather patterns and
ocean ecosystems.
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3) It can help mitigate global warming by
reducing greenhouse gas concentrations in
the atmosphere.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.73. With reference t6 the National Plan for
Conservation of Aquatic Ecosystems (NPCA),
consider the following Statements:

1) Itis a centrallyasponsored scheme being
implemented by theyMinistry of Environment,
Forestand Climate Change.

2) It aimsfor, conservation and management of
identified Ramsar Sites in the country.

3) Itis based on‘cest sharing basis between
Central Government and respective State
Gavernments / Union Territories.

Which of the,statements given above are

correct?

(a) 1and 2 only

(b) 2 and\3 only

(c)“Lrand 3 only

(d) 1,2and 3

Q.74. With reference to the Mudumalai Tiger

Reserve, consider the following statements:

1) It forms a part of the Nilgiris Biosphere
Reserve.

2) Itis home to the highest population of tigers in
Kerala.

3) Itis one of the Tiger Reserves who have
received CA|TS accreditation.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 1 and 3 only

(c) 2 only

(d) 2 and 3 only
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Q69. Frafafaa Fy=1 &= faaR &3:

1. YRd ¥ g1 & 9ol 98 SRR ShiaiRy YR
Y U g O P U Y ORI 3R A Yo
7T STl g

2. URd {9y IR e SR UTepfads faRTd & TRefor
Y Gaiferd goRen! H-a%H BT U gxleRadl ¢ |
SR feu MU HY= § A P A1/49 T8 &2

(A) Had 1

(B) dd 2

(C) 1 3R 2 &

(D)T a1 3RTE 2

Q70. 'HHIET Y-fORIIa ®I 3R Y-3@=y
(TR0 3R @) fAdu®, 2022 AW #,
Frafafad 3= w faar 3

1. 98 T TG T YR YaFTHS qaer (Gsl) §
wfeaat g ordr g S @H Jared & Siaid 3
gl

2. U8 H% WPHR B! Ardoi-ids W=l & fomr -
foRraa wal & TR-RgfRrd & &1 iR &
gl

3. 39 UATad (3rIgfRd &l de fawr) sifife,
1996 3 dgd &= & TIRG! P! Wfdrefoar T Bl
SR 3T T Sy § | $1H 91/ Ta&?

(A) Had 1

(B) Had 1 3MR 2

(C) Had 3

(D) Had 2 31 3

Q71. T4 &1 H @lea, foraT 1 Sega 80U HT
SUGRT QX &1 | B TSI

(A) IR, 3R TARTSS Wed S & 1Y Yold
YSHUT I HIUdlG

(B) Tt Ma B s di@er & Sfd WR 1 Tdl
IS

(C) STt Sita- AR & dgd =T Sfd DH1aRH &Y Wl
Dt R BT

(D) 3TH Y D13 31|

Q72. "GYSI d1Gd STgef-RT' (MCB) & HeH #,
FrafafaT sy w AR a3

1. U% U8 DI 381 I o [o¢ aigHed H HiA
FIEAl & 3T &0 (FSIaRM) W AR F=ar g
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2. U8 &3 TR Yo 3R welt miifRufaest o !
T PR IhaT g

3. g 9Id1aRul H W83y 7Y Tigdl B! HH b
AT A ol HH B H AGE B bl gl
IR & I fpaa wU= 9gl &2

(A) I Th

(B) Had &l

(C) T

(D) P18 !

Q73. Sieitg uTRfRufawt yonfed) & e &
fore wdia AAn@PcA) & Hed . Faffea
FYEI IR faR B

1. Ug Udhithg UTITSId domie. Sraaafarur, o iR
ERERRIRECEREEINRE AR Al = AR RIRE ]
2. 3T 35 oRILH faifed IR Il ol TRE
iR Tt BT

3, J8iths IRBR 3R Jefdd Iy WBRI/Fg
YIRYT UeRihic S ANT ATHTHRT & SMYR TR
3MeMRAG

SR Q8 T w1 # | S19 1 981 82

(A), BT 3R 2

(B) a2 3fR 3

(©) Had 1 3R 3

(D) 1,2 3R 3

Q74. HgHTE <R Rerd & de & fFrafifaa
HY IR AR a3

1. T8 AR IARBIR od &1 e fraa 2|

2. T8 X § 9Tl B Yy YD M BT R B
3. g8 3 <R Rofal § QU § o8 CA|TS A=t
T g

SR feu 1T HYE § A P I/ TG &2

(A) Ha 1

(B) Had 1 3fR 3

(C) PHad 2

(D) Had 2 3R 3
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Q.75. In context of crocodiles, consider the

following statements:

1) Odisha is the only State in India having all
three species of crocodiles.

2) Gharial is mainly a freshwater crocodile
species found in Ganga river system.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q.76. Which of the following group has the
most critically endangered group of Species
in India?

(&) Mammals

(b) Amphibians

(c) birds

(d) Reptiles

Q.77. ‘Red Sanders’ an Indian endemic tree
species, is found in which of the following
geographical regions?

(a) Western Ghats

(b) Eastern Ghats

(c) Himalayas

(d) Andaman and Nicobar Islands

Q.78. With reference to Hydragen Sulfide

(H2S) gas, considerghe followingystatements:

1) Itis a colorless gas withya strongodor of
rotten eggs.

2) It occurs naturally in sewers@and manure pits.

3) Itis lighter thanair and ishighly flammable.
Which,of the statements given above is/are
correct?

(a) 1 only

(b) 1 and 2only

(c) 3 only

(d) 2 and 3 only

Q.79. With reference to peatlands, consider

the following statements:

1) Peatlands are primarily found in arid regions
with limited water availability.

2) Peatlands are the largest natural terrestrial
carbon store.

3) The world’s largest tropical peatland occurs
beneath the forests of the Amazon Basin.
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How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.80. Consider the following pairs:

Type of Interaction | Example

1. Commensialism Sea anemone and the
clown fish

2. Mutualism Lichens

3. Amensalism Barnacles growing on the
back of a whale

4. Parasitism Cowbirds and cuckoos

How many, pairs given above arescorrectly
matched?

(a) Only one pair

(b) Only two pairs

(c) ©nly three pairs

(d). Allfour pairs

Q.81. With reference to the production of wind
energy in India, consider the following
statements:

1) “Guijarat is the largest producer of energy from
wind power projects in India.

2)”India’s first offshore wind energy project is
being established in the Gulf of Khambhat, off
the coast of Gujarat.

3) The National Institute of Wind Energy (NIWE)
is the nodal agency for the development of
offshore wind energy in India.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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Q75. RA3! & TeH # fFafafad sy=f =
faR &

1. NS YR BT THHE I § gl RIS Dl
A= vt ors S § 1

2. 9T ST T =0 3 T AT Jomren d urg of
I WS et 1 FRES Sl o

SR fou T Y= § A P J1/9 T8 B2

(A) Had 1

(B) dd 2

(€)1 3R 2 &

(D)T 13RI 2

Q7e. Fafafeq & 9 fra aqg ot yRa d
ToTfaal T e e 1R U A GheIRd 82
(A) TR

(B) SHUR

(C) geft

(D) g

Q77. ¥S ASH' TP YR R g&f Ueliie 3,
<t frgferfaa & 9 fea vimifee & & urg S
?

(A) it gre

(8) gdlf &re

(C) fewrera

(D) 3fSHM 3R FPIER g I8

Q78. BISSIoH HehTss (H3S) 1 P digy 14
fFrafafad sy w faR #3:

1. U8 U TR S g3 8T sfeim! a7y
il 5

2. TEUIBias U QRSN FIe & TS 7 gl
g

3. g BT T 8ehT & SIR 8 Saa-=id g
SR foU U FYH § I P A1/ TE &2

(A) Had 1

(B) Had 1 3R 2

(C) Had 3

(D) Had 2 3R 3

Q79. fieds & deu A, Fufiafaa syai w®
faam &9:

1. Uleds T w0 I Wiffd gl &1 Suds/dr ard
[ &5 H UTE o &
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2. Uiedie Tad 981 Ui RITg HTe- HeR 7
3. g1 &1 9o 93T I Resty tleds sme
IR & St & e R B

ST & A fat sy 98l 87

A) Had T

B) ddl &l

C) dl

D) g el

qso. fAufafad sifsal =R faarR 3

TR a1 FeyaRM) | $arexul

BT UPR

1. gHTorT T THHH SR
TS 1 TChRT

2. TEIaHIRG S|

3. ggoitfaar =d Pt UIg W ITH ard

(SA-gfereH) CIRICa|

4. TR HI3dS 3R B

S T Mg fora sits Het FAferd o2

(A) had Th SISt

(B) Haaal Sile

(OETNIEISIE

(D) GH TR S8

Q81. HRd § Ua< Sull & Idred & HeH |
fFrafafaa Fy=1 = IR #9:

1. TORTd YR § Ua- Sl aRarsHIS § SHolf &
I §81 ISP g

2. YRd P Uga! U Ua- SHoll URTSH
ORI & dc¢ I gX GHId DI Tre! H RIIUd HI 71
Tl

3. AP Ua Holl G-I (NIWE) HRd H e
g Sl & e & forw Ared vl 2
IRTd § | fpaa wU= 98l &2

A) Had TH

B) ad &l

C) Al

D) 15 8!
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Q.82. Consider the following statements:
Statement-I: Ground Level Ozone pollution is a
more serious cause in the summer or hot weather
conditions.

Statement-II: High temperatures and abundant

sunlight promote the chemical reactions that lead

to the formation of ground-level ozone.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-Il are correct
and Statement-Il is the correct explanation for
Statement-I

(b) Both Statement-I and Statement-Il are correct
and Statement-Il is not the correct explanation
for Statement-|

(c) Statement-l is correct but Statement-Il is
incorrect

(d) Statement-I is incorrect but Statement-Il is
correct

Q.83. The Mediterranean orchid Ophrys
employs ‘sexual deceit’ to get pollination
done by a species of bee. This is an examgple
of which of the following types of interspecifie
interaction in an ecosystem?

(a) Commensalism

(b) Amensalism

(c) Parasitism

(d) Mutualism

Q.84. With referenceito the Flame,Retardants;

consider the following Statements:

1) They do nqt break down quiekly in the
environment, increasing long-term exposure
risks.

2) They tend to‘accumulate inyliving organisms
especially at theitop ‘ohthe foed chain.

3) Many of them are officially, recognized and
listed under the Stoekholm Convention.

How many ofithe above statements accurately

describe concerns related to flame

retardants?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.85. The barnacles growing on the back of a
whale is an example of which one of the
following types of population interactions?
(a) Mutualism
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(b) Commensalism
(c) Amensalism
(d) Parasitism

Q.86. With reference to the differences
between Seaweed and Seagrass, consider the
following statements:

1) Seagrass is a flowering plant, but seaweed is
a type of algae.

2) Seagrass produces seeds, but seaweed
produces spores.

3) Seagrass is a vascular plant, but seagrass
has no vascular tissue:

4) Seagrass prepares food through
photosynthesis, butiseaweed relies on
parasitism.

How many-of the abovestatements are

correct?

(a) Only one

(BOnly two

(c) Onlythree

(d)-All four

Q.87.\Which of the following is the most

important characteristic for an organism to be

considered a plankton?

(@) It should be microscopic in size.

(b It should form the base of the marine food
web.

(c) It should not swim but carried by tides and
currents.

(d) It should make its energy through
photosynthesis.

Q.88. With reference to Phytoplankton, which

of the following statements are correct?

1) They account for about half of the
photosynthesis on the planet.

2) They are the smallest kind of plankton that
can be found floating in seas and oceans.

3) They are found only in the salty water of seas
and oceans.

Select the correct answer using the code

given below.

(a) 1 only

(b) 1 and 3 only

(c) 2 only

(d) 2 and 3 only
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Qs82. Fafafaa Fy= &R faaR &3:

BYF-1: TS S AT Aol TguoT TTH a1 7 iy
o1 FRUfa & 31 TR RO 99 ST 81
FYF-11: I UM 3R TR A H 4 &1 gahrer
e ufafhareli &) serar adr & e s
TR R 36 BT A i 2|

IWRIed $Y1 & Hay # fFafeofRaa # F s
e 82

(A) BYF-| 3R BYA-11 S TG § 3R HYA-1l HYA-
| % fore Ot wWslau &

(B) HY-1 3R HYF-1| I TgI § 3R HUA-Il,
HYF-1 & T et WElHRo T8l §

(C) BY-1 TaI § AP HY-11 7ol §

(D) BY-1 el ©§ Afh HU-1l TE &

Q83. YHHENRIY 3ATfHS piel YHRE Pt
T USTIfd §RT IRAT0 S & e 4949 oo
(Sexual deceit) WWW%I g Th
yivfRifa®! 43 ¥ FAafataa 9 3 foa yvor &t
SfRfafy 3ia:f3ar o1 te e &2

(A) TSI

(B) 3ME-gferaH

(C) TRSfadT

(D) TeIIHINT

Q84. SdTdT HGd (Flame Retardants) %H’d‘l-f ﬁ,
fFafafad sy wRER o3

1. 3 UgiaRul A Sied!  foufeade] gid epforad
e i@ s¢ STare |

2. 9 Siifad Siial § eI Qieidaar iy ™
SHI B B

3. 390 Vs WiheIH P-ax Bided MUPIRS
IR TR TR S, SR Gt |

SR § A fpa BY= waren Hep 9§ ddfid
et &1 9dte aufa s 82

(A) I Th

(B) Had a

(C) <

OEIERE

Q85. ©d &1 113 TR ITH a1d IHThd
FrafaRaa # O frg yoR ot S99 sia:ferar
BT IGTE &2

A) TIUHTRET
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SAMPLE TEST 3 (QUES)

B) e HIfSTar
C) 3rA=afereH
D) TRSifddl

Q86. TH! AT 3R T I & dH iR &
T A, fFuferfag sy wr faar #3:

1. T 9T Ueb T aTall Qe B, AT It Qara
T UBHR BT A9 g

2. TS U S Ot Hgilg, AT el QAaret
ST] Ut et 7

3. QU O U Yae! atel 8, A wel o o
PIs Jag1 Sade! odl of

4. T I UHT IR & ATeqH I HISH dOR
Bt B, Ao T T TRSHfI RefFHR et B
IR A A fpaq PUTTE! &2

(A) I Th

(B) Had gl

(€ had o

D) IR

Q87. fhsfl Sfia & wae A &1 & forw
FEferf@d d @ @17 91 999 Agayu! o7 82

(A) STBT HTHR &I T AT

(B).33 T Ty o1 T SR ST ARy

(C) 3V ORAT a1 IMfRT dfch SaR 3R STAYURTS
RIS ST 9T

(D) 3V BT ATAYUT & HIETH I YT Frolt ST
ElRY

Q88. BIsci@ide & "o #, fFufafaa ' d
DI A HYT TR 32

1.9 U8 UR TTHT 1Y YT YRAAWUT o forg
fSreR 7|

2.9 YaY B UHR & WA & ol & 3R
HERFRI § Rd T UTY off Yahd & |

3. U Had THE! SR HERITRI & @R U # Uiy
EIcKS

I f3u 1T St &1 ITANT P Tet SR gH |
(A) Had 1

(B) a1 3R 3

(C) had 2

(D) Fad 2 3R 3

28| Page




MALUKA IAS

Q.89. With reference to Methanogens,

consider the following statements:

1) They produce methane as a metabolic
byproduct.

2) They are commonly found in oxygen-rich
environments.

3) They are autotrophic microorganisms.

4) They are effective at breaking down organic
pollutants.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q.90. With reference to the key differences

between sponges and corals, consider the

following statements:

1) Sponges are single-celled organisms, while
corals are multicellular animals.

2) Sponges are animals, whereas corals are
plants

3) Sponges are invertebrates, while corals are
classified as vertebrates.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q.91. Consider the following seurces of
renewable energy:

1) Wind power

2) Solar Power

3) Biomass/Co-generation

4) SmallbHydro,Power

Which of the, following,is the correct sequence
in the decreasing orderof the installed
capacity of the above sources of energy?
(@) 2-1-4-3

(b) 1-2-4-3

(c) 2-1-3-4

(d) 1-2-3-4

Q.92. Recently, the world marked the first-ever
International Day of Zero Waste on March 30,
2023. Consider the following statements in
this regard:
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SAMPLE TEST 3 (QUES)

1) The day is an initiative of the Food and
Agriculture Organisation (FAO) of United
Nations.

2) The day is aimed to eliminate the post-harvest
agricultural loses in developing and least-
developed countries.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q.93. The term ‘Red Tide’, often used to

describe harmfuhalgahblooms (HABS), is a

misnomer, because:

1) These hlooms areinatf@ssociated with tides.

2) These blooms are‘always caused due to
human activities.

3)mNot all algal blooms cause reddish
disceloration of water.

4)" Not all algal blooms are harmful, even those
ivoelving red discolouration.

Select the correct answer using the code

given below.

(@) Lonly

(b) 2 and 3 only

(ep1, 3and 4 only

(d) 1,2,3and 4

Q.94. In India, Petcoke had increasingly

become one of the major alternative fuel

replacing coal because:

1) Itis produced in significant quantities by
Indian refineries.

2) ltis relatively cheaper than coal.

3) Itis comparatively less polluting than coal.

4) Itis easy to handle as a fuel.

Which of the statements given above are

correct?

(@) 1 and 3 only

(b) 2 and 4 only

(c) 2, 3and 4 only

(d) 1, 2 and 4 only
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Q89. Ay & HeH #, Fufafad syai =
faR a3

1. d I UG & =0 H HAT BT IdTe
A B

2. d AR W HTR{To gad ardraRor § UTe i
gl

3. 3 WU gerofia 7

4. 3 BHMD Tg¥D! Bl die H yHTdt B
IWRad A § faa sy I8 82

A) Had Th

B) $dd &l

C) ®ad diF

D) I+l IR

Q90.7 3R it & fta ugw 3iaR & A #,
Frafafad 3= w® faar 3

1. TS UHHIRIBI Siid §, STafds YT SghIRIB
Sha gl

2. TS MR &, s 0 §

3. TSl AHRISDI g, b il DI HRSP & BY I
Fifferd foran T B |

SRIF H A faa HyY= 98l 82

A) $ad TH

B) dhdd &l

C) I

D) IS 8!

Q91. AdIHIUIY Seil e fAEfead |kl I
AR &

1. Ta Sl

2. 9R St

3. STGENEE-3TGT

4. Y Sidaga

SRIF HAhEId! Bl T &HdT & ged HH A
fFufafaa # & 91 98 $H B2

A) 2-1-4-3

B) 1-2-4-3

C) 2-1-3-4

D) 1-2-3-4

Q92. g4 &1 |, g 3 30 T, 2023 &Y ygan
SRS I Sufry faw waman| 39 ey d
fFrafafEd 3= « faar #%
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SAMPLE TEST 3 (QUES)

1. I8 faa9 Jge Y & Tre Td P WIS (FAO)
! TP Usd 6|

2. 39 a1 &1 32y fawraxiia SR sreu-fasfa
0 N U Hers & §IG g ael B g1 B
FUI BT

SR feu MU Y= § A P I/ TG 82

(A) Had 1

(B) hdd 2

(€) 1 3R 2 &

(D)T 13RI 2

Q93. ¥ TTSS RIS, FOrIdT YT SRR
TSRS AaTeid UHe-T (HAB) HT guiH HA
¥ fore far ST 3, U fHEm w8 ife:

1. Y TpeTegs ¥ Jafted ol ol

2. ¥ e gHRATA TTafafday & HRor gl
gl

3, TUhRIaTeT TR & HRUN UHT &I I AT gl
B

4. g AT Wep e gINBRS &1 81, T8l db
o 9 WIS et T 1 HfeFfBU ST B

Hid feT T B &1 ITART Hd Het Sux g |
(A) I 1

(B).Had 2 3fR 3

(C) Had 1, 3 3R 4

(D) 1, 2, 3 3R 4

Q94. HIRA H, UcHhI® doll | HHad B S8 a4
AT UG dh e U 91 71T § Fifb:

1. 3BT ST HRTg Noprgafal gRT Agayuf
AR H fear ST g1

2. T8 HIA B o | UeThd I 2|

3. 98 PI4cl ! o1 H JaHIdD U § HH
YSHUTHRI g |

4. 3Y 3¢ S T H U 3T 8

SR fau U Y= A F B9 91 9 22

(A) I 1 3R 3

(B) had 2 3R 4

(C) Had 2, 3 3R 4

(D) Had 1, 2 3R 4
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Q.95. With reference to the recently launched

‘Swachh Vayu Sarvekshan programme,

consider the following statements:

1) Itis an initiative of the Ministry of Housing and
Urban Affairs.

2) It has been launched under National Clean Air
Programme 2019.

3) It uses the measurement of the air quality
parameters to rank the cities.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 1 and 3 only

(c) 2 only

(d) 2 and 3 only

Q.96. With reference to the recently launched
‘National Clean Air Programme 2019,’
consider the following statements:

1) It aims at reducing Particulate Matter levels by
20-30% in next 5 years.

2) It covers cities based on non-conforming to
national ambient air quality standards
(NAAQS) consecutively for five years,

3) It covers million plus cities identified by 15th
Finance Commission for receiving
performance-based grant for air quality
improvement.

Which of the statements given above islare

correct?

(d) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Q.97. In context of global warming, which
among the following is/are the effect(s) of
deglaciation?

1) Sealevelrise

2) Slowing of ocean currents

3) Release of greenhouse gases

Select the correct answer using the code
given below

(a) 1 only

(b) 1 and 2 only

(c) 1 and 3 only

(d)1,2and 3

Q.98. The Arctic is the fastest warming region
in the world. In this context, consider the
following statements:
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SAMPLE TEST 3 (QUES)

1) It could lead to extreme weather conditions in
Europe and Asia.

2) Itis also associated with the heatwaves
experienced in India in March this year.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q.99. With reference to ‘Marine Cloud
Brightening,’ consider the following
statements:

1) Itinvolves thelinjection of aerosolparticles
into marine clouds te,increase their reflectivity,
potentially reduging glebal warming.

2) It can have a direct ceoling effect on the
Earth's surface temperature by reducing the
amount of solarradiation that reaches the
surface.

3), It'carries the potential risk of altering the
regionalweather patterns, including changes
in\precipitation and wind patterns.

How many of the above statements are

correct?

(2)"Only, one

(b) Only two

(epAll three

(d) None

Q.100. Which of the following are among the
features of the ‘Draft Geo-heritage Sites and
Geo-relics (Preservation and Maintenance)
Bill, 2022°?

1) A geological site can be declared as being of
national importance.

2) Land for a geological site can be acquired
through the Land Acquisition Act.

3) Sites as having ‘geo-heritage’ value will be
declared by the National Geo-heritage
Authority.

Select the correct answer using the code

given below.

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3
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Q95. BT4 81 # Y T 7Y w5 arg wderor
FrdwH & e A, e sy R faar
P

1. 98 3MTANT 3R WG Al & U &1 U Ugd
g

2. 3Y AP Waws a1 DRI 2019 & dgd Al
fopar T 2|

3. 98 XERI DI ¥ P & oY a1g Jora Aug st
& HIY BT SUUNT BT ¢ |

SR f3U 1T HYE § A P 91/4 JE &2

(A) Had 1

(B) Had 1 3MR 3

(C) had 2

(D) Pad 2 31 3

Q96. BTH 31 | di-d fbg Y ’TP19 w5 a1g
PTIHH 2019' & JeH #, fFufafea syai w®
faR a3

1. 3HT A&T AT 5 81 H UIépaie Hex & Wik Dl
20-30% d%F HH HIAT 5 |

2. I AR Ui af ab IS uRaxit arg,qoradi
TAFDI (NAAQS) & 3 9 I dTdt XeRI PR
HAT R

3. 39 a1g UGl GUR & [T TERI-Sfemd
I UTe FH= & T8 15448 ST gRyusa
e fArferm ¥ Sifde Trer gl

SR 3T U HYE §@ B /A B2

(A) HId 1 3R 2

(B) Had 2 3B

(C) Had 1 3R'3

(D) 1,2 3R 3

Q97. Taed it & Wy ¥, Fafafea i
P 91/9 faged o1 uvE 82

1. 95 TR | gf

2. & SRS &1 e g

3. Y eeY 1 &1 e

R f3u 7T Pl &1 ITENT FXP J8t SR g
(A) HId 1

(B) Had 1 3R 2

(C) Had 1 3R 3

(D) 1,2 3R 3
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SAMPLE TEST 3 (QUES)

Q98. 3hfe® g &1 T asht & 7 g
aren 87 21 39 e # Fufafad sy w®
faar &Y

1. 399 WY 3R TR & TRA 99H B f[Ryfd Ta
g ghdl 2

2. 78 39 a¥ A H YRA H 3Hd B 7T gledd @
ff Fe1 351

SRIF § q S /8 YT T8 22

(A) B 1

(B) dd 2

(C) 1 3R 2 &

(D)T 13RI 2

Q99. 'THH! FTGd SIge Ml (MCB) & e #,
Frafafad st w iR @s:

1. 39 ST digd! B WRIGA-RITAd] B 9GH &
foT0 TR Ul bl 3TH Suide fohdT ST 8,
ORI, T =0 A Tefleet o & st it 2|
2,88 Jdgiad Ugd- arc AR fafaur &t amr &t
S & G2l @l T8 o dIHM WR iyl Sided
TG It bl 5

3 3oy &g A O & sgard o Jyfad sifaw
gt e auf 3R ga1 % Yo # ggarg off
i B

IWad A | fraq dyT T &2

(A) I Th

(B) Had gl

(C) T

(D) TS a1

Q100. ‘THIGT Y-farTaa ®Ia 3R Y-3aRy
(TR 3R IER@E) fadus, 2022' &t
fayane Fufafea A A s A 2

1. fordlt 1 aTe Ridt &1 AP HEd BT 9 fobar
S ghaT g

2. Yoo R & fog oy, yffy st sifdfrem
P HIHH Y U B o Ghd! o

3. 'Y faRTEd HeT aTel Riefl B AP Y- fRmd
ROT gRT 9T fohar Sa |

R fou T S &1 ITANT P det U gH |
(A) Pad 1 3R 2

(B) Had 2 3fR 3

(C) Had 1 3R 3

(D) 1,2 3R 3
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